ESARA

Japanese Technology since 1912

EVM series - vertical Multistage Pumps Data Book 50Hz

E 1l

EVMS1 -3-5-10-15-20
D EVM 32-45-64

Fzelledvej 10 « DK-7200 Grindsted ° Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

1. SPECIFICATIONS &

1.1

TYPICAL APPLICATIONS

12 PERFORMANCE RANGE
2. EVMS 1-3-5-10-15-20
2.1 PRODUCT FEATURES
2.2 PRODUCT SPECIFICATIONS
2.3 SHAFT SEAL
2.4 TYPE KEY and NAMEPLATE
2.5 PERFORMANCE RANGE
2.6 CURVE SPECIFICATIONS
2.7 SELECTION CHART
2.8  EVMS(L)1
EVMSG1
2.9 EVMS(L)3
EVMSG3
210 EVMS(L)5
EVMSG5
2.11 EVMS(L)10
EVMSG10
2.12 EVMS(L)15
EVMSG15
2.13 EVMS(L)20
EVMSG20
2.14 PACKING
3. EVM 32-45-64
3.1 PRODUCT FEATURES
3.2 PRODUCT SPECIFICATIONS
3.3 SHAFT SEAL
3.4 TYPE KEY and NAMEPLATE
3.5 PERFORMANCE RANGE
3.6 CURVE SPECIFICATIONS
3.7 SELECTION CHART
3.8  EVM(L)32
EVMG32
3.9 EVM(LM45
EVMG45
3.10 EVM(L)64
EVMG64
3.11 PACKING
4. MOTOR DATA
41 NOISE DATA
4.2 TECHNICAL MOTOR DATA
EVMS 1-3-5-10-15-20
EVM 32-45-64

Rev. C

Page

101
102

200
201
202
203
204
205
206
207
209
215
221
227
233
239
245
251
257
263
269
275
281

300
301
302
303
304
305
306
307
308
323
338
351
364
379
394

400
401
402
402
403

(1) click INDEX to jump CORRESPONDING SECTION
(2) click to go back to INDEX

\ Piimne Fiirane

Agrometer a/s

@ _ —— A

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

TYPICAL APPLICATIONS
INDUSTRY BUILDING SERVICE WATER SUPPLY
Water treatment Pressure boosting Water treatment

reverse osmosis

ultra-filtration

water purification

micro-filtration

softening. ionizing and
demineralising systems

swimming pools

separators

Boiler feeding
steam systems
condensate systems

Wash and clean

vehicle washing systems

industrial part washing

laundry systems

supply of liquids with acids and
bases

supply of chemical liquids

Chilling

handling of refrigerants for cooling
thermal control systems

industrial cooling

laser cooling

Machine tooling
cooling lubricant supply for tooling
machines

Pressure boosting
pressure boosting for industrial
use

Food & beveage
food washing systems
bottle wash systems

Pharmaceutical industries
Marine applications

freshwater. deckwash. high fog
and fire fighting on ships

pressure boosting for buildings
pressure boosting for high rise
buildings/hotels

Sprinkler systems

Fire fighting systems
jockey pumps

District heating
Heat exchangers / fan heaters
Air conditioning systems

Heating systems

water treatment plants filtration
water treatment plants transfer

Pressure boosting
transfer from water treatment
plants (mains)

Irrigation
golf course / sport fields irrigation

Agriculture
sprinkler irrigation
drip irrigation

101

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20

USgpm 5 10 5 0 3 40 50 60 70 80 90100 120 140 160180200 250 300 350400 500
Il Il Il Il Il Il Il | | | | 1 1 1 Il | 1 Il
T T T T T T T T T L T T T 1T T T T T
mpgpm. 5 10 50 3 40 50 60 70 80 90100 120 140 160180200 250 300 330 400
405 400
P H - 1200
MP
1Pal 54 ] 39 1000
5 1 EEY - 900
. 9 10 :::ZC [ft]
25 20 ::ﬁ1 .3 il | I 15 | 45 - 800
 SREEETRE: - 700
20— 200 = = ! | =4
i R HRSEERN
154 150 I | N i ! 64 - 500
| 1 | |
124 120 I — ; - 400
| 1 —
104 100 | Ba. | 30
I F ™ 300
0.8 80 | I B
[ - ,,Ji,,,,,,,,,,,,,,,,,, 7i77,,,,,,,,,,,,,,,,,TT,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, T 250
06— 60 | |E I ! L 200
0.5 50 i } :
| - 150
04 40 ;
0.3 30 ! i - 100
; i
I I 75
02+ 20 i = e .
! I ~ ==
| E Rme ' ~J T
015 15 ERIN 50
! - 40
0l 10 e A
009 9 o \ N \ - 30
0.08 8 X s
007~ 7
0.06 6 - 20
005 5
- 15
0.04 - 4
9 10 15 20 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Qimin]
I T T T T T T T 1T TT T T 1T T T T T T T T
1 15 2 3 4 5 6 7 80910 12 14161820 25 30 40 50 60 70 100 iy
0 Hiai AREESEN
- L 45 6
N 10 15”20 > —
(e 5 ) | L=
60 3 - = P PAIAN
S —r= N - L 3')‘
50 e P > r4
e -l
A >
40 4~
30
910 15 20 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Qimin]
F \ Piimne Fiirnne - ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag I'O m ete I" a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMMIS

200

I Ty FRARA Piimn< Fiirane
Ag rometer a/s Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PRODUCT FEATURES

[General]
1. Pump Type
The EVMS is Non-self-priming. vertical multistage in line. centrifugal pumps.
2. Model range
The EVMS comes in 1,3,5,10,15 and 20 m3/h flow sizes for the majority market needs.
3. Maximum operating pressure
The EVMS can be operated at 16 bar or 25 bar as maximum.
4. Operating temperature range
The EVMS can be operated from - 30 to + 140 °C as the maximum.
5. Material options
AISI 304. AISI 316 and Cast iron versions are available.
6. Motor
The EVMS can be coupled with the commercial motors that are acquired in the markets.
The EVMS can be provided as the electric pump with IE3 motor for the over 0.75 kW.
PTC sensor is available from 1.5 kW motor
7. Certifications
Drinking water approval Atmosferes
9 PP explosibles approval
DM174/2004 ACS KTW WRAS ATEX 2014/34/UE
€ “M”’\'z,
S AGS SWRAS
'.-I \ ) \( APPROVED PRODUCT
e CERTIFIED COMPONENTS
. . . SiC with graphite/ . All variations
Mechanical seal SiC/Carbon_EPDM SiC/Carbon_EPDM SiC_EPDM SiC/Carbon_EPDM on page 203
EVMSG ° - - - °
EVMS ° ° o ° °
EVMSL ° ° o ° °
Note: * KTW is certified for components. e Standard

o On request

8.

Conform to the provisions of the European directives ‘ €

[Main Product Features]

1. Innovative hydraulic solutions
e Commercial motors can be fitted to all of the pump models without any modifications thanks to low pump axial thrust load.
¢ Low axial thrust load impeller can ensure long life of the motor bearing.
¢ High pump efficiency classified in MEI > 0.7 for all models.
2. Energy saving
* High efficiency IE3 motor starting from 0.75 kW complied with the EuP 2005/32/EC and ErP 2009/125/EC directives.
e The VFD (Variable frequency drive) and the commercial sensor can be directly mounted on EVMS to maintain physical constant
operations such as pumping pressure depending on the conditions of use.
3. Piping connection options
e The various pipe connections are available depending on the application requirements Oval flange / Round flange / Loose flange /
Victaulic® / Clamp connection
e The external dimensions can be adjusted to the replacement of the existing pump in the wide majority.
4. Shaft seal solutions
«  Silicon carbide inclusions with graphite can be used as dry lubricant to reduce friction.
e It's conforming to EN12756 (ex DIN 24960)
5. [Easy maintenance
¢ The cartridge mechanical seal enables the plug in replacement of the shaft seal without disassembling the motor bracket.
e The Spacer coupling allows easy maintenance without having to remove heavy motors over 5.5 kW
6. Smart plug solutions
Air ventilation plug / Water filling & sensor plug / Commercial sensor fitting / Measurements for suction and discharge pressure / drain
201

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk




EVMS

VERTICAL MULTISTAGE PUMPS

PRODUCT SPECIFICATIONS
EVMS(.)1-3-5-10-15-20

PUMP
Version EVMSG EVMS EVMSL
. Nominal flow rate (m%h ) 1[3]s5[1w0]155]20]1]3]s5][10]15]20]1]3]5][10]15]20
Or:::‘agtleng Maximum working pressure 1.6/2.5 MPa (16 bar/25 bar)
Liquid temperature range -30° to 140°C
Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Liner ring EN 1.4301 (AISI 304) + PPS EN 1.4401 (AISI 316) + PPS
Bottom casing Cast Iron | EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Casing cover EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
EN 1.4301 (AISI 304) EVMSG / EVMS 1-3-10 . EVMSG / EVMS 5-15-20 (depend on models)
Shaft EN 1.4404 (AISI 316L) EVMSL 1-3-10 . EVMSL 5-15-20 (depend on models)
EN 1.4462 (AISI 329A) EVMSG / EVMS / EVMSL 5-15-20 (depend on models)
Key Shaft sleeve bearing Tungsten carbide
Components -
Material Shaft Seal See the shaft seal options
o EPDM ® 6| 0 o6 o6 & o o o o o o o o o o o o
-rin
9 FPM ojlojlojojo|joj]o|lOoOjO|J]O|JO|J]O|JO|J]O|O]JO]|]O]|O
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Motor Bracket Cast Iron
Tie rod Galvanized steel 6.8 strength class 1ISO 898/1
. up to 4 kW Die cast aluminium
Coupling
from 5.5 kW Cast Iron
Base Cast Iron Die cast aluminium
Oval flange up to 16 bar ® & o6 & 6 6 o6 6 o o o o o o o o o o
Round flange up to 16 bar clojojojo|lo|jOo]jJ]OoOjO|jO|lO|JO|J]O|J]O|]O|O|O]|O
(DIN) from 16 bar to 25 bar ® | 6 06| 6 06|06 06 6  © © © O o o o o o
Pipe Loose round up to 16 bar o|lo|lojOoO|lOjJO|J]OJO|J]O|O]JO]|O
i flange
conneetion) from 16 bar to 25 bar ololo]lolo|lo|o|lo]lo]o|o]o
Victaulic® up to 16/25 bar o|lo|lojOoO|lOjJO|J]OJO|J]O|O|O]|O
Clamp up to 16/25 bar olo|lo|o|lo|lo|o|o|o|o|o]|o
connection
Legend: @ Standard O Options
MOTOR
Frequency 50 Hz
Phase Single Phase Three Phase
Rotation speed ~ 2900 min-!
Power , 0.37 + 2.2 kW 0.37 + 18.5 kW
Source Power rating
0.5+3.0HP 0.5+ 25 HP
230/400 + 10% V  (up to 4 kW)
Voltage 230+ 10% V
400/690 + 10% V (above 5.5 kW)
Type Electric - TEFC
- - ¢ from 0.37 up to 0.55 kW
Efficiency Level from 0.37 up to 2.2 kW
IE3: above 0.75 kW
Type
No° of poles 2
Protection degree IP 55
Insulation Class F (temperature rise class B)
Thermal Protection PTC is available for the above 1.5 kW included
Casing Material Aluminium
Others

Flange mount (IEC motor)

IMB14 up to 4 kW
IM B5 above 5.5 kW

202

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

50 Hz



90 H: EVMS

VERTICAL MULTISTAGE PUMPS

SHAFT SEAL
EVMS(.)1-3-5-10-15-20

1. Shaft Seal
d4 d4
L E
1 .d3( 1 dS(
ﬁ?ﬁ d1 ~ d1
4

d2

w =~ N W

o
B W =~ N W

from 16 to 25 bar
Cartridge Balanced type

up to 16 bar
Cartridge Unbalanced type

2. Type of Shaft Seal and Dimensions [mm]

Pump model Shaft seal type Shaft seal material
Ma: IV::)':‘ ;2:;:::‘29 Cartridge 1 2 3 4 5 Type Key
operating . Stationary Compression
pressure Unbalanced | Balanced Rotating Part Code Part Code e Code spring Collar | Code
-30°Cto +120°C [ J SiC Q1) Carbon (B) EPDM (E) AISI 316 (G) Q1BEG
-30°C to + 80°C (@] siC (@Q1) | carbon (8) FPM v) AISI 316 (G) Q1BVG
up to 16 bar | - 30°C to + 140°C O SiC with graphite | (Qg) SiC Q1) EPDM (E) AISI 316 (G) | HQ9Q1EG
-30°C to + 80°C O SiC with graphite | (Qg) SiC Q1) FPM V) AISI 316 (G) | HQgQ1VG
-30°C to + 140°C o sic (Q1) | carbon (B) EPDM (E) AISI 316 (G) | HQ1BEG
-30°C to + 140°C [ ] siC (Q1) | carbon (8) EPDM (E) AISI 316 (G) | HQ1BEG
from 16to | -30°Cto +80°C o sic Q1) | carbon (8) FPM v) AISI 316 (G) | HQ1BVG
25 bar -30°C to + 140°C o SiC with graphite | (Qg) sic Q1) EPDM (E) AISI 316 (G) | HQIQIEG
-30°C to + 80°C (@] SiC with graphite | (Qg) sic Q1) FPM v) AISI 316 (G) | HQgQ1VG
® standard O options
Max operating d1 d2 d3 d4 |
fumeimeds] Shaft eealtype pressure (mm) | g | gme) | gmm) | o)
Unbalanced 16 bar - 35
EVMS 1/3/5 Cartridge 16 23 27
Balanced 25 bar 20 42.5
Unbalanced 16 bar - 37.5
EVMS 10/15/20 Cartridge 20 29 35
Balanced 25 bar 24 45
F \ Piimn< Fiirnne _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



EVMS

VERTICAL MULTISTAGE PUMPS

TYPE KEY

EVMS(.)1-3-5-10-15-20

[Evms | |

| (s JL_J[L2]]

L= ][5 1]

| [eze] (21071637 (H

Phase mota
M = single p&
nul = phase

Mo tar ikW _ pag402
Code for rubber parts

V = FPM(Viton)
E = EPIM

4|Code for shafealmateals pag@l3

Pole

Null = 2 eol

Frequency

5=50 Hz

Code for pipe connection
F = Round flange

N = Oval flange

LF =Loose mundflange
V = aul#r onnedcan
C = Clamp omnectim

Code for pump versio

nul = atdad versim

ISpace

Flowrate m3/h]

nul = AI304 vesdn

L=AISI 316 vems
G = Cast Imovexdn

Example for pump without motor:

|Series name

1] 31 5] 10 | 15 | 20

Code for model sexie

INumber of impellers

Example for pump with motor:

Agrometer a/s

EVMS5 2F5Q1BEGE EVMS5 2F5Q1BEGE/0.37M
NAMEPLATE
T rerpe— 1) “TYPE” Pump model
5 E% ( € 2) “Q Indicates upper and lower flow rate liwiths
33033 Gles (TH) -ITALY  MADE IN ITALY 3) “H Indicates head liwiths corresponding to minimum and maximum flow rate
TYPE ) 4)  “Hmax” Maximum head
O ‘HM @ | ®n ‘ O 5) “Hmin’ Minimum head
Q @ Iiin |H @ n 6) “P2” Rated power of the motor (output at shaft)
P @ W Hz ‘min* @ 7) HP" Rated power of the motor expressed in HP (Horse Power)
HP @ P 8) Hz ) Frequency .
\El> @ el @ " 9) "mm—j Speed.of rotation
10) “P/N° Pump item number
11)  “MEI Index of the pump’s quality in relation to its efficiency
12) “Hyd. Eff.” Hydraulic efficiency of the pump
204
I Ty FRARA Piimn< Fiirane

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20

USgenm. 5 10 5 2 0 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500
1 1 1 1 1 1 1 | 1 1 | | 1 1 1 1 Il 1 1 1
T T T T T T T T T T 171 T T T 1T T T T T
mp.gpm. 5 10 5 2 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400
404 400
p H - 1200
MP.
T L P = - 1000
~ - 900
25+ 250 T = - 800 )
— -7
20- 200 - | i i 00
— m - 600
N ] (‘i,,,,,, 74|7777+ NN FHH R s S
15- 150 | i ! i~ 500
| | |
12+ 120 ! = i i L 400
| N I 350
1.0 100 | F | !
| | i ! - 300
0.8 80 . 1 : 250
| il |
| [ [
06 60 I | i | | L 200
05 50 i } ! I 4 5
- | 1 3 5 i 10[ 7 [715]20)T 32 145164 150
0.4 40 ;
0.3 30 } = - 100
; i
| | 75
02 20 " = ! - ===
1 ~~ = ~
| T~ i
0.5 15 E1 - 50
L — < N
T 40
\ N
— N \
0.1 10 —
™~ \ I
0.09- 9 % \ NV 30
0.08 8
\ \ -25
0.07 7 |
0.06 6 20
0.05 5
- 15
0.04 4
910 1520 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Q [Vmin]
T T T T T T T T T T 1T T T 1T T T T T T T T
1 15 2 3 4 5 6 7 8910 12 14161820 25 30 40 50 60 70 100 Qi
100 TTTT T T |
[ ERRRARANNI LR
L 451164
n 8 5720 PRt
%] 5 10 | __—==< LT
~ REetiii®:d A
60 RESTE Dl 2
fp—— g = >
50 T
40 A A
30
9 10 152 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Qimin]
F \ Piimne Fiirane - ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag I'O m ete I" a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B.

The curves refer to effective speed of asynchronous motors at 50 Hz 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity of

v =1 mm2/s (1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.

During the pump selection. consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating. the pumps should not be used at a flow rate below 10% of best efficiency
point.

Symbols explanation:

Q - volume flow rate

H - total head

P, - pump power input (shaft power)

n - pump efficiency

NPSH - net positive suction head required by the pump
MEI - minimum efficiency index

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean efficiency. The
minimum efficiency index is based on the hydraulic efficiency and on the head at the best efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller diameter.
The trimming of the impeller will adapt the pump to a fixed duty point. leading to a reduced energy consumption. The
minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variable duty points may be more efficient and economical when controlled. for
example. by the use of a variable speed drive that matches the pump duty to the system.

Information on benchmark efficiency is available at: www.europump.org (Ecodesign section)

Information on benchmark efficiency graph for MEI = 0.7 for the pump are available at:
www.europump.org/efficiencycharts (refer to "Multistage Vertical 2900 rpm")

Minimum efficiency index (MEI)

Pump type MEI
EVMS(.)1 >0.70
EVMS(.)3 >0.70
EVMS(.)5 >0.70
EVMS(.)10 >0.70
EVMS(.)15 >0.70
EVMS(.)20 >0.70
206
I a=—a FRARA piimnec Fiirnne

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SELECTION CHART

EVMS(.)1-3-5
. Q=Capacity
Pump Type Motor Maximum
working |/min_ 0| 12 | 20 | 30 | 40 | 60 | 75 | 100 | 130
kW | HP Size pressureé  Im¥h  0(0.72| 12 |18 |24 |36 | 45| 60|78
Single phase Three phase [MPa] . .
H=Total manometric head in meters

EVMS(.)1 2/0.37M EVMS(.)1 2/0.37 0.37 | 0.5 71 1.9 [11.2]104] 9.1 | 7.1 - - - -
EVMS(.)1 3/0.37M EVMS(.)1 3/0.37 0.37 | 0.5 71 179 [16.8]15.6|13.6|10.6| - - - -
EVMS(.)1 4/0.37M EVMS(.)1 4/0.37 0.37 | 0.5 71 238 [224)|208|18.2|14.2| - - - -
EVMS(.)1 5/0.37M EVMS(.)1 5/0.37 0.37 | 0.5 71 30 28 | 26 |22.7|17.7| - - - -
EVMS(.)1 6/0.37M EVMS(.)1 6/0.37 0.37 | 05 71 358 |[33.6|31.2]|273[21.2| - - - -
EVMS(.)1 7/0.37M EVMS(.)1 7/0.37 0.37 | 0.5 71 415 [39.2(36.4(31.8|248| - - - -
EVMS(.)1 8/0.37M EVMS(.)1 8/0.37 0.37 | 0.5 71 475 |445(415(364|283| - - - -
EVMS(.)1 9/0.55M EVMS(.)1 9/0.55 0.55 | 0.75 71 535 |[50.5| 47 | 41 [31.8]| - - - -
EVMS(.)1 10/0.55M | EVMS(.)1 10/0.55 0.55 | 0.75 71 59.6 56 | 52 |45.5[354| - - - -
EVMS(.)1 11/0.55M | EVMS(.)1 11/0.55 0.55 | 0.75 71 1.6 655 [615] 57 | 50 [38.9| - - - -
EVMS(.)1 12/0.55M | EVMS(.)1 12/0.55 0.55 | 0.75 71 715 67 |62.5|54.5[425| - - - -
EVMS(.)1 13/0.55M | EVMS(.)1 13/0.55 0.55 | 0.75 71 775 73 |67.5| 59 [ 46 - - - -
EVMS(.)1 14/0.75M | EVMS(.)1 14/0.75 0.75 1 80 835 |[785| 73 [635[495| - - - -
EVMS(.)1 16/0.75M | EVMS(.)1 16/0.75 0.75 1 80 955 |[89.5| 83 |725(56.5| - - - -
EVMS(.)1 18/1.1M EVMS(.)1 18/1.1 1.1 1.5 80 107 101 |93.5| 82 [63.5] - - - -
EVMS(.)1 20/1.1M EVMS(.)1 20/1.1 1.1 1.5 80 119 112 (104 | 91 | 71 - - - -
EVMS(.)1 22/1.1M EVMS(.)1 22/1.1 1.1 1.5 80 131 123 | 114 | 100 | 78 - - - -
EVMS(.)1 24/1.1M EVMS(.)1 24/1.1 1.1 1.5 80 143 135 [ 125 [ 109 | 85 - - - -
EVMS(.)1 26/1.1M EVMS(.)1 26/1.1 1.1 1.5 80 155 146 | 135 | 118 | 92 - - - -
EVMS(.)1 27/1.5M EVMS(.)1 27/1.5 1.5 2 90 S 161 151 | 140 | 123 [95.5| - - - -
EVMS(.)1 29/1.5M EVMS(.)1 29/1.5 1.5 2 90 S 173 163 | 151 [ 132 [ 103 | - - - -
EVMS(.)1 32/1.5M EVMS(.)1 32/1.5 1.5 2 90 S 25 191 179 1 166 | 145 | 113 | - - - -
EVMS(.)1 34/1.5M EVMS(.)1 34/1.5 1.5 2 90 S : 203 191 | 177 [ 155 [ 120 | - - - -
EVMS(.)1 37/2.2M EVMS(.)1 37/2.2 22 3 90 L 221 207 | 192 | 168 | 131 - - - -
EVMS(.)1 39/2.2M EVMS(.)1 39/2.2 2.2 3 90 L 232 219 | 203 | 177 | 138 | - - - -
EVMS(.)3 2/0.37M EVMS(.)3 2/0.37 0.37 | 0.5 71 14.7 - [14.1[13.6|12.9[109] 8.3 - -
EVMS(.)3 3/0.37M EVMS(.)3 3/0.37 0.37 | 0.5 71 221 - 121.1[204[194]164[125] - -
EVMS(.)3 4/0.37M EVMS(.)3 4/0.37 0.37 | 0.5 71 29.5 - |282[27.1(258|219|16.7| - -
EVMS(.)3 5/0.55M EVMS(.)3 5/0.55 0.55 | 0.75 71 36.9 - [352[339(323|27.4/209| - -
EVMS(.)3 6/0.55M EVMS(.)3 6/0.55 0.55 | 0.75 71 44.2 - |42.5[40.5|38.8(32.8| 25 - -
EVMS(.)3 7/0.75M EVMS(.)3 7/0.75 0.75 1 80 51.5 - |49.5|475| 45 [38.3[29.2| - -
EVMS(.)3 8/0.75M EVMS(.)3 8/0.75 0.75 1 80 59 - | 56.5|545|51.5] 44 [33.4| - -
EVMS(.)3 9/1.1M EVMS(.)3 9/1.1 1.1 1.5 80 66.5 - |635| 61 | 58 | 49 [37.6| - -
EVMS(.)3 10/1.1M EVMS(.)3 10/1.1 1.1 1.5 80 16 73.5 - |705)| 68 |64.5|54.5|415| - -
EVMS(.)3 11/1.1M EVMS(.)3 11/1.1 1.1 1.5 80 ’ 81 - |775|745]| 71 | 60 | 46 - -
EVMS(.)3 12/1.1M EVMS(.)3 12/1.1 1.1 1.5 80 88.5 - |84.5(815|77.5[655| 50 - -
EVMS(.)3 13/1.5M EVMS(.)3 13/1.5 1.5 2 908 96 - |915| 88 | 84 | 71 |545| - -
EVMS(.)3 14/1.5M EVMS(.)3 14/1.5 1.5 2 90 S 103 - |985[ 95 [90.5|76.5|58.5| - -
EVMS(.)3 15/1.5M EVMS(.)3 15/1.5 1.5 2 90 S 11 - | 106|102 | 97 | 82 [625]| - -
EVMS(.)3 16/1.5M EVMS(.)3 16/1.5 1.5 2 90 S 118 - | 1131109 | 103 | 87.5| 67 - -
EVMS(.)3 17/2.2M EVMS(.)3 17/2.2 22 3 90 L 125 - [ 120|115 | 110 | 93 | 71 - -
EVMS(.)3 19/2.2M EVMS(.)3 19/2.2 22 3 0L 140 - | 134|129 | 123 [ 104 [ 79.5| - -
EVMS(.)3 21/2.2M EVMS(.)3 21/2.2 22 3 90 L 155 - | 148 | 142 | 136 | 115 [87.5| - -
EVMS(.)3 23/2.2M EVMS(.)3 23/2.2 2.2 3 90 L 170 - | 162 | 156 | 149 [ 126 | 96 - -
EVMS(.)3 24/2.2M EVMS(.)3 24/2.2 2.2 3 90 L 177 - | 169 | 163 | 155 | 131 | 100 | - -

- EVMS(.)3 25/3.0 3.0 4 100 L 184 - | 176 [ 170 | 161 | 137 | 104 | - -

- EVMS(.)3 27/3.0 3.0 4 100 L 25 199 - | 190 [ 183 | 174 | 148 | 113 | - -

- EVMS(.)3 29/3.0 3.0 4 100 L 214 - | 204 [ 197 [ 187 | 159 | 121 - -

- EVMS(.)3 31/3.0 3.0 4 100 L 229 - | 218 (210 [ 200 | 170 | 129 | - -

- EVMS(.)3 33/3.0 3.0 4 100 L 243 - | 232|224 | 213 [ 181 [ 138 | - -
EVMS(.)5 2/0.37M EVMS(.)5 2/0.37 0.37 | 0.5 71 19 - - - 18 [17.1| 16 | 13.8]10.2
EVMS(.)5 3/0.55M EVMS(.)5 3/0.55 0.55 | 0.75 71 28.4 - - - 126.9]|25.6)|23.9]20.7 [ 15.3
EVMS(.)5 4/0.75M EVMS(.)5 4/0.75 0.75 1 80 37.9 - - - [35.9)34.1|31.9|27.6204
EVMS(.)5 5/1.1M EVMS(.)5 5/1.1 1.1 1.5 80 475 - - - 45 |142.5|39.9(34.5[255
EVMS(.)5 6/1.5M EVMS(.)5 6/1.5 1.5 2 90 S 57 - - - 54 | 51 | 48 [41.5|30.6
EVMS(.)5 7/1.5M EVMS(.)5 7/1.5 1.5 2 908 66.5 - - - 63 [59.5| 56 [48.5[35.7
EVMS(.)5 8/2.2M EVMS(.)5 8/2.2 2.2 3 90 L 76 - - - 72 | 68 | 64 | 55 | 41
EVMS(.)5 9/2.2M EVMS(.)5 9/2.2 2.2 3 0L 1.6 85.5 - - - 81 | 77 | 72 | 62 | 46
EVMS(.)5 10/2.2M EVMS(.)5 10/2.2 22 3 90 L 95 - - - 90 [85.5[ 80 | 69 | 51
EVMS(.)5 11/2.2M EVMS(.)5 11/2.2 22 3 0L 104 - - - |985]| 94 |87.5| 76 | 56

- EVMS(.)5 12/3.0 3.0 4 100 L 114 - - - | 108|102 |95.5| 83 | 61

- EVMS(.)5 13/3.0 3.0 4 100 L 123 - - - | 117 ] 111 | 104 [ 89.5 | 66.5

- EVMS(.)5 14/3.0 3.0 4 100 L 133 - - - | 126 | 119 | 112 [96.5| 715

- EVMS(.)5 15/3.0 3.0 4 100 L 142 - - - | 1351128 | 120 [ 104 | 76.5

- EVMS(.)5 17/4.0 40 | 55 112M 161 - - - | 153 | 145 | 136 | 117 [ 86.5

- EVMS(.)5 19/4.0 4.0 5.5 112 M 180 - - - | 171|162 | 152 | 131 | 97

- EVMS(.)5 20/4.0 4.0 5.5 12M 190 - - - | 179 | 171 | 160 | 138 | 102

- EVMS(.)5 23/5.5 55 | 75 1328 25 218 - - - | 206 | 196 | 183 | 159 | 117

- EVMS(.)5 25/5.5 55 | 7.5 1328 237 - - - | 224|213 | 199 | 173 | 127

- EVMS(.)5 27/5.5 55 | 75 1328 256 - - - | 242 | 230 | 215 | 186 | 138

1.6 MPa = 16 bar; 2.5 MPa = 25 bar

207

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

F \ Piimne Fiirane

Agrometer a/s



EVMS

VERTICAL MULTISTAGE PUMPS

SELECTION CHART

EVMS(.)10-15-20
: Q=Capacity
Pump Type Motor Maximum
working I/min 0| 75 | 100 | 130 | 150 | 180 | 200 | 250 | 300 | 350 | 400 | 450 | 480
kW HP Size pressure  im3nh 0| 45| 6.0 | 7.8 | 9.0 [10.8(12.0|15.0|18.0|21.0(24.0|27.0|28.8
Single phase Three phase [MPa] . .
H=Total manometric head in meters
EVMS(.)10 2/0.75M | EVMS(.)10 2/0.75 0.75 1 80 218 [21.2]20.8(19.7|18.7|16.6|149| 9.8 - - - - -
EVMS(.)10 3/1.5M EVMS(.)10 3/1.5 1.5 2 90 S 327 [31.8[31.2|29.6|28.0[24.9|224 (147 - - - - -
EVMS(.)10 4/2.2M EVMS(.)10 4/2.2 2.2 3 90 L 43.6 |42.4|41.7|39.5|37.3|33.2(29.8|196| - - - - -
EVMS(.)10 5/2.2M EVMS(.)10 5/2.2 2.2 3 9L 54.5 53 | 52 [49.3|46.7(41.5|37.3(246| - - - - -
EVMS(.)10 6/2.2M EVMS(.)10 6/2.2 2.2 3 0L 65.5 |63.5[62.5| 59 56 50 | 45 |29.5| - - - - -

- EVMS(.)10 7/3.0 3.0 4 100 L 76.5 74 | 73 | 69 |655| 58 | 52 [344| - - - - -

- EVMS(.)10 8/3.0 3.0 4 100 L 1.6 87.0 |[84.5(83.5| 79 [745|66.5(59.5(39.3| - - - - -

- EVMS(.)10 9/4.0 40 | 55 112 M 98 95.5|935| 89 | 84 [745| 67 | 44 - - - - -

- EVMS(.)10 10/4.0 4.0 5.5 112 M 109 106 | 104 [ 98.5|93.5| 83 |74.5| 49 - - - - -

10 - EVMS(.)10 11/4.0 4.0 5.5 112 M 120 116 | 115 | 109 [ 103 | 91.5| 82 | 54 - - - - -

- EVMS(.)10 12/5.5 5.5 7.5 132 S 131 127 | 125 | 118 | 112 [99.5|89.5| 59 - - - - -

- EVMS(.)10 14/5.5 5.5 7.5 132 S 153 148 | 146 | 138 | 131 | 116 | 104 [68.5| - - - - -

- EVMS(.)10 15/5.5 5.5 7.5 132 S 163 159 | 156 | 148 | 140 | 124 | 112 [ 73.5| - - - - -

- EVMS(.)10 16/7.5 7.5 10 1328 174 169 | 167 | 158 | 149 | 133 | 119 | 78.5| - - - - -

- EVMS(.)10 18/7.5 7.5 10 1328 196 191 | 187 | 178 | 168 | 149 | 134 |88.5| - - - - -

- EVMS(.)10 19/7.5 7.5 10 1328 25 207 | 201 | 198 | 188 | 177 | 158 | 142 [93.5| - - - - -

- EVMS(.)10 21/7.5 7.5 10 1328 : 229 222 | 219 | 207 | 196 | 174 | 157 | 103 - - - - -

- EVMS(.)10 22/11 1 15 160 M 240 233 | 229 | 217 | 205 | 183 | 164 | 108 - - - - -

- EVMS(.)10 23/11 11 15 160 M 251 244 | 240 | 227 [ 215 ]| 191 [ 172 | 113 - - - - -
EVMS(.)15 1/1.1M EVMS(.)15 1/1.1 1.1 1.5 80 14.9 - - 13.3| 13 |124(12.1]|108| 95 | 75 | 4.8 - -
EVMS(.)15 2/2.2M EVMS(.)15 2/2.2 2.2 3 0L 29.5 - - |275[271| 26 |26.1[249|23.1[(204|16.8| - -

- EVMS(.)15 3/3.0 3.0 4 100 L 44.5 - - |41.5]405(39.7|39.1[37.3[34.7|30.6[25.2| - -

- EVMS(.)15 4/4.0 4.0 5.5 112 M 59 - - 55 |545| 53 | 52 | 50 |46.5| 41 [33.6]| - -

- EVMS(.)15 5/5.5 55 | 7.5 1328 73.5 - - 69 | 68 | 66 | 65 | 62 | 58 | 51 | 42 - -

- EVMS(.)15 6/5.5 5.5 7.5 1328 1.6 88.5 - - |825|815(795| 78 [745(69.5| 61 [50.5| - -

- EVMS(.)15 7/7.5 75 10 1328 103 - - 196.5)95.0|925| 91 | 87 | 81 |71.5]|585| - -

15 - EVMS(.)15 8/7.5 7.5 10 132 S 118 - - 110 | 109 | 106 | 104 [99.5|92.5|81.5| 67 - -

- EVMS(.)15 9/11 11 15 160 M 133 - - 124 | 122 | 119 | 117 | 112 | 104 | 92 |755| - -

- EVMS(.)15 10/11 1" 15 160 M 147 - - 138 [ 136 | 132 | 130 [ 124 | 116 [ 102 | 84 - -

- EVMS(.)15 11/11 1 15 160 M 162 - - 151 | 149 | 146 | 143 | 137 | 127 | 112 |92.5| - -

- EVMS(.)15 12/11 11 15 160 M 177 - - 165 | 163 | 159 | 156 | 149 | 139 | 122 | 101 - -

- EVMS(.)15 13/11 1 15 160 M 25 191 - - 179 [ 176 | 172 | 169 | 162 | 150 | 133 | 109 - -

- EVMS(.)15 15/15 15 20 160 M : 221 - - 206 | 203 | 199 | 195 | 187 | 174 | 153 | 126 - -

- EVMS(.)15 17/15 15 20 160 M 250 - - 234 | 231 | 225 [ 221 | 211 | 197 | 173 | 143 - -
EVMS(.)20 1/1.5M EVMS(.)20 1/1.5 15 2 90S 17.2 - - - - 14.3[(139]128 (113 96 | 73 [ 43 | 24

- EVMS(.)20 2/3.0 3.0 4 100 L 33.7 - - - - [30.4]129.9(28.9|27.7)|126.2[23.6]|19.9[17.4

- EVMS(.)20 3/4.0 4.0 5.5 112 M 50.5 - - - - 46 | 45 |43.4(41.6[39.2|355|29.9[26.2

- EVMS(.)20 4/5.5 55 7.5 132 S 67.4 - - - - 61 60 | 58 |55.4|52.3[47.3]|39.8|34.9

- EVMS(.)20 5/7.5 7.5 10 1328 1.6 84.2 - - - - |76.0| 75 [72.3]169.3|65.4| 59 |49.8|43.6

- EVMS(.)20 6/7.5 7.5 10 132 S 101 - - - - |91.2| 90 | 87 [83.1|785| 71 |59.7|52.3

- EVMS(.)20 7/11 1 15 160 M 118 - - - - 106 | 105 | 101 | 97 [91.5|82.7| 70 [61.1

20 - EVMS(.)20 8/11 1 15 160 M 135 - - - - 122 {120 | 116 | 111 | 105 | 95 | 80 | 70

- EVMS(.)20 9/11 1 15 160 M 152 - - - - 137 | 135 | 130 | 125 | 118 | 106 | 89.6 | 79

- EVMS(.)20 10/11 11 15 160 M 168 - - - - 152 | 150 | 145 | 139 | 131 | 118 | 100 | 87

- EVMS(.)20 11/15 15 20 160 M 185 - - - - 167 | 165 | 159 | 152 | 144 | 130 [ 110 | 96

- EVMS(.)20 12/15 15 20 160 M 202 - - - - 182 | 179 | 173 | 166 | 157 | 142 | 119 | 105

- EVMS(.)20 13/15 15 20 160 M 25 219 - - - - 198 | 194 | 188 | 180 | 170 | 154 | 129 | 113

- EVMS(.)20 14/18.5 18.5 25 160 L 236 - - - - 213 | 209 | 202 | 194 | 183 | 166 | 139 | 122

- EVMS(.)20 15/18.5 18.5 25 160 L 253 - - - - 228 | 224 | 217 | 208 | 196 | 177 | 149 | 131

- EVMS(.)20 16/18.5 18.5 25 160 L 270 - - - - 243 | 239 | 231 | 222 | 209 | 189 | 159 | 140

1.6 MPa = 16 bar; 2.5 MPa = 25 bar
208

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMS(L)1
0 USgpm. 2 3 4 5 6 7 8 9 10 11 12 13
| ! ! ! ! ! | ! ! ! ! ! | !
I T T T T T T T T T T 1
0 Impg.p.m. 2 3 4 5 6 7 8 9 10 1"
250
— 800
p H
[MPa] m | 3?/‘2.2|kw‘\ H
~
_ N [ft]
7122
Stlzzw— __ TS o I~ 700
209 ‘34‘1/ L Band e
1.5 kW il s ~N
gt s LT T T
1.5 KW —_ ~ N N
el T TS
T~~~ NS NG N
L N~ ~
= =29/ 5 kw— S — ~L_ ™ N
B 15KW—L ~— TSN N
159 450 - 126/1.1kw - HERN. NI ND I~ 500
=24/ kW — - S —~ - N \‘\\
Akw— | ~— NS N\
EEANEN - —— T ~ON N NN o
i 2(‘)/?.1|ka T \5\‘~ \\\\ \\\\ \\ ™
N N
o | L —~—— \\ \\ \\\ \\
109 100 1?/11'1Ikwi = T T~ SN ~<
I~ —16/0.75 kW— __ _| T — T~ \\\‘ N 300
RN — ~ ~ N
::}14/0.75| KW — T — T~ N N
—— 4] —— — ™~ TN
e e T
. — fr—
~—11/055kw— — | ﬁll.—___-——::--~‘~::§~N\ \\\\ ™~ 200
= —10/0.55 k\w— +— | — — I~ ~ B
0.5 50— —9ossIv—— | I e gy i e R N
: —% gg; W— — ——_—______:::—5:::5:::::
7:— . kw
— —6/0.37 kW— — —- _::—~::::~:::
——5/0.37 kW= — — i S —— 100
——4/0.37 kw— — —+ —_ T
— —3/0.37 kw— — —- =
= —2/0.37 k\W—— —
0 0 ‘ ‘ 0
T
0 5 10 15 20 25 30 35 40 45 Q [iimin]
T T T T T T T T T T T T T T T 1
02 04 06 08 10 12 14 16 18 20 22 24 26 28 Q[mh]
012 60
P2 — n
g
(kW] 008 — n% 40 %)
//
004 20
SINGLE IMPELLER kW
0 lHHlHHl 0
0 5 10 15 20 25 30 35 40 45 Q [ifmin]
NPSH © NPSH
20
(m] : —~ Ift
i 10
0 0
0 5 10 15 20 25 30 35 40 45 Q [ifmin]
Rotation speed =2900 min-'
Test standard: 1ISO 9906:2012 - Grade 3B

209

F \ Piimne Fiirane _ ——
Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

Ag rO m ete r a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVMS

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA

Dimensional sketch

EVMS(L)1

Oval flange (N) DIN Loose round flange (LF) - DN25 Victaulic® connection (V)
C
4 holes @14
— —
- o sl e\
g o ——ir i lo 7N G318
« | Wih=l Im e S
« 8
2 e L N7,
hd c B T o
° |
100 18 4 holes @12 285 <
149 180
A | | 3B 250 210
DIN Round flange (F) - DN25
s 2 holes M10 4 holes 014
- ‘!,
l | —t— = G38
- i em Y e IEES yinay ess o
= - | o s 8% =}
sl (R0 ST === el <=
4 holes @12
‘ 100 4 holes 012 ﬁ, S 100 16 4holes @12 TT 285 g oles
149 149 180
160 ‘ 210 250 210
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) | Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
Weight Weight Weight
1~ 3~ Weight Pump + Weight Pump + Weight Pump +
Pmax kW  Size A H2 | Pump Motor H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B (o3 H3 B (o3 H3 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)1 2/0.37 1.6 0.37 71 2105 | 139 133 216 | 139 114 216 | 250 9.7 16.8 155 | 275 10.4 175 16.2 | 250 9.7 16.8 155
EVMS(L)1 3/0.37 1.6 0.37 71 2105 | 139 133 216 | 139 114 216 | 271 10.2 173 16 296 10.9 18  16.7 | 271 10.2 173 16
EVMS(L)1 4/0.37 1.6 0.37 71 2105 | 139 133 216 139 114 216 | 292 10.6 17.7 164 | 317 1.3 184 171 | 292 10.6 17.7 164
EVMS(L)1 5/0.37 1.6 0.37 71 2105 139 133 216 | 139 114 216 | 313 11.1 182 16.9 | 338 11.8 189 17.6 | 313 111 182 16.9
EVMS(L)1 6/0.37 1.6 0.37 71 2105 | 139 133 216 | 139 114 216 | 334 11.5 18.6 17.3 | 359 12.2 193 18 334 11.5 18.6 17.3
EVMS(L)1 7/0.37 1.6 0.37 71 2105 | 139 133 216 139 114 216 | 355 1.9 19 17.7 | 380 12.6 19.7 18.4 | 355 11.9 19.0 17.7
EVMS(L)1 8/0.37 1.6 0.37 71 2105 139 133 216 | 139 114 216 | 376 12.4 19.5 18.2 | 401 13.1 20.2 189 | 376 12.4 19.5 18.2
EVMS(L)1 9/0.55 1.6 0.55 71 2105 | 139 133 216 | 139 114 216 | 397 128 | 213 19 | 422 13.5 22 19.7 | 397 128 | 213 19
EVMS(L)1 10/0.55 1.6 0.55 71 2105 | 139 133 216 139 114 216 | 418 13.2 21.7 194 | 443 13.9 224 201 | 418 13.2 21.7 194
EVMS(L)1 11/0.55 1.6 0.55 71 2105 | 139 133 216 139 114 216 | 439 13.7 222 19.9 | 464 14.4 229 206 | 439 13.7 222 199
EVMS(L)1 12/0.55 1.6 0.55 71 2105 | 139 133 216 | 139 114 216 | 460 14.4 | 229 20.6 | 485 15.1 23.6 21.3| 460 144 | 229 20.6
EVMS(L)1 13/0.55 1.6 0.55 71 2105 | 139 133 216 | 139 114 216 | 481 15.0 | 235 21.2| 506 16.7 | 242 219 | 481 15 235 212
EVMS(L)1 14/0.75 1.6 0.75 80 2120 | 160 151 232 160 139 232 | 512 15.7 271 252 | 537 16.4 278 259 | 512 15.7 271 252
EVMS(L)1 16/0.75 1.6 0.75 80 2120 [ 160 151 232 | 160 139 232 | 554 16.7 | 281 26.2 | 579 17.4 | 288 26.9 | 554 16.7 | 28.1 26.2
EVMS(L)1 18/1.1 1.6 1.1 80 2120 [ 160 151 232 [ 160 139 232 | 596 17.8 | 296 28.9 | 621 18.5 |30.3 29.6 | 596 17.8 | 296 28.9
EVMS(L)1 20/1.1 1.6 1.1 80 2120 | 160 151 232 160 139 232 | 638 18.8 30.6 29.9 | 663 19.5 31.3 30.6 | 638 18.8 30.6 299
EVMS(L)1 22/1.1 1.6 1.1 80 2120 | 160 151 232 [ 160 139 232 | 680 20 31.8 31.1| 705 20.7 |325 31.8| 680 20 31.8 31.1
EVMS(L)1 24/1.1 1.6 1.1 80 2120 [ 160 151 232 [ 160 139 232 | 722 21 32.8 32.1| 747 217 335 328 | 722 21 32.8 321
EVMS(L)1 26/1.1 1.6 1.1 80 2120 | 160 151 232 160 139 232 | 764 22 33.8 33.1| 789 227 345 338 | 764 22 33.8 331
EVMS(L)1 27/1.5 25 1.5 90S | @140 | 172 140 278 180 148 267 - - - - 820 231 40.9 358 | 795 224 40.2 35.1
EVMS(L)1 29/1.5 25 15| 90S | @140 | 172 140 278 | 180 148 267 - - - - 862 241 419 36.8 | 837 234 |41.2 3641
EVMS(L)1 32/1.5 25 15 90S | @140 | 172 140 278 180 148 267 - - - - 925 25.4 43.2 38.1 | 900 247 425 374
EVMS(L)1 34/1.5 2.5 1.5 90S | @140 | 172 140 278 180 148 267 - - - - 967 26.3 441 39 942 256 434 383
EVMS(L)1 37/2.2 25 22 9L |e140 | 172 140 278 | 180 148 267 - - - - 1030 | 27.7 |47.2 43.7 | 1005 27 46.5 43
EVMS(L)1 39/2.2 25 22 9L |e140 | 172 140 278 | 180 148 267 - - - - 1072 | 28.7 |48.2 44.7 | 1047 28 475 44

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

210

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)1

140
\ 128-6
32-1 135-6

120-6

L)
—_—
)
N
o

/

/
N\

//x?f?

43-3
52-1
44-1
43-7

.

|

[ \
N = O
N o 1
(10 ~

with Oval flange (N)

211

F \ Piimne Fiirane _ ——
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMS(L)1

\l,%
vﬁV\ﬂ'

a
/{/
\&\

with Round flange (LF)

with Loose round flange (LF)

with Clamp connection (C)

with Victaulic® connection (V)

212

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s

A



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)1

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMS EVMSL

4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

321 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

43-7 Spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

44-1 Shaft sleeve bearing Tungsten carbide

45 Flange holder EN 1.4301 (AISI 304)

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert | A4-70 UNI 7323 with inox insert M8

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM

107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS

11 Mechanical Seal SiC / Carbon / EPDM

111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)

115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510

115-3 O-Ring EPDM

115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115

115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10

120-3 Screw A2-70 UNI 7323 M4x10 1SO 4762

120-6 Screw for coupling Galvanized steel M6x25 1ISO 4762

120-11 Screw for counterflange A2-70 UNI 7323

120-13 | Screw for motor —MEC 71-80 Galvanized steel 8.8 strenght class 1ISO 898/1 M6x20 IS0 4017
MEC 90 M8x20 1SO 4017

128-1 Nut for tie rod Galvanized steel M10 UNI 5588

128-5 Nut for tie rod A2-70 UNI 7323 M10 UNI 7474

128-6 Nut for coupling Galvanized steel M6 1ISO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel D.4x32 UNI 4838

135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592

135-6 Washer Carbon Steel a6

137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)

140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G3/8

2121 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)

245 Coupling guard EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)

615 Flange Nodular Cast Iron

213
F \ Piimn< Fiirnne _ ——

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)1

1154 | 1155

245 | 2731|615~

N°

120-1)|120-3 | 1206 |120-11*120-13| 128-1( 128-5 | 128-6 | 130-1 | 130-2 | 131-1 | 135-1 [ 1356 | 137-1|140|160| 162 | 212 | 212-1|212-2| 219"

4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4

%
B afo]alalala]alalalalaloalalalalalalalal<{<|<[<]<][<
=
-

Wl lafafafafa]afa|a|ajalaloaloalofofofoalofoafoaloaloajoa]olo
=
)
e Sl e I e R I B I I Rl [ IR R I I [ I I R I I I I I
i
=
i
B S R I B e I e [ I e R I R IR I B I e R e B e e e
=
=
)
e e e e e R e e e R e e e e e e e e e e e e e R
=
—
e e e e e e e e e e e R e e e e e R e e e e e e
N~
Slafo|<|o]e|~[=|o|2]]a]e]x]e]=]a|a|x]]x]2|2|]5]2
NI IR I IR I R I I R I I I R I I R R I R R I IR
b
©
L I I e e R I I I e I R I I e e R I I I I I N I I
=
IR B Rl B Rl Bl Bl Al Al A A B I B I S B S S S S S S A S SR Y
%)
@[] [<[<[<<[<]<T<<]<]<]<<<]<]<|<]~
Slelele|wl<|<c]<lcl<l<[<l<l<[<]<[<]<[<[<|<[<[<]<

o

z
Qla|a|o|afaflafo|afafaja|o|ofofo|o|ofofoalo]ofofofoa]o
~M%4444444444444444444444444
=
%1111111111122222222222222
N~
R e e e e e el et e e Al Rt R R Al Bl e A Al e R Al Al s
m///1///1///1/////////////
m1111111111122222222222222
o

|o|lv[l~r|lo|c|o|a|o|lo|x|o|x|o|lo|a]|o|n]|o|n
“1357911111222233344455667
=
Do [N (N [ [ Y (U (U U U U (U U U U N U (N U (U (U [P [ U [
©
-
1S Rl Rl Rl Rl b Rl Rl Rl Rl B R R R R R R B R R R R R R R B
- o o[t |o|olola[soln]olalx[x]a
R A N I R R R B R B R A S I R S S I A R A
e N s e —._—a—————————_—_—_——_——————_—__»
o[ [=[=]=]=[=]=[=[<]=[=]<]=][]=]=[]=]=][=]]]+
O Rl Rl Bl Rl Bl el Bl Rl Rl o RN RN IRV N0 RN N N0 RV RN N KNS ENU ENU RN
o olo|c|o|v|[~rlo|c|on ©o|lo| = ©
5/123456789111111122%223“3
al=l=l=l<I=[=I<]=[=l<[<[=T<[<[<[<[<[=T<]<[=[<[<]<]<
B [ I I B ™ e e i e e e e e e e e
wlnlo|lvlw|w
~innsinns|o[v|B|Bo| SR |v|lo|v|v]|~|~
R R R R R Rl el B I I Ot o sy e Bt i PN B
o [2l2lgl2]|2|2|2|C|s|=|a|a|F|s|z|S|q|F|e|R|o|q|F|x|o
2 |Q|s|F|o|c|R|s|s|=|F||2|I|2|R|RVJ|Q|J|J|S|S||S
> [l el=lclelslclslslcl=]lslcls]l=lel=l=lel=]l=l=] =
S 1212122122122 22|22 22| 2] 2| 22| 2| 2| 2| 2| 2| 2|2
£ DID|D|D(AD]|D|DAD]|D|D|D|D[D[D|D[D[(D|D[AD[R|D[(D[(R| N[N
5 (212|222 |2|2|2|2(2|2|2|2|2|2|2|2|2|2|2|2|2|2(2|2
PVVVVVVVVVVVVVVVVVVVVVVVVV
L|L|L|h|o|L|b|o|L|b|o|h|b|o|b|Dh|L|D|D|L|D|D|L|o|o

Pump Type

** only for Loose round flange (LF)

* only for Oval flange (N)

EVMS(L)1 2/0.37
EVMS(L)1 3/0.37
EVMS(L)1 4/0.37
EVMS(L)1 5/0.37
EVMS(L)1 6/0.37
EVMS(L)1 7/0.37
EVMS(L)1 8/0.37
EVMS(L)1 9/0.55
EVMS(L)1 10/0.55
EVMS(L)1 11/0.55
EVMS(L)1 12/0.55
EVMS(L)1 13/0.55
EVMS(L)1 14/0.75
EVMS(L)1 16/0.75
EVMS(L)1 18/1.1
EVMS(L)1 20/1.1
EVMS(L)1 22/1.1
EVMS(L)1 24/1.1
EVMS(L)1 26/1.1
EVMS(L)1 27/1.5
EVMS(L)1 29/1.5
EVMS(L)1 32/1.5
EVMS(L)1 34/1.5
EVMS(L)1 37/2.2
EVMS(L)1 39/2.2

214

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

0 USgpm 2 3 4 5 6 7 8 9 10 11 12 13
| ! ! ! ! | ! ! ! ! ! | !
I T T T T T T T T T T 1
0 Impgp.m 2 3 4 5 6 7 8 9 10 1
250
— 800
p H
[MPa] m | 139/22mw_ H
LT If]
37/7.2Ik 1] ~ L 700
20— L | T~ T~
200 =34/1.5 kW] ~ ~<
L 3,\7/\ [T T+ || N ~~
2/1.5 kw. ~ N N
- ~ N L
! L _ . ~ 600
B 29/‘ i - e O
I 1.5 KW—_ _ ~ ™~ \\
| | T S~ N NN\
[~ 2715 0w— _ T~ N N
1.5 150 —26/1.1 kw. T - —~ ™~ ~ \\‘ \ \ — 500
T ~ N
SR T - SO\
24w — ] —~ ~ N 3
HERN I — NN NG D
2\2/1\‘1Ikw\\ T —— T — ~N N L 400
L -
2?/,‘]1IKV\‘I T \5\‘\ \\\\ \\\\ \\; \
| T T Ll T Ty T~
109 100 L \8/1\'1 P s e T — T~ \\\ \\\\\
PR ~ ~ N
—— }1 4/0.75 kw — T T— B \\\ ~_]
- :1] g; 055kW—— 1 | [T—— | ‘\s\\\ \\\\\\\
= 12/0.55 kw —=—+— f— ~
~—11/055kw— — | N ——:::“~-::‘~\\ \\\\ ~ L 200
~—10/0.55 kw— — - — —— T — ~
0.5 50 1~ 19055 v —— | — T
: —— R — — N~ ~
EEC —
— —6/0.37 tW— — - T
——5/0.37 kw——— — 100
o — ] —
4/0.37 k\w— — —+ I —
——3/0.37 kvw— — — ™
——2/0.37 kW— — —
0 0 ‘ ‘ 0
T
0 5 10 15 20 25 30 35 40 45 Q imin]
T T T T T T T T T T T T T T 15
0 02 04 06 08 12 14 16 18 20 22 24 26 28 Q[mh]
012 60
P2 L — n
[kW] 008 — = n% 40 (%
—
004 20
SINGLE IMPELLER kW
00 lHH!HH! 0
0 5 10 1 20 25 30 35 40 45 Q [imin]
NPSH © NPSH
20
[m] 3 — G
10
0 0
0 5 10 15 20 25 30 35 40 45 Q [imin]
Rotation speed =2900 min-'
Test standard: 1ISO 9906:2012 - Grade 3B

215

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMSG1

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN25
c c
) s
© ©
& &
| |
A | cas A | e
VR e
e 2 holes M10 < 4 holes @14
T e | pgbie= B e
- = Qs 2 /
I lmali=l  doh J HPEHERES i
‘%‘ ML %%. S 100 | 18 4 holes 912 ‘ 085 <
160 ‘ 210 149 ‘ 180
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight Pump + Weight Pump +
Pmax kW  Size A H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B [o3 H3 B (o H3 1~ 3~ 1~ 3~
EVMSG1 2/0.37 16 |037| T 2105 | 139 133 216 | 139 114 216 | 250 | 14 | 211 198 | 275 | 17.4 | 245 232
EVMSG1 3/0.37 16 |037| 71 2105 | 139 133 216 | 139 114 216 | 271 | 145 | 216 203 [ 296 | 17.9 | 25 237
EVMSG1 4/0.37 16 |037| 71 2105 | 139 133 216 | 139 114 216 | 292 | 149 | 22 207 | 317 | 183 | 254 241
EVMSG1 5/0.37 16 |037| T 2105 | 139 133 216 | 139 114 216 | 313 | 154 | 225 212|338 | 188 |[259 246
EVMSG1 6/0.37 16 |037| 71 2105 | 139 133 216 | 139 114 216 | 334 | 158 | 229 216 | 359 | 192 | 263 25
EVMSG1 7/0.37 16 |037| 71 2105 | 139 133 216 | 139 114 216 | 355 | 162 | 233 22 | 380 | 196 | 267 254
EVMSG1 8/0.37 16 |037| T 2105 | 139 133 216 | 139 114 216 | 376 | 167 | 238 225 | 401 | 201 | 272 259
EVMSG1 9/0.55 16 |055| 71 2105 | 139 133 216 | 139 114 216 | 397 | 171 | 256 233 | 422 | 205 | 29 267
EVMSG1 10/0.55 16 |055| 71 2105 | 139 133 216 | 139 114 216 | 418 | 175 | 26 237 | 443 | 209 | 294 271
EVMSG1 11/0.55 16 |055| 71 2105 | 139 133 216 | 139 114 216 | 439 | 18 | 265 242 | 464 | 214 | 299 276
EVMSG1 12/0.55 16 |055| 71 2105 | 139 133 216 | 139 114 216 | 460 | 187 | 272 249 | 485 | 221 | 306 283
EVMSG1 13/0.55 16 |055| 71 2105 | 139 133 216 | 139 114 216 | 481 | 193 | 278 255 | 506 | 227 | 312 289
EVMSG1 14/0.75 16 |075| 80 2120 | 160 151 232 | 160 139 232 | 512 | 20 [ 314 295|537 | 234 |348 329
EVMSG1 16/0.75 16 [075| 80 2120 | 160 151 232 | 160 139 232 | 554 | 21 | 324 305|579 | 244 |[358 339
EVMSG1 18/1.1 16 | 14 80 2120 | 160 151 232 | 160 139 232 | 596 | 2241 | 339 332 | 621 | 255 |373 366
EVMSG1 20/1.1 16 | 14 80 2120 | 160 151 232 | 160 139 232 | 638 | 231 | 349 342 | 663 | 265 |383 376
EVMSG1 22/1.1 16 |11 80 2120 | 160 151 232 | 160 139 232 | 680 | 24.3 | 361 354 | 705 | 27.7 | 395 388
EVMSG1 24/1.1 16 |14 80 2120 | 160 151 232 | 160 139 232 | 722 | 253 | 371 364 | 747 | 287 | 405 39.8
EVMSG1 26/1.1 16 |11 80 2120 | 160 151 232 | 160 139 232 | 764 | 263 | 381 37.4 | 789 | 207 | 415 408
EVMSG127/1.5 25 | 15| 90S |e140| 172 140 278 | 180 148 267 | - - - - | 820 | 301 |479 428
EVMSG1 29/1.5 25 |15| 90S |e140| 172 140 278 | 180 148 267 | - - - - | 862 | 31.1 | 489 438
EVMSG1 32/1.5 25 |15| 90S |e140| 172 140 278 | 180 148 267 | - - . - | 925 | 324 |[502 451
EVMSG1 34/1.5 25 |15| 90S |o140| 172 140 278 | 180 148 267 | - - - - | 967 | 333 [511 46
EVMSG1 37/2.2 25 |22| 9L |e140| 172 140 278 | 180 148 267 | - - - - | 1030 | 347 |542 507
EVMSG1 39/2.2 25 |22| 9L |e140| 172 140 278 | 180 148 267 | - - ) - |1072| 357 |552 517

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

216
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMSG1

/

PR

43-3
52-1
44-1
43-7

\T \

120-11
117
219

with Oval flange (N)

217

F \ Piimne Fiirane _ ——
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PIPE CONNECTION
EVMSG1

with Round flange (F)

218

I Ty FRARA Piimn< Fiirane
Ag rometer a/S Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk e agrometer @agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMSG1

N° PART NAME Mé\-;:;zlé" DIMENSIONS STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250-EN1561

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)

43-7 Spacer EN 1.4301 (AISI 304)

44-1 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert M8

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM

107 Liner ring EN 1.4301 (AISI 304) + PPS

1M1 Mechanical Seal SiC / Carbon / EPDM

111-3 Mechanical seal seat EN 1.4301 (AISI 304)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510

115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115

115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131

117 Flange gasket EPDM

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10

120-3 Screw A2-70 UNI 7323 M4x10 I1SO 4762

120-6 Screw for coupling Galvanized steel M6x25 ISO 4762

120-11 Screw for counterflange A2-70 UNI 7323

120-13 | Screw for motor —MEC 71-80 Galvanized steel 8.8 strenght class ISO 898/1 M6x20 IS0 4017
MEC 90 M8x20 I1SO 4017

128-1 Nut for tie rod Galvanized steel M10 UNI 5588

128-6 Nut for coupling Galvanized steel M6 ISO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel D. 4x32 UNI 4838

135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592

135-6 Washer Carbon Steel a6

137-1 Impeller spacer EN 1.4301 (AISI 304)

140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

2121 Plug EN 1.4301 (AISI 304) G 3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

273-1 Plug Washer EN 1.4301 (AISI 304)

219
F

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG1

N°

1M1 [111-3| 1114|1115 1151|1154 [ 1155

75 | 751|107

521

46 | 47|48

N°

2122 | 219" | 245 | 2731

17

21

26
30
34
38
42
46
48
52
58
62

68
72

32-1|43-2| 433|435 |43-7 | 441

1

1

1
1
1
1
1
1
1
1
1
1
1
1

1

1

1

1

1

1

1

110

112

1116

1181
1120

1(22]1
124

1(26| 1
1|27

1129] 1
11382]1

1134

1371

1139] 1

1

1

1
1
1
1
1
1
1
1
1
1
1
1

1

1

1
1
1
1
1
1
1
1
1
1
1
1

2
2
2
2

2

2

10
10

13
15
17
19
21

23| 2
24

26| 2

29| 2
31

34| 2
36

1

1
1

1

4(51|52(53|54|6|7[21(31

1
1

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

117* {120-1|120-3 | 120-6 [ 120-11*| 120-13| 128-1 | 128-6 | 130-1| 1302 | 131-1 | 135-1 | 1356 [ 137-1 | 140 | 162 | 212 | 2121

2
2
2
2
2
2

Pump Type

EVMSG1 2/0.37

EVMSG1 3/0.37

EVMSG1 4/0.37

EVMSG1 5/0.37

EVMSG1 6/0.37

EVMSG1 7/0.37

EVMSG1 8/0.37

EVMSG1 9/0.55

EVMSG1 10/0.55

EVMSG1 11/0.55

EVMSG1 12/0.55

EVMSG1 13/0.55

EVMSG1 14/0.75

EVMSG1 16/0.75

EVMSG1 18/1.1

EVMSG1 20/1.1

EVMSG1 22/1.1

EVMSG1 24/1.1

EVMSG1 26/1.1

EVMSG1 27/1.5

EVMSG1 29/1.5

EVMSG1 32/1.5

EVMSG1 34/1.5

EVMSG1 37/2.2

EVMSG1 39/2.2

Pump Type

EVMSG1 2/0.37

EVMSG1 3/0.37

EVMSG1 4/0.37

EVMSG1 5/0.37

EVMSG1 6/0.37

EVMSG1 7/0.37

EVMSG1 8/0.37

EVMSG1 9/0.55

EVMSG1 10/0.55

EVMSG1 11/0.55

EVMSG1 12/0.55

EVMSG1 13/0.55

EVMSG1 14/0.75

EVMSG1 16/0.75

EVMSG1 18/1.1

EVMSG1 20/1.1

EVMSG1 22/1.1

EVMSG1 24/1.1

EVMSG1 26/1.1

EVMSG1 27/1.5

EVMSG1 29/1.5

EVMSG1 32/1.5

EVMSG1 34/1.5

EVMSG1 37/2.2

EVMSG1 39/2.2

* only for Oval flange (N)

220

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMS(L)3
0 USgpm. 4 6 8 10 12 14 16 18 20 2
| | | | | | | | | | | |
I T T T T T T T T T
0 Imp.g.p.m. 4 6 8 10 12 14 16 18
280
— 900
p H
[MPa] m] H
_ [ft]
24 240 4+——=33/3.0kw — 800
‘ T~
—‘3}1/3.0 ki/v\~\ \\
——29/3.0kv— \\\ 700
204 L ~2\7/ — —_ N
} 3.0 kilv\ 1 \\\ \\
— —25/3.0n— __ T~ S~ — 600
——24/2210— | —~
I~ —23/2.2 kw—_ S \
6 160 1 kiN — — \‘\\\\\ ‘\
~ ~2‘ /228 — \\\ \\\\\\i\ — 500
——19/2.2 W= T \‘E\\\\\\\\w
1290 g0 732-2 W ___ T ~— \\\\&\:\\ — 400
— 15 kW——0 L —
— 15/ 5 — ] \\\\&\1
= —14/15w— —_— \\ \\\‘\\N
e e e N
08 80 —t——11/11 e \::\>§§\1
——10/11w— — — — \E‘\\\
o T -
—=—7/0.75 w . \E\
04— 0= —6/0.55 k'W— — I ]
! — —5/0.55 \w— — T
— —4/0.37 kw——— I e Sy 100
——3/0.37 kn\— — —
— —2/037 kww— 1—
0-— 0 0
0 10 20 30 40 50 60 70 80 Q [imin]
T T T T T T T T T T T 3
0.0 05 10 15 2.0 25 30 35 40 45 50  Qmin
016 I 70
P2 n% N
kW] 012 — 50 %
//
—]
008 —— 30
— SINGLE IMPELLER kW
0.04 I ‘ I 10
0 10 20 30 40 50 60 70 80 Q [imin]
NPSH * NPSH
[m] 0
2
5
0 0
0 10 20 30 40 50 60 70 80 Q [imin]
Rotation speed 2900 min"
Test standard: ISO 9906:2012 - Grade 3B
221
IHHmne LiIrnnQA —— g A
F \ p = [

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMS(L)3

Dimensional sketch

Oval flange (N) DIN Loose round flange (LF) - DN25 Victaulic® connection (V)
C
4 holes @14
e 4 T«
o ‘ e [ i[%: g
B | pi e
- ]| |
I 100 18 4holes 12
—— 149
AT e3s 250 ‘
/
DIN Round flange (F) - DN25
< 2 holes M10 4 holes @14
[ A
i | | o3 % e i | i e S %\:ﬁg 6368
slel=s don " TR O
© : i ] = S T— = = S T—
E 4 holes @12 ﬁ |75 | 8‘ |_100 | 16 4holes @12 m 85 8{
149 180 149 180
160 ‘ 210 250 ‘ 210
Dimensions [mm] and Weights [Kg]
Motor Ovalfiange (V) | “OR0OIE e P | Clamp sonnection (©)
Weight Weight Weight
1~ 3~ Weight Pump + Weight Pump + Weight Pump +
Pmax kW  Size A H2 | Pump Motor H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B C H3 B Cc H3 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)3 2/0.37 1.6 0.37 71 2105 ( 139 133 216 | 139 114 216 | 250 9.7 16.8 155 | 275 105 [ 176 16.3 | 250 9.7 16.8 155
EVMS(L)3 3/0.37 1.6 0.37 7 2105 | 139 133 216 | 139 114 216 | 271 10.1 17.2 159 | 296 10.9 18  16.7 | 271 102 [ 173 16
EVMS(L)3 4/0.37 1.6 0.37 7 2105 | 139 133 216 | 139 114 216 | 292 106 | 17.7 16.4 | 317 1.3 184 17.1| 292 106 | 17.7 164
EVMS(L)3 5/0.55 1.6 0.55 71 2105 [ 139 133 216 | 139 14 216 | 313 1" 19.5 17.2 | 338 1.8 203 18 313 1.1 196 17.3
EVMS(L)3 6/0.55 1.6 0.55 7 2105 | 139 133 216 | 139 114 216 | 334 1.4 19.9 17.6 | 359 122 | 20.7 184 | 334 1.5 20 177
EVMS(L)3 7/0.75 16 0.75 80 @120 | 160 151 232 | 160 139 232 | 365 124 | 238 219 | 390 131 245 226 | 365 124 | 238 219
EVMS(L)3 8/0.75 1.6 0.75 80 2120 | 160 151 232 | 160 139 232 | 386 12.8 242 223 | 41 13.6 25 231 | 386 129 |[243 224
EVMS(L)3 9/1.1 16 11 80 2120 | 160 151 232 | 160 139 232 | 407 13.2 25 243 | 432 14 258 25.1| 407 133 | 251 244
EVMS(L)3 10/1.1 16 1.1 80 2120 | 160 151 232 | 160 139 232 | 428 137 | 255 248 | 453 145 | 263 256 | 428 137 | 255 248
EVMS(L)3 11/1.1 1.6 1.1 80 2120 | 160 151 232 | 160 139 232 | 449 141 259 252 | 474 14.9 26.7 26 449 14.2 26 253
EVMS(L)3 12/1.1 1.6 1.1 80 2120 | 160 151 232 | 160 139 232 | 470 14.6 264 257 | 495 15.4 27.2 26.5| 470 14.6 264 257
EVMS(L)3 13/1.5 1.6 15| 90S |@140 | 172 140 278 | 180 148 267 | 501 163 | 33.1 28.0 | 526 16.1 339 28.8| 501 163 [33.1 28
EVMS(L)3 14/1.5 1.6 15| 90S | @140 | 172 140 278 | 180 148 267 | 522 15.7 33.5 28.4 | 547 16.5 343 292 | 522 15.8 336 285
EVMS(L)3 15/1.5 1.6 15| 90S | @140 | 172 140 278 | 180 148 267 | 543 16.2 34 289 | 568 17 348 30 543 16.3 341 29
EVMS(L)3 16/1.5 16 15| 90S |@140 | 172 140 278 | 180 148 267 | 564 17.3 | 351 30.0 | 589 18 358 31 564 17.3 [351 30
EVMS(L)3 17/2.2 1.6 22 9L |e140 | 172 140 278 | 180 148 267 | 585 17.7 | 387.2 337 | 610 18.5 38 345 | 585 17.7 | 3872 337
EVMS(L)3 19/2.2 1.6 22 9L | 2140 | 172 140 278 | 180 148 267 | 627 18.7 38.2 347 | 652 19.5 39 355 | 627 18.7 38.2 347
EVMS(L)3 21/2.2 16 22 9L |e140 | 172 140 278 | 180 148 267 | 669 196 |[39.1 356 | 694 204 |39.9 36.4 | 669 196 |39.1 356
EVMS(L)3 23/2.2 25 22 9L |e140 | 172 140 278 | 180 148 267 - - - - 736 214 | 409 374|711 20.6 | 40.1 36.6
EVMS(L)3 24/2.2 25 22 0L |e2140 | 172 140 278 | 180 148 267 - - - - 757 218 413 378 | 732 211 406 371
EVMS(L)3 25/3.0 25 3.0 | 100L | 2160 - - - 196 155 306 - - - - 788 22.4 - 452 | 763 21.7 - 44.5
EVMS(L)3 27/3.0 25 3.0 | 100L | 2160 - - - 196 155 306 - - - - 830 23.4 - 46.2 | 805 226 - 45.4
EVMS(L)3 29/3.0 25 3.0 | 100L | @160 - - - 196 155 306 - - = - 872 243 - 47.1 | 847 23.6 - 46.4
EVMS(L)3 31/3.0 25 3.0 | 100L | @160 - - - 196 155 306 - - - - 914 253 - 48.1 | 889 246 - 47.4
EVMS(L)3 33/3.0 25 3.0 | 100L | 2160 - - - 196 155 306 - - - - 956 26.1 - 48.9 | 931 254 - 48.2

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

222
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)3

140
\ 128-6
32-1 135-6

120-6

L)
—_—
)
N
o

/

/
N\

//x?f?

43-3
52-1
44-1
43-7

.

|

[ \
N = O
N o 1
(10 ~

with Oval flange (N)

223

F \ Piimne Fiirane _ ——
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMS(L)3

2\

==

——

Y eiiv/ S

€S

Ay

"

with Round flange (F)

with Loose round flange (LF)

27

P

=

224

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

with Clamp connection (C)

with Victaulic® connection (V)

Agrometer a/s

A



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMS(L)3
N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMS EVMSL

4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
321 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-7 Spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
441 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
1M1 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510
115-3 O-Ring EPDM
115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 I1SO 4762
120-6 Screw for coupling Galvanized steel M6x25 1ISO 4762
120-11 | Screw for counterflange A2-70 UNI 7323
120-13 | Screw for motor MEC 7180 Galvanized steel 8.8 strenght class SO 898/1 M6x20 IS0 4017

MEC 90-100 M8x20 1SO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-5 Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D.4x32 UNI 4838
135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 Washer Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G3/8
2121 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

225
F \ Piimn< Fiirnne _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)3

1154 | 1155

245 | 2731|615~

N°

120-1)|120-3 | 1206 |120-11*120-13| 128-1( 128-5 | 128-6 | 130-1 | 130-2 | 131-1 | 135-1 [ 1356 | 137-1|140|160| 162 | 212 | 212-1|212-2| 219"

4
4
4
4
4
4
4
4

X
B afa]alalala]alalalalaloalalalalalalal<|<{<]<[<]<][<
=
-

Wl lafafafa|afafa|a|ajalaloaloalofofofoalofoaloa]oaloa|oa]olo
=
[}
B I R R R I I I IR I I I e R B I I I [ [ R I I I I
T
=
i
el I R R I e I I IR I IR I I IR I I I IR R R R I R I I
=
=
7]
P e R e e e e e e e e e e R e R e e e e R R e e e
h=
-
P e e e e e e e e e e R R e e e e e R R e e e e e R
N o aloft|o|olr|o|c|o|s|lv(n|lo|c|o
SlNfm|swlo|~olo| 2SS I ||| Q|| Q|S| ]| oo
NI I I I R I I I I I R I R I R I D I I I I I R I A
b
0
L e e e e e e e e e e e e e e e e I e e R e e e R
=
R?._u1111111111122222222222222
=% S S [ [y [y [ [ R N [ [ NN DR R
el <|<

o ¥

z
Llajo|afafa|afoafoa|afoafoa|ofofo|ofo|o|ofo|o]ofo|ofofo
~M%4444444444444444444444444
=
%1111111111122222222222222
N~
“///////////11111111111111
m///1///1///1///1/1///////
M1111111111122222222222222
o

“|olv[~rlo|c|lo|la|s|lo|lo|lalo|lo|a|s|o|la|olo
“1357911111222222334444556
=
YR (RS [N [N [ [N N U U [JUNY U [ N N (U [ [ U Uy NI (N U [ ) U
©
-

P e e e e e e e e el e e e e e e e e e e e e e e e
= =) N wlo[r[o[c]w NI E
S|N[o|v|jv|o|r|o|o|2|s|d2T|2(2(E(2|5|Q[J|8|&|]5(8
N R Bl Rl bl Rl Bl B B B B B B B B B B B R B B B B B B
o ||| ]| |+~
DO Rl Rl Rl Bl Rl Bl Rl I o N RN RN N0 RN (N N0 RV RN N KNS RN RN RN
g~[la[o]<o|c|~l=|o|2[e]z|a]e]z]el=|s]=]a]z]]=]s
Sl=I=1=1=[=1=|==|==1=={=|= (=== == ===~ |—
R e e B e i e e e e e e e e B e e e e e e e R e e
sinlslelg|e|e R IR NRNE R E R

P I I [ e ) il el I el IRl [l Il N N R S NG e ) g e

2 1212121888185 |s|=|g|a|F|s|sic|o|Z |28 |IS|o|n|a
2 [d|a|F|s|s|r|s|s=[C|c|C S| ||| N[ o|o
- pey ey el ey ey ey frl el el ey el ool el e ey el Rl ey el el el ey el el Bl
Q 2222|2222 (2222222222222 2[22|2
13 DNID(D|D|D[(D]|D|D|RD[D[D|D(D]|D|D[(D]|D|D[D|DD|D[D|ND|ND
=R =3 = =N =3 (= I3 = (b= [ = (= b= = = b= = = =3 = =1 = = = = =
[ I = D I P P P P P I D I I ) I I [ [ I I [ [ I
U L|L|L|o|o|D|D|D|D|L|bo|o|o|o|D|Dh)|D|L|b|Lo|o|d|od|D

Pump Type

EVMS(L)3 2/0.37
EVMS(L)3 3/0.37
EVMS(L)3 4/0.37
EVMS(L)3 5/0.55
EVMS(L)3 6/0.55
EVMS(L)3 7/0.75
EVMS(L)3 8/0.75
EVMS(L)3 9/1.1

EVMS(L)3 10/1.1
EVMS(L)3 11/1.1
EVMS(L)3 12/1.1
EVMS(L)3 13/1.5
EVMS(L)3 14/1.5
EVMS(L)3 15/1.5
EVMS(L)3 16/1.5
EVMS(L)3 17/2.2
EVMS(L)3 19/2.2
EVMS(L)3 21/2.2
EVMS(L)3 23/2.2
EVMS(L)3 24/2.2
EVMS(L)3 25/3.0
EVMS(L)3 27/3.0
EVMS(L)3 29/3.0
EVMS(L)3 31/3.0
EVMS(L)3 33/3.0

* only for Oval flange (N)

** only for Loose round flange (LF)

226

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMSG3
0 USgpm. 4 6 8 10 12 14 16 18 20 2
| | | | | | | | | | | |
I T T T T T T T T T
0 Impgpm. 4 6 8 10 12 14 16 18
280
— 900
p H
[MPa] [m] H
_ [ft]
24 240 4+——=33/3.0kw — 800
‘ T~
‘3}1/3.0 kilv\ L \\
——29/3.0kv— \\\ 700
204 L ~2\7/ — —_ N
} 3.0 kilv\ 1 \\\ \\
— —25/3.0n— __ T~ S~ — 600
——24/2210— | —~
I~ —23/2.2 kw—_ S \
6 160 1 kiN — — \‘\\\\\ ‘\
~ ~2‘ /228 — \\\ \\\\\\i\ — 500
——19/2.2 W= T \‘E\\\\\\\\w
1290 g0 732-2 W ___ T ~— \\\\&\:\\ — 400
— 15 kW——0 L —
— 15/ 5 — ] \\\\&\1
= —14/15w— —_— \\ \\\‘\\N
e e e N
08 80 —t——11/11 e \::\>§§\1
——10/11w— — — — \E‘\\\
_—:5%715'(&:_‘ 7 _\‘\:\\\\‘ - 200
—=—7/0.75 w . \E\
04— 0= —6/0.55 k'W— — I ]
! — —5/0.55 \w— — T
— —4/0.37 kw——— I e Sy 100
——3/0.37 kn\— — —
— —2/037 kww— 1—
0 0 0
0 10 20 30 40 50 60 70 80 Q [imin]
T T T T T T T T T T T 3
0.0 0.5 1.0 15 2.0 25 30 35 40 45 50  Qmin
0.16 i 70
P2 n% N
kW] 0.2 — 50 [%]
//
—]
0.08 — 30
p— SINGLE IMPELLER kW
0.04 I ‘ I 10
0 10 20 30 40 50 60 70 80 Q [imin]
NPSH * NPSH
[m] 0
2
5
0 0
0 10 20 30 40 50 60 70 80 Q [imin]
Rotation speed =2900 min-!
Test standard: ISO 9906:2012 - Grade 3B
227
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMSG3

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN25
c c
e e
2 ‘ S
& A
N © I
|
A A
A | Gas A w
ES 2 holes M10 e 4 holes o114
_
s Ele | pbdes B
o eoyi=e 4ok 4 IHPEHEERE 108,
‘%‘ #holes 012 ‘ el | ® 100 _ 18 4holesot2 m 085 ]
160 210 149 | ‘ 180 |
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight Pump + Weight Pump +
Pmax kW  Size A H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B C H3| B C H3 1~ 3~ 1~ 3~
EVMSG3 2/0.37 16 [037| 71 |e105| 139 133 216 | 139 114 216 | 250 | 129 | 20 187 | 275 | 157 |228 215
EVMSG3 3/0.37 16 [037| 71 |e105| 139 133 216 | 139 114 216 | 271 | 13.3 [ 204 191 | 296 | 161 |232 219
EVMSG3 4/0.37 16 [037| 71 |e105| 139 133 216 | 139 114 216 | 292 | 138 [209 196 | 317 | 166 |23.7 224
EVMSGS3 5/0.55 16 [055| 71 |e105| 139 133 216 | 139 114 216 | 313 | 14.2 [ 227 204 | 338 | 17 |255 232
EVMSGS3 6/0.55 16 [055| 71 | 105|139 133 216 | 139 114 216 | 334 | 147 [232 209 | 359 | 174 | 259 236
EVMSG3 7/0.75 16 [075| 80 |e120| 160 151 232 | 160 139 232 | 365 | 156 | 27 251 | 390 | 183 |29.7 2738
EVMSGS3 8/0.75 16 [075| 80 |e120| 160 151 232 | 160 139 232 | 386 | 16 |27.4 255 | 411 | 188 |30.2 283
EVMSG3 9/1.1 16 |[11| 80 |e120| 160 151 232 | 160 139 232 | 407 | 164 [282 275|432 [ 192 | 31 303
EVMSG3 10/1.1 16 [11| 80 |e120| 160 151 232 | 160 139 232 | 428 | 169 |287 28 | 453 | 197 |315 308
EVMSG3 11/1.1 16 [ 11| 80 |e120| 160 151 232 | 160 139 232 | 449 | 17.3 [ 291 284 | 474 | 201 |31.9 312
EVMSG3 12/1.1 16 [11| 80 |e120| 160 151 232 | 160 139 232 | 470 | 17.8 [29.6 28.9 | 495 | 206 |324 317
EVMSG3 13/1.5 16 [ 15| 90S | @140 | 172 140 278 | 180 148 267 | 501 | 18.5 [ 363 325 | 526 | 21.3 | 391 353
EVMSG3 14/1.5 16 [ 15| 90S | @140 | 172 140 278 | 180 148 267 | 522 | 19 [ 368 31.7 | 547 | 21.7 | 395 344
EVMSG3 15/1.5 16 | 15| 90S | 0140 | 172 140 278 | 180 148 267 | 543 | 19.4 |[37.2 321 | 568 | 222 | 40 349
EVMSG3 16/1.5 16 | 15| 90S | @140 | 172 140 278 | 180 148 267 | 564 | 20.5 | 383 332 | 589 | 232 | 41 359
EVMSG3 17/2.2 16 | 22| 9L |e140 | 172 140 278 | 180 148 267 | 585 | 20.9 | 404 369 | 610 | 237 |432 397
EVMSG3 19/2.2 16 | 22| 90L | @140 | 172 140 278 | 180 148 267 | 627 | 21.9 | 414 379 | 652 | 247 |442 407
EVMSG3 21/2.2 16 |22 | 90L |e140 | 172 140 278 | 180 148 267 | 669 | 22.8 | 423 388 | 694 | 256 |451 416
EVMSG3 23/2.2 25 | 22| 9L |9140 | 172 140 278 | 180 148 267 | - - - - | 736 | 266 | 461 426
EVMSG3 24/2.2 25 | 22| 90L |e140 | 172 140 278 | 180 148 267 | - - - - | 757 | 27 | 465 43
EVMSG3 25/3.0 25 | 30| 100L |e160 | - - - | 196 155 306 | - - - - | 788 | 276 - 504
EVMSG3 27/3.0 25 | 30| 100L |0160 | - - - | 196 155 306 | - - - - | 830 | 286 - 514
EVMSG3 29/3.0 25 | 30| 100L |o160 | - - - | 196 155 306 | - - - - | 872 | 296 - 524
EVMSG3 31/3.0 25 | 30| 100L |e160 | - - - | 196 155 306 | - - - - | 914 | 305 - 533
EVMSG3 33/3.0 25 | 30| 100L |e160 | - - - | 196 155 306 | - - - - | 956 | 31.3 - 544

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

228
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS EVM S

EVMSG3

SECTIONAL VIEW

140
\\ 128-6
135-6
32-1 A
N 120-6
162~ )
T~
13141 == YN /] \\
130-2 _ \
L = ] 212
130-1 Y -
120-3 el
245 i 111-4
< 120-13
— © /- g
) \ M 111-3
f
> J 115-5
111-5
111
& 46
47
~ \
\\ o
S
N 7 \\ 7
a4 )
43-3 v \\ 5-2
52-1 v 5-3
31
44-1 .
N I
43-7 N 21
LN | 5-1
{ 107
S A7 75-1
6 q 273-1
48 - 212-1
120-11 ‘
117
219
with Oval flange (N)
229
F \ Piimne Fiirane _ ——

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk e agrometer @agrometer.dk



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PIPE CONNECTION
EVMSG3

with Round flange (F)

230

I Ty FRARA Piimn< Fiirane
Ag rometer a/S Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk e agrometer @agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMSG3

N° PART NAME Mé\.;:;zlél' DIMENSIONS STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250EE 1551

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)

43-7 Spacer EN 1.4301 (AISI 304)

441 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert M8

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM

107 Liner ring EN 1.4301 (AISI 304) + PPS

1M Mechanical Seal SiC / Carbon / EPDM

111-3 Mechanical seal seat EN 1.4301 (AISI 304)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510

115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115

115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131

117 Flange gasket EPDM

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10

120-3 Screw A2-70 UNI 7323 M4x10 I1SO 4762

120-6 Screw for coupling Galvanized steel M6x25 1SO 4762

120-11 Screw for counterflange A2-70 UNI 7323

120-13 | Screw for motor MEC 71-80 Galvanized steel 8.8 strenght class ISO 898/1 M6x20 IS0 4017
MEC 90-100 M8x20 1SO 4017

128-1 Nut for tie rod Galvanized steel M10 UNI 5588

128-6 Nut for coupling Galvanized steel M6 1SO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel D. 4x32 UNI 4838

135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592

135-6 Washer Carbon Steel a6

137-1 Impeller spacer EN 1.4301 (AISI 304)

140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

2121 Plug EN 1.4301 (AISI 304) G 3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

231
F \ Piimn< Fiirnne _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG3

N°

1M1 [111-3| 1114|1115 1151|1154 [ 1155

75 | 751|107

521

46 | 47|48

N°

2122 | 219" | 245 | 2731

17

21

24
26

40
42
44
48
52

60

32-1|43-2| 433|435 |43-7 | 441

1

1

1
1

1
1
1
1
1

1

1

1

1

1

1

110

112

1115

1161

1(231
1|24

1125| 1
1127(1

1129

1133] 1

1

1

1
1

1
1
1
1
1
1
1

1

1

1
1

1
1
1
1
1
1
1

2
2

2

2

10
10

12
13
14
16
18

20| 2
21

22| 2

24| 2

26

28| 2
30

1

1
1

1

4(51|52(53|54|6|7[21(31

1
1

1
1
1
1

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

117* {120-1|120-3 | 120-6 [ 120-11*| 120-13| 128-1 | 128-6 | 130-1| 1302 | 131-1 | 135-1 | 1356 [ 137-1 | 140 | 162 | 212 | 2121

Pump Type

EVMSG3 2/0.37

EVMSG3 3/0.37

EVMSG3 4/0.37

EVMSG3 5/0.55

EVMSG3 6/0.55

EVMSG3 7/0.75

EVMSG3 8/0.75
EVMSG3 9/1.1

EVMSG3 10/1.1

EVMSG3 11/1.1

EVMSG3 12/1.1

EVMSG3 13/1.5

EVMSG3 14/1.5

EVMSG3 15/1.5

EVMSG3 16/1.5

EVMSG3 17/2.2

EVMSG3 19/2.2

EVMSG3 21/2.2

EVMSG3 23/2.2

EVMSG3 24/2.2

EVMSG3 25/3.0

EVMSG3 27/3.0

EVMSG3 29/3.0

EVMSG3 31/3.0

EVMSG3 33/3.0

Pump Type

EVMSG3 2/0.37

EVMSGS3 3/0.37

EVMSG3 4/0.37

EVMSG3 5/0.55

EVMSG3 6/0.55

EVMSG3 7/0.75

EVMSG3 8/0.75
EVMSG3 9/1.1

EVMSG3 10/1.1

EVMSG3 11/1.1

EVMSG3 12/1.1

EVMSG3 13/1.5

EVMSG3 14/1.5

EVMSG3 15/1.5

EVMSG3 16/1.5

EVMSG3 17/2.2

EVMSG3 19/2.2

EVMSG3 21/2.2

EVMSG3 23/2.2

EVMSG3 24/2.2

EVMSG3 25/3.0

EVMSG3 27/3.0

EVMSG3 29/3.0

EVMSG3 31/3.0

EVMSGS3 33/3.0

* only for Oval flange (N)

232

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



90 H: EVMS

VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE

EVMS(L)5
0 USgpm. 5 10 15 20 2 30 35
| | | | | | | |
I T T T T T T
0 Imp.g.p.m. 5 10 15 20 25 30
280
- 900
p Ho|
[MPal m —'27(5-5kiw\ —~— [:
24— T - 800
1= =25l5s = -
BN ~—
=T 23/5.5m=—___ L ~_ N .
209 00 T ™~ s
——-20( 40 kW —=—r \\‘\ AN
L —19/40kw— | ~ NN\ - 600
[ I e — o N
1.6 160 4==17/4.0 W= T \\ ™N\ \‘\\\
1 i S~ \\\ NG - 500
= —15/3.0kw—~ \\\ ™~ \\‘ \ \\\
- —4f0m—f | T~ OO NN
12+ qpp =T 13/30mw— — e \\;\ - \\ - 400
——12/3.0 kw— — +— e SN é\
440 0 o —L — T~ N~ S~ N N
— 10220 — — | —— \$ N - 300
et S R e S e SRS N
— -—8/‘2.2 W T —— \\\:\ \: >
:j7/‘15 kYV_ — ] \\\\ :\\\\ \\\ L 200
:iﬁ/"l.s W= —— ] §\§§\\\\ :\:\
04 — "5/‘1.1 k\(\/— T — 55\\\\\\\\\
’ 0 T==4/0.75 W= —F — — — | —
0 — P—
= —3/0.55 \w—F — — — — — 100
| | ————
= —2/0.37 kw—F —F — — —_—
0— 0 0
0 20 40 60 80 100 120 Q [Vmin]
T T T T T T T T T s
0 1 2 3 4 5 7 Q[mh]
032 70
P 2 —— T n
kW] 024 = n% 50 (%]
016 — — 30
— SINGLE IMPELLER kW
008 N A O A Y A 10
0 20 40 60 80 100 120 Q [Vmin]
NPSH |45 NPSH
[m] [ft]
3 L — 10
-5
1
0 20 40 60 80 100 120 Q [Vmin]
Rotation speed 2900 min
Test standard: ISO 9906:2012 - Grade 3B

233

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

\ Piimne Fiirane

Agrometer a/s



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA

EVMS(L)5

Oval flange (N) DIN Loose round flange (LF) - DN32 Victaulic® connection (V)
[
4 holes @18
s T T
g A== =t -
o P ) (eI S i€
T 0 I Al
& “I =il o et =
&
] 100 20 4holes @12 2100
149 180
A 638 250 210
DIN Round flange (F) - DN32
g 2 holes M10 4 holes @18
T [
~ } | } !
638 | | e |l i Ty e |2 =
- <14 =g e)E ‘ «l
B A i fo — = : ; A — T
4 holes @12
100 4 holes @12 5 100 ‘ 19 4holes @12 ‘ 2100 g‘ N
149 149 180
160 250 210
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) Victaulic® (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
Weight Weight Weight
1~ 3~ Weight Pump + Weight Pump + Weight Pump +
Pmax kW  Size A H2 | Pump Motor H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B C H3 B Cc H3 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)5 2/0.37 1.6 0.37 71 2105 | 139 133 216 | 139 114 216 | 264 9.8 16.9 156 | 289 " 18.1 16.8 | 264 9.9 17 157
EVMS(L)5 3/0.55 16 [055| 71 |@105| 139 133 216 | 139 114 216 | 292 | 103 |188 165 317 [ 115 | 20 177 | 292 | 104 [189 16.6
EVMS(L)5 4/0.75 1.6 0.75 80 2120 | 160 151 232 | 160 139 232 | 330 1.3 [227 20.8 | 355 125 | 239 22 | 330 1.4 |228 209
EVMS(L)5 5/1.1 1.6 1.1 80 2120 | 160 151 232 | 160 139 232 | 358 11.8 [236 229 | 383 13 248 241 | 358 1.9 |[237 23
EVMS(L)5 6/1.5 1.6 15| 90S | @140 | 172 140 278 | 180 148 267 | 396 | 127 |30.5 254 | 421 | 137 [315 264 | 396 | 126 |304 253
EVMS(L)5 7/1.5 1.6 15| 90S | @140 | 172 140 278 | 180 148 267 | 424 12.8 | 30.6 255 | 449 14.1 319 26.8 | 424 13 30.8 25.7
EVMS(L)5 8/2.2 1.6 22 | 90L |e140 | 172 140 278 | 180 148 267 | 452 134 | 329 294 | 477 146 | 341 306 | 452 13.5 33 295
EVMS(L)5 9/2.2 1.6 22| 90L |e140 | 172 140 278 | 180 148 267 | 480 | 13.9 |33.4 29.9| 505 | 152 |[34.7 312 480 [ 141 |336 30.1
EVMS(L)5 10/2.2 1.6 22 | 90L |o140 | 172 140 278 | 180 148 267 | 508 | 14.4 |339 304 | 533 | 156 (351 316 | 508 | 145 | 34 305
EVMS(L)5 11/2.2 1.6 22 | 90L |e140 | 172 140 278 | 180 148 267 | 536 162 | 347 31.2| 561 16.5 36 325 | 536 154 | 349 314
EVMS(L)5 12/3.0 1.6 30| 100L | @160 | - - - 196 155 306 | 574 | 16.7 - 395|599 | 177 - 405 | 574 | 16.6 - 394
EVMS(L)5 13/3.0 1.6 3.0 [ 100L | 2160 - - - 196 155 306 | 602 17 - 39.8 | 627 18.3 - 411 | 602 17.2 - 40
EVMS(L)5 14/3.0 1.6 3.0 | 100L | 2160 - - - 196 155 306 | 630 17.6 - 404 | 655 18.8 - 416 | 630 17.7 - 405
EVMS(L)5 15/3.0 1.6 3.0 | 100L | 2160 - - - 196 155 306 | 658 18.6 - 414 683 19.9 - 427 | 658 18.8 - 416
EVMS(L)5 17/4.0 1.6 40 | 112M | 2160 | - - - 196 155 306 | 714 | 193 - 458 739 | 206 - 474 | 714 | 195 - 46
EVMS(L)5 19/4.0 25 4.0 | M12M | 2160 - - - 196 155 306 - - - - 795 217 - 482 | 770 20.6 - 471
EVMS(L)5 20/4.0 25 40 [ 112M | 2160 - - - 196 155 306 - - - - 823 239 - 50.4 | 798 228 - 493
EVMS(L)5 23/5.5 25 55 | 132S | 9300 | - - - | 225 160 328 | - - - - | 1001 | 30.6 - 692|976 | 295 - 6881
EVMS(L)5 25/5.5 25 55 [ 1328 | 2300 - - - 225 160 328 - - - - 1057 | 316 - 70.2 | 1032 | 30.5 - 69.1
EVMS(L)5 27/5.5 25 55 | 1328 | 2300 - - - 225 160 328 - - - - 1113 | 3341 - 71.7 | 1088 32 - 70.6

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

234

Agrometer a/s

FRARA Piimn< Fiirane

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)5

140
128-6
135-6
32-1 120-6
//'\\
162 | ;\ﬂj ) \
131- 1 —— ~ I : |
; J 212
130-2 o \ 5
r = A 75
120-3 p 111-4
i 120-13
128-1 L @R Y ) 111-3
135-1 =1y ' 115-5
of )
212-2 o< /i 111-5
Sl 111
115-4 — X 46
M50 — ) 47
120-1 ———— T 54
h_-\
432 ——8 |11 N d 7
‘N\
43-3 —m8M8 | || 5-2
—
43-4 N 5-3
[ A - T 444
52-1 < v
43-5 N o
137-1 k Sl - 21
~L |+
48— o N 5-1
6 TR A 107
115-3 T il 273-1
120-11 B 75-1
219 212-1
T~ 160
T 1285
with Oval flange (N)
235
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag I‘O m ete I’ a/ S www.agrometer.dk ¢ agromete.r@ agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMS(L)5

with Round flange (F)

with Loose round flange (LF)

with Clamp connection (C)

with Victaulic® connection (V)

236

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s

A



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMS(L)5

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UN:n7SZ>‘ezr? with inox A4-70 UN:n7sZ>‘ezrtB with inox M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
11 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510
115-3 O-Ring EPDM
115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 1SO 4762
, up to 4.0 kW ) M6x25 1SO 4762
120-6 Screw for coupling —_———] Galvanized steel
above 5.5 kW M8x20 1SO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 71-80 M6x20 1SO 4017
120-13 Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 1SO 4017
MEC 132 M12x40 1SO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 1SO 4032
128-5 Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D.4x32 UNI 4838
135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 Washer Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
i up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

237
F

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)5

%
H
3 S Y B Y R O O Oy A R R R R e e e R N N N S I R R R
st ©
st
—
M n22222222222222222222
o e R e e e e e R e e R o R e e e e R e R N
X [t}
M S|lovfofoafoafoafofofofoafofo|o|o|ofofofo]o]o]o
NI N I I S I N I R I IR I I I R N N R N N
u” *
< Qla|a|ofo|afala|a|ajofofalajo|o|~[<[<|~]~
m22222222222222222222 N
= Q@
) P [RF [P [ [ U [ U U U U (U (U U U U U (U (U - -
S R e R e e e R R e o R R I I I I S S b
= hs
Tlelellel=l=l=l=|=l=l=|=l=|<|<||<]|<|- oot oo oo e o forfoon oo e ol oo
= N
@ o~
P e R R e e e e R e e e e R R R e e R e Nl R Bl Rl R e e e R e e e I R I e o e e e
= N
= o
R I ol ol ol Il IRl IRl IRl IRl ol Il Il Il IRl Il Il Rl S|l |=]|=]=||~|~|=|=|=]|~]|~]|+
~ -
S5lajo|vlv|o|~lo|o|e|c|a]|e|zle|s|2|c]]g|x gl-l-[-[<[-]-[<|<[<[<[<[<]<[<|<[<[<|<|-]-
—
blafa|afafajala|lafa|loa|ofo|ofofo]ofo|o]o]o lafalalalalafalalalalafalo|o|afalo]|o]oalo
e -~
N3
L ol ol o e e I e ol ol o ol I I e e e el R I~ Rl Rl Rl R Rl e o e o e I R R e R R e e e
e}
=
R R R Rl Rl B Rl B A A B A B S S I B B B A S T
10 SRR AR AR R AR A R A R S N o R N B
=
L I I R I e I I o I I I I R I I I I I I A AR A e R e e A R A R R
o o _T
Z Qla|a|a|a|alalalalofa]|o]o]|ofo]o]o]ofoaloalo z <
b Rl Rl Rl Rl Rl ol Il I I Il I e o e R R e e e
el
W44444444444444444444 ~
— mw44444444444444444444
%11111111122222222223 ~
—
- = - |- |- NN NN w33333333333333333333
-~ -~ - - - e}
M11111111122222222223 M44444444444444444///
—
Al Bl Rl Bl Bl Rl Rl Rl IRl ISV ISV IRV IRV BV IS RS ISV SV SV Y
m M44444444444444444444
~ -
olv|~sI~|o olw|o|o|v o~
%13579“11111%22233“44 o
%//ll///////ll////444
- -
(2 <
i ARARABARARARARERARARIRARARERARARERARAREN
o e ol ol o N ol I N ol o e B R e B R R -~
) [52)
oflc|a|e[s|e[~|o|o|o|w|r MARARIR AR AR SRR AR AR NN RS R
N|N[o|tfw|lo|~lo|o 2|5 |T (2325 2IR|IQ|SQ|Q m
o
N R e e b e B R B e R B B R B e X
=
N e R R e e e e R e I I N I S I R R R I Y RARARAR AR AR AR AR AR AR AR AR AR AR AR A I I N N
3 s
M44444444444444444444
S Rl Rl Rl Rl I e Rl R Il O N0 N N RN N KN RN N N Y Y
Al|~|-|afo|«|v]|o|~|o|o|ao|2|=|N[Z[e|>|QINQ M
I} SR R e BB ISIRASARARAREGARANARARARANEGARARARARARAREN
-
VS Rl Bl Rl el Rl Rl Rl Rl Rl el Rl Rl Rl R R R R R R R =
.
SARERARARARARARARARARARAREAR AR AR AR AR AR AR AN
R e R R e e e R e e R e e R S I S I I I
=
518|e NlNnfolofolole|e|o (v |w |’ ~lo|w N olo|o|lo|lo|o|ao|w|wv|wv
eIt oieRININIq|d|o|o|o|o|f|f|f|e|v|w 3571552222.3.&3.&444.555
o |o|lo|lgo|c|c|cladlalsIZSISIsIFIgISIzIsIzIsIS S o lolelaelelalaY|Y2|2 Q2 (XX |IIX(L|IL|L
LlglIgl==Z|9|Y|o|=s|q|a|Tf|v|~|o|S|as|v|s o |o|lo|lg|c|o|o|d|ldls|Z|d|s|F|oIclsalad|d|R
2 | N[BFBB IR0~ |+ ||| ||| | NN 2 |Q|s|F|(B|s|R|d|d|=|c|-|v|~|~-|-|~|Q|[q|Q|N
N e e e e E SN E- PR Y Y T VY -4 Y Y -4 -4 A RN - P-4 -4 YR 7Y -3
g slzlslzslgisisslgsigssgssssss o |Z|2|2(2(22|22|222|22] 2222222
E |Q(Q|2|Q2|2|Q|Q[(2|R|R[R|R|D|D[R|R|R[(D[D|D
= IZIZIZIEIEIEIE 1215151215 1515 121512121512 | 5 |2|2|2|2|2|2/2)2|2/2/2|2|2|2|2|2|2|2| 2|2
& Do|olojo|l|o|o|o|lold|l|o|o|o|lo|o|la|ald [ I = N N P S P I - D I I B D I I B P e
Wiwjw|w|w|(w{w|w|(w|w|w|w|w|w|w|w|w|w|w)|wWw

* only for Oval flange (N)

** only for Loose round flange (LF)

=[] shaft in EN 1.4462 (AISI 329A)

128-3: only for motor above 5.5 kW (see drawing pag.247)

238

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



90 H: EVMS

VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE

EVMSG5
0 USgpm. 5 10 15 20 2 30 35
| | | | | ! | |
T T T T T T T
0 Impgpm. 5 10 15 20 25 30
280
- 900
p Ho|
[MPal m —'27(5-5kiw\ —~— [:
24— T - 800
1= =25l5s = -
BN ~—
——23/5.50w—=|—_ ~ \\ N - 700
209 00 T ™~ s
——-20( 40 kW —=—r \\‘\ AN
IRV . — ~ AN 600
[ I e — o N
16— 160 4==17/4.0 W= T N\ \‘\\\
1 i S~ \\\ NG - 500
= —15/3.0kw—~ \\\ ™~ \\‘ \ \\\
- —4f0m—f | T~ OO NN
12+ qpp =T 13/30mw— — e \\;\ - \\ - 400
——12/3.0w— — T e~— | N Q\
FE — — e ~ N
— 10220 — — | —— \$ N - 300
et S R e S e SRS N
— -—8/‘2.2 W T —— \\\:\ \: >
:j7/‘15 kYV_ — ] \\\\ :\\\\ \\\ L 200
:iﬁ/"l.s W= —— ] §\§§\\\\ :\:\
04 — "5/‘1.1 k\(\/— T — 55\\\\\\\\\
’ 0 T==4/0.75 W= —F — — — | —
0 — P—
= —3/0.55 \w—F — — — — — 100
| | T ———
= —2/0.37 kw—F —F — — —_—
0 0 0
0 20 4 60 80 100 120 Q [Vmin]
T T T T T T T T T s
0 1 2 3 4 5 7 Qmih
032 70
P 2 —— T n
kW] 024 = n% 50 (%]
016 — — 30
— SINGLE IMPELLER kW
008 N I A B 10
0 20 4 60 80 100 120 Q min]
NPSH |45 NPSH
[m] [ft]
3 L — 10
-5
1
0 20 40 60 80 100 120 Q [Vmin]
Rotation speed =2900 min-!
Test standard: ISO 9906:2012 - Grade 3B

239

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

\ Piimne Fiirane

Agrometer a/s



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMSG5

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN32
C C
18 | B
? 2
& ©
© ©
A G38 A G38
ﬁ
N o
I 2 holes M10 = 4 holes 918
I I (o I
| \ | G38 = = AJ/[‘ \J‘\q
< | ! i H—t — R G358
<+« g e ‘: v ol Il s 22 N L
ER o R f d HIPSHSEEE S
o
‘__.100 4 holes 212 | | 175 ] 100 2 4hoesot2 | 5100 =
149 180 —
160 210 149 | 180
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight Pump + Weight Pump +
kW  Size A H2 | Pump Motor H2 | Pump Motor
Pmax
Pump Type [MPa] B (o3 H3 B (o3 H3 1~ 3~ 1~ 3~
EVMSGS5 2/0.37 16 [037| 71 |@105| 139 133 216 | 139 114 216 | 264 13 | 201 188 | 289 | 175 |[246 233
EVMSGS5 3/0.55 1.6 0.55 71 2105 | 139 133 216 | 139 14 216 | 292 13.5 22 197 | 317 18 265 242
EVMSGS5 4/0.75 1.6 0.75 80 2120 | 160 151 232 | 160 139 232 | 330 14.5 259 24 355 19 304 285
EVMSG5 5/1.1 1.6 11 80 2120 | 160 151 232 | 160 139 232 | 358 15 26.8 26.1 | 383 19.5 31.3 30.6
EVMSG5 6/1.5 1.6 15| 90S | @140 | 172 140 278 | 180 148 267 | 396 15.5 33.3 282 | 421 20.1 379 328
EVMSG5 7/1.5 1.6 15| 90S |e140 | 172 140 278 | 180 148 267 | 424 16 338 29 449 20.5 38.3 33.2
EVMSGS5 8/2.2 16 22| 90L |e140 | 172 140 278 | 180 148 267 | 452 | 166 |36.1 326 | 477 | 211 [40.6 37.1
EVMSG5 9/2.2 1.6 22 9L | @140 | 172 140 278 | 180 148 267 | 480 171 36.6 33.1 | 505 216 | 411 376
EVMSG5 10/2.2 1.6 2.2 9L | @140 | 172 140 278 | 180 148 267 | 508 17.6 37.1 33.6 | 533 221 41.6 38.1
EVMSG5 11/2.2 1.6 22| 90L |@140 | 172 140 278 | 180 148 267 | 536 | 184 |37.9 344 | 561 | 229 |424 389
EVMSG5 12/3.0 1.6 3.0 | 100L | 2160 - - - 196 155 306 | 574 19.6 - 42.4 | 599 241 - 46.9
EVMSG5 13/3.0 1.6 3.0 | 100L | @160 - - - 196 155 306 | 602 20.2 - 43 627 247 - 47.5
EVMSGS 14/3.0 1.6 30 | 100L | @160 | - - - 196 155 306 | 630 | 20.8 - 436|655 | 253 - 481
EVMSG5 15/3.0 1.6 3.0 | 100L | 2160 - - - 196 155 306 | 658 21.8 - 446 | 683 26.3 - 49.1
EVMSG5 17/4.0 1.6 4.0 | 112M | 2160 - - - 196 155 306 | 714 225 - 49 739 27 - 53.5
EVMSG5 19/4.0 25 4.0 | 112M | 2160 - - - 196 155 306 - - - - 795 28.1 - 54.6
EVMSG5 20/4.0 25 40 | 112M | 2160 - - - 196 155 306 - - - - 823 30.3 - 56.8
EVMSGS5 23/5.5 25 55 | 1328 | 2300 - - - 225 160 328 - - - - 1001 37 - 75.6
EVMSGS5 25/5.5 25 55 | 132S | 2300 - - - 225 160 328 - - - - 1057 38 - 76.6
EVMSG5 27/5.5 2.5 55 | 1325 | @300 | - - - | 225 160 328 | - - - - | 113 | 396 - 782

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

240
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMSGS5
140
128-6
\ 1356
321 ~_| a\ /12/9E =
162 ~__ 18 ) : \
131-1 N ~J /\ .
130-2 xi SN - > e
130-1 \ ==
120-3 111-4
245 | 120-13
128-1 ,‘Q / 111-3
135-1 \ O®r' < : 115-5
212-2 5 ] 111-5
4 111
M54 — "X 46
M50 —— |\ L 47
120-] ———————————| T 54
32— || N AT 7
33— || T 52
G ———
52 ———————— < T 4441
43-5 . 31
137-1 \ sl 21
48 N 1 N 5-1
6 N d 107
117 75-1
120-11 2731
219 2121

with Oval flange (N)
241

F \ Piimne Fiirane _ ——
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PIPE CONNECTION
EVMSG5

with Round flange (F)

242

I Ty FRARA Piimn< Fiirane
Ag rometer a/S Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk e agrometer @agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG5

N° PART NAME Mé\;ﬁgg" DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250EE1551
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304) -EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
441 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M1 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510
115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw for coupling Galvanized steel
above 5.5 kW M8x20 1SO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 71-80 M6x20 1SO 4017
120-13 Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 ISO 4017
MEC 132 M12x40 1SO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 1ISO 4032
128-6 Nut for coupling Galvanized steel M6 1ISO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 Washer Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
2121 Plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
2731 Plug Washer EN 1.4301 (AISI 304)
243
F \ Piimn< Fiirnne _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG5

1
|
2 O s |s |||t ||| |||+
B N N N N N N I R ~
2 [N
3 1)
B e e I I I O o o R I o o I I I ) I I I MR IR IR
> &
Wl lafafoafo|afafa|oa|oa|oafalaloalofoafolofolola MMERIEINIRIRIEIRIRIRI RGN Bl et el Bl
=
2 N
bl Il ol ol ol ol Il Il Il Il ol Il Il Bl Il Il Il Bl S e e e e e e e R e e R e R e e e e
= N
LI [ Y Y U O N O ) () ) <
= Ns ||| ||| ||| |||
~N
@
e I e R R I I I I I I I I IR I I I I (R R [
= L R O % % T I [ =y ey iy [y [y [ [ [
I
—
e e R e e R e e e e e e R R R R R e R
Sl === == = = [ = ===
Slalo|v|lv|o|~|o|lo|loc|a|es|e|r|o|o|olw|n A
=] B RN R R i e R R N R R
m22222222222222222222
=
B44444444444444444444 —
;
|||~ |=|=|=|=|=|=|=]|~]|~
[32)
[EaJ) [ [ [ N ) [ R N () ) ) e <
= M44444444444444444///
‘R R R B B A B R A A S T S T S A S S T S A S e ~
—
R |||l |<|=|==|=|<|=|=]|=]<]|< Blw|w|w|v|s|v|s|v|x|s]|v|]|v|x|s|v||v|~]|~
[ e ey ey ey =
pll B I I B I IR IR I I I I I R I I IR IR I I I
o o @
Z Qla|la|a|la|alafoa|alofo|ojofo]|o]ofo]o]ofo]o =z
o
= mw44444444444444444444
%11111111122222222223 <
o T o T T [T == === [ |o|ofo]alolo|olo|o]|o]|o]o]o]o]o]s]o]o|
{ -
M11111111122222222223 M44444444444444444///
-
M11111111122222222223 2
~ =~~~ ~|~|~[~[~[~|~|~]|~|~|~|~|«|«]|~
I
~ -
N P N Y R R R S N R B B A A B A B R A B e R
) SRS | RN Q| QI B | 2T [ <
%44444444444444444444
- -
MR R R B B R R B B B B B B B R R B B B R
o ®
m S ||| ||| |||
L R S R I I N I S S S R R B R el R I
o
)
X
Slalo[«v|v|o|~|o|o|els|xe|z]el~la]glalely =
N - hatl il Bl Bl Bl Bl NE DR RN RO m444444444444444/////
N e[|~ ]+ o
o ||| |=|=|=|=|=]+
M44444444444444444444
R R e R R e e R R R e R e R e R e A R -
@
M11111111122222222223 m44444444444444444444
|
M/1234567889.0|ﬂﬁm|~mmﬁmﬂ% <
m44444444444444444444
N e e e e e e e e N e N N e e e e e =~
5 *
SR S U Y N N NN R N R R IR IR IR NI NI N NI NI iy - Slala|afa|oa|a|o|ofoo|ofofofo|a|~~[~]~]|~
-
51gle ololalaldalalalalalale|a|a]v|w
< Bl el Bl Bl N R K R R B R K R R R e A Y Slg|(we NI A S A S R A
g |olg|gl s |=|d|a|S|S|R|a|F|3[=|3|S|a|0|n o |22 S| Y|V|d|ld|o|o|o|o|t|t|T|w|v|w
> |N|[F|F|B|S|IN|[DB|S ||~~~ |~~~ |~ |N|N|N|N e |9|9|9S|z||¥|YN|s|S|q|as|F|v|R|d|S|a|b|=
F lo|lo|lv|lv|lvwlvv|lv|lv|lvwwfwlwlw|w|v|vw|w|w|w > [Qls|F|v|s|R|s|s|=|=||<|~|=|-|=|q|a|d|w
[ RORROR RUR RO RUR RUR RO RUR RUR RO RUR RURROR RUSRURROUR RUSRURROR RO} L wlvlvlvlww/wlv|v|v|lv|w|ww|w|v|wvw|w|w|w
B |202|2|2(2|2|2\2\2|2\2(2|2|2\2\2|2\2(2\g| | & |B|8|5|5\8128\2\2|55)8/28|8,5|2 5|82
S £ (7] QDD 23 R%]
a (=== 1=21=21=21=2=21=2120=2==22=2=222=2> =R I I = I =3 (= [ [ [ [ (=) [ I3 [ [ I3 [ (=3 =3 I
L|L|u|n|b|b|b|b|b|b|b|b|b|b|L|L|o|DL|L|D a (=== 1=21=21=21=2=21=21=2=2=21=20=22120202202
Lo b|o|o|b|o|o|b|o|D|b|L|Dd|D|L|Dd|D

* only for Oval flange (N)

[ shaftin EN 1.4462 (AISI 329A)

128-3: only for motor above 5.5 kW (see drawing pag.247)

244

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE

EVMS(L)10
0 USgpm. 10 20 30 40 50 60 70
| | | | | | | |
I T T T T T T
0 Impgpm. 10 20 30 40 50 60
280 o
P H !
MP
[ 312 ) I ¥=23‘/11 k‘w — It
' 240 +—29/11 — - 800
ﬁ=21‘/75 ‘w - \\\
- \\\\\>\\ L 700
204 ——1 9{7.5 W—— \\\\‘\
——18/75w— — [ ~—~_ N
' N
e N\ - 600
——1 6/‘7.5 k‘W‘ — R \\‘\ ~ \\E\\
—
K BT = LIV ES T~ _ \\\‘ \\\\
= ==
=—14/55w— — e \\\\\ \\\\ - 500
} T ‘\ N \\ \\\\x\
S
L —12/5.5w _ \\\ \\\\\\\\
124 10 R ' — N AN\ - 400
—=—10/4.0 ‘ i E— \\\ \\ \ \\\\\\
= 0 kW— — — —~ ™~
alon T~ RN
— —— . Je— p— - — NN\ \
778;1 0 k\‘N } ‘:\ ~ - \\\\\ L 300
08 g0 A I T~ T~ \\\\\ \\\
— ——7/13.0 | ——— \\\\ \\i RN
- __6/12'2 k\lN‘ — —— — ‘\ \\\ N \\ — 200
— 5/2.2wW—|— — — T— ]
[ I T~
_ = —4/22w—|— — — \\\\‘ \\\\\;\é
04 40 T — ~— ‘\
7‘:3/1.5k\‘N—— — [ — ~—— 100
— T —
::2/0_75 kW=—— — ——— \:\
— I
0 0 0
0 40 80 120 160 200 240 Q [Vmin]
T T T T T T T T T )
0 2 4 6 8 10 12 14 16 Q[mh]
048 80
Py - - n
—— e — 0
(kW] 040 —— % ~< 60 (%]
- L
032 — — 40
/
,/‘ SINGLE IMPELLER kW
024 I I I 20
0 40 80 120 160 200 240 Q [limin]
NPSH 4 NPSH
[m] —— 0
2 -5
0 0
0 40 80 120 160 200 240 Q [imin]
Rotation speed =2900 min-!
Test standard: ISO 9906:2012 - Grade 3B

245

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

\ Piimne Fiirane

Agrometer a/s



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)10

Oval flange (N) DIN Loose round flange (LF) - DN40 Victaulic® connection (V)
¢ 4 holes @18
— 4 s ILT- -
5 g UL L N
& i ‘.ﬂ, ‘ 20 4 holes 212 TT 2110
190 215
A | | G 280 250
£
DIN Round flange (F) - DN40
g 2 holes M2 4 holes @18
T (- I
s — — @Ef :Kg\ G38
- X? <« Hf=1gls % / Pt
%r ””” EY[S 2 c 4?’7 — = jJ
‘ 130 4 holes 912 ‘E ‘ 18 4hole5012‘ 2110 8‘
190 190 ‘ 215
200 280 250
Dimensions [mm] and Weights [Kg]
Motor Ovalflange () | 00 el | Clamp connection (€
Weight Weight Weight
1~ 3~ Weight Pump + Weight Pump + Weight Pump +
pmax | W Size A H2 | Pump  Motor H2 | Pump  Motor H2 | Pump  Motor
Pump Type [MPa] B C H3I| B C H3 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)10 2/0.75 16 [075| 80 |e120| 160 151 232 | 160 139 232 | 343 | 176 | 20 271|343 | 175 [289 27 | 343 | 165 [279 26
EVMS(L)10 3/1.5 16 | 15| 90S |e140| 172 140 278 | 180 148 267 | 383 | 185 |[363 31.2| 383 | 185 |363 312|383 | 174 |352 30.1
EVMS(L)10 4/2.2 16 | 22| 9L |e140| 172 140 278 | 180 148 267 | 413 | 19.3 [388 353 | 413 | 193 |388 353 | 413 | 182 | 38 342
EVMS(L)10 5/2.2 16 | 22| 9L |e140 | 172 140 278 | 180 148 267 | 443 | 202 [39.7 362 | 443 | 201 [39.6 36.1| 443 | 19.1 |386 351
EVMS(L)10 6/2.2 16 | 22| 9L |o140| 172 140 278 | 180 148 267 | 473 | 21 |405 37 | 473 | 21 |405 37 | 473 | 199 |394 359
EVMS(L)10 7/3.0 16 [ 30| 100L | 2160 | - - - | 196 155 306 | 513 | 22 - 448|513 | 219 | - 447|513 | 209 | - 437
EVMS(L)10 8/3.0 16 [ 30| 100L | 2160 | - - - | 196 155 306 | 543 | 22.8 - 456|543 | 228 | - 456|543 | 217 | - 445
EVMS(L)10 9/4.0 16 |40 | 112M | o160 | - - - | 196 155 306 | 573 | 23.7 - 502|573 | 236 | - 501|573 | 226 | - 491
EVMS(L)10 10/4.0 16 |40 | 112M | 0160 | - - - | 196 155 306 | 603 | 245 | - 51 | 603 | 245 | - 51 603 | 234 | - 499
EVMS(L)10 11/4.0 16 |40 | 112M | 2160 | - - - | 196 155 306 | 633 | 26.1 - 526|633 | 26.1 - 526|633 | 25 - 515
EVMS(L)10 12/5.5 16 | 55| 132S | @300 | - - - | 225 160 328 | 761 | 35.9 - 745|761 | 359 | - 745|761 | 348 | - 734
EVMS(L)10 14/5.5 16 | 55| 1325 | 2300 | - - - | 225 160 328 | 821 | 37.8 - 764|821 | 377 | - 763|821 | 367 | - 753
EVMS(L)10 15/5.5 16 | 55| 1325 | 2300 | - - - | 225 160 328 | 851 | 387 - 773|851 | 386 | - 772|851 | 376 | - 762
EVMS(L)10 16/7.5 25 | 75| 132s @300 - - - | 225 160 350 | - - - - | 81| 396 | - 80 |81 | 385 | - 789
EVMS(L)10 18/7.5 25 | 75| 132s @300 - - - | 225 160 350 | - - - - | 941 | 414 | - 818|941 | 403 | - 807
EVMS(L)10 19/7.5 25 |75|132S | 2300 - - - | 225 160 350 | - - - - |97t | 423 | - 827|971 | 412 - 816
EVMS(L)10 21/7.5 25 | 751325 |e300| - - - | 225 160 350 | - - - - [ 1031 441 - 8451031 | 43.1 - 835
EVMS(L)10 22/11 25 11 | 160M | 2350 | - - - | 248 194 476 | - - - - |1001| 464 | - 1089|1091 | 454 | - 1079
EVMS(L)10 23/11 2.5 11 [ 160M | 2350 | - - - | 248 194 476 | - - - - | 121 534 - 1156|1121 | 521 - 1146

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

246

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)10

=

120-13
) v
o Y
140
O
32-1
162 — .
131-1 212
130-2 75
130-1
120-3
e
245 oll
128-1
135-1
212-2
46
N 47
1154 —— | | R
l 54
115-1
1 I
120-1
| 52
32— | || g
N | —53
433 ]
T 44
52-1 L
=
137-1 | \ Q
48—0 T \j
. —N % | 31
\ J 21
5-1
107
273-1
75-1
&) 212-1
T~ 160
/ 128-5
with Round flange (F)
F \ Piimne Fiirnne _ —— ==

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

-
)
-
o2
=z
22
(@]
0>
o
o
o

with Loose round flange (LF)

with Oval flange (N)

\ =— >}
IR\ \\ = l
\ \ ~7 /)
N\ s/ Ny, -\

.Lmv@ﬁ.m\/\
\7/

with Clamp connection (C)

with Victaulic® connection (V)

248

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s

A



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)10

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
1M1 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645
115-3 O-Ring EPDM
115-4 O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw for coupling from from 5.5 kW to 7.5 kW Galvanized steel M8x20 1SO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017
MEC 90-100-112 ) M8x20 1SO 4017
120-13 | Screw for motor Galvanized steel 8.8 strenght class ISO 898/1
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1ISO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
MEC 132 . M12 UNI 5588
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1SO 4032
128-5 Nut for tie rod Galvanized steel M12 UNI 7474
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron
249

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)10

¥
H
%1111111111111111111 OWin|anfnfo|o|o|o|o oo fofo|o|o o oo oo
ha ©
3 —
N R el e e e e e e e e e e e e e e e ﬂ2222222222222222222
- ~
M [t5)
N e e e R R R e e e e e R e R R R R e MR EINRIRIR R RN R R R R IR
T
&
Tlclclalalalalalalclclalalaclalalel<]<]< Slalafala|a|afo|afafo|o oo ~[~[~|~[~[~
b= N
& Q
Dlalalalalalalalalalalalalal<<]<]<]<|< N e R R e e e e e e e e R R I e e e
T N
— -
W lafafafoafafafa|ajoajoalalalalofoafofofoloa SN NN N NN NN NN NN NN NN
N
T
) o~
e I R R R R I I I I I I I IR I I IR I R P R R I I I e e B I R I I [ R R R R I
= ~
=
Tl =l=l=l=|=l=l=l=l=l=|=]<|=|<|=|<|~ = I I I IR I I R I o I I I I I I R I
= =
Zlelelel=l=l=l=l=l=l=l=l<|=]<l=|<|=]|<|~- Blel|=|<[=|=|=|=|=|=|<|=|=|=|<|=|<|~]|+
= =
T
- Lla|a|afaflalajalalala|ofalalo|o]ala|o]a
e e R R R R R e e e e e R e R R R R R <
N3
~ o ~ ololololwlalo [N S Y [ (U S N U B BN NN IR NI N N Y [ (U (U -
m234567891ﬂ1ﬂ1111222 bl
R S S S S I S S S S S S S S S N SR S Y %4444444444/////////
N =
[P (S ) N [ [ U [ G N N N N I <
~ %4444444444444444444
- =
oNRZV1111111111222222223 z =
R e R A e R R R R e R B R R R B R R B
L% [y [ 1)
o
I e e e e e e R e e e e R R R e I e S v w|s|s||w|v|||v|v|]|<|v]|r|]|v]~
e
—
NN o o
€ N N AR A A A A A Al B Al Slo|o|ofofo|o|o|o|lo|o]|o|o|o|o|o|o|o]|o]o
@
W4444444444444444444 ©
Q||| ||| ||~~~ ===~~~
- -
%1111111111222222223 o
%4444444444444444444
mm1111111111222222223 -
@
o ~| ===~~~ ||| |x|<]|=
ololr|lo|o|o|lv|rs|s|o|n|lo|lo
- Rl Il Il Il R Rl o Il B I RN R0 RN RS RV R R R o
— Y
[~ Rl Rl Bl ol Al Il Il Il Il Il Rl Rl Rl ol Rl ol ol Al SERARARARARARARARARAGARIRARARARARARAREAR
b Rl el ol e e e e el el ol o e e e e e e e ®
m4444444444444444444
MR N EEEEEEEEEEE g
PR [ [y ey ey iy ey ey ey iy iy ey ey ey ey o T
S x|~~~ [~|~]|~]~
R R Rl B R B B B R R B B e B R B B B B Isd
)
3 M4444444444444444444
M1111111111222222223 =
o©
Y~ |a|o|v|o|o[r|o|o|o|c|e|e|ele|2|e m4444444444444444444
o
— —
VS e e e e e e e e e e e R R R el e e e R :
SARARARARARANARARARARARARARARIRARARARAN
B R R Rl B B Bl B B B B B B R R B B B B R ~
0 olo|lvw|lvw|vw|v|v|wv|wv
Rlolalalalglele|F|F|8|s]|d|e|n|o|S|E(s g el I el I el e e g g e T T S N I IS RS S
S ~lo| o FF(|ILIQITITINIT|IS(T QIC (VNN |IY|QQ TS| |F|o|S|s|d|c ||
o (2151515521812 I2|2|19|F|2|el=2|e|5|Q(Q g [S|a|F|s|e|R|s[F|S[= (S| [2|2[|2|8||&
a (¥ bl © bl < D Il Il Il Il Il IRl Dl Y B BN > |olo|o|lolo|o|lo|olo|lo|lo|lo|e|o|olo|o|ole
S |olololo|ololololo|ololololololole|e|e N A - - - - A L A A L A A A A - A
[ = P N BN N D B N RS BN DN D D D I [N B DN B jani Bendl Benil Bendl Banil Benl Bl Bl Bl Bl Benl Bl Bl Bl Bl el Bl Bl ey
o [2]2]2|2|2]|2]2|2]2|2(2|2| 2| 2| 2| 2| 2| 2|2 e |55lelalalo5 5|55 86l6laalalala
E [2(2|2|2|2|2|2|2(/2|2|2|2(2|2|2(2(2|2|2 E |212|12|12/2|2|12/2/12|12|2|12|12/12/12|2|2|8|¢
= |212|212|212\2|212\2\2|212\2|21212 2|2) | < lslilElEllilEElcale i E e s e el
o (zlalalalalialalalalalalalialialialalalals L|L|L|bn|b|L|D|0|o|o|D|D|D|L|L|D|o|d|D

* only for Oval flange (N)

** only for Loose round flange (LF)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

250

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



90 H: EVMS

VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE

EVMSG10
0 USgpm. 10 20 30 40 50 60 70
| | | | | | | |
I T T T T T T
0 Imp.gpm. 10 20 30 40 50 60
280 o
P H !
[MPa] m
2o ¥=23‘/11 k‘w —— . . It
' 240 22/11 k=== S
2175 T N
= = 7.5 kW— — N
— — \\\\
- \\\\\>\\ L 700
204 o0 — 197 s~ — \\\\ N
——18/75w— — [ ~—_ N
v N
e N\ - 600
——16/7.5w— — . \\ N \\\\\
1 N \\
1.6 160 -—=—1 5/‘5.5 k‘W‘ — \\\“ \Q\‘ \\\\
= =
=—14/55w— — e \\\\\ \\\\ - 500
} T ‘\ N \\ \\\\x\
S
——12/55kw — \\\ \\\\\\\\
129 40 1 1/‘4.0 k‘W — : E—— ~ ~N \\‘ AN - 400
L 0k | t — \\\ \\ L \\\\\\\
— .0 kw— — —_ e o~
——9/ L 0 k\‘N— : e ‘\\\ \ \\\\\\\\\\\\\
778/‘ o T ‘\\ —~ \\\\ - 30
— T8/3.0mW—|— — — 4 ~
08— — ‘:\ i\\\\ \\\
L TR
— 622 —|— — — = T S~ \\\ - 200
— —5/22 10— — — — ———
[ I T~
o g A22w— = — — T T~ N
' T — —~— T~
——3/15 k\‘N—— — — ~—— 100
— T —
::2/0_75 kW=—— — ——— \:\
— —
0 0 0
0 40 80 120 160 200 240 Q [imin]
T T T T T T T T T s
0 2 4 6 8 10 12 14 16 Q[mh]
048 80
Py - - n
—— e — 0
(kW] 040 —— % ~< 60 [%]
- —
032 e 40
//
,/‘ SINGLE IMPELLER kW
024 l I l 20
0 40 80 120 160 200 240 Q [imin]
NPSH 4 NPSH
[m] —— 0
: -5
0 0
0 40 80 120 160 200 240 Q [imin]
Rotation speed =2900 min-!
Test standard: ISO 9906:2012 - Grade 3B
251
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMSG10

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN40
c c
e -
2 2
© ©
© © ]
|
A G 38 A | e
Va v
ES 2 holes M12 £ 4 holes 918
A
jo “ \ H G - H A 1 %QQ\Q G38
o o y
£ Ueeli=ly 4O 4 HPSHEEREE iy,
_%. MH« _;%g. & ‘ﬂ_‘ 20 4 holes 212 m 2110 &
200 550 190 215
280 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight Pump + Weight Pump +
Pmax | kW Size A H2 | Pump  Motor | yp | pymp  Motor
Pump Type [MPa] B C H3| B C H3 1~ 3~ 1~ 3~
EVMSG10 2/0.75 16 [075| 80 |e120| 160 151 232 | 160 139 232 | 343 | 216 | 33 31.1| 343 | 243 |[357 338
EVMSG10 3/1.5 16 | 15| 90S | @140 | 172 140 278 | 180 148 267 | 383 | 225 |403 352|383 | 253 [431 38
EVMSG10 4/2.2 16 |22 | 90L | @140 | 172 140 278 | 180 148 267 | 413 | 233 |428 393 | 413 | 26 [455 42
EVMSG10 5/2.2 16 |22 | 90L |e140 | 172 140 278 | 180 148 267 | 443 | 242 |43.7 40.2| 443 | 269 |464 429
EVMSG10 6/2.2 16 |22 | 90L |e140 | 172 140 278 | 180 148 267 | 473 | 25 |445 41 | 473 | 277 |472 437
EVMSG10 7/3.0 16 [ 30| 100L | 2160 | - - - | 196 155 306 | 513 | 26 - 488|513 | 287 | - 515
EVMSG10 8/3.0 16 | 30| 100L | 2160 | - - - | 196 155 306 | 543 | 26.8 | - 496 543 | 295 | - 523
EVMSG10 9/4.0 16 | 40| 112M | o160 | - - - | 196 155 306 | 573 | 27.7 | - 542|573 | 304 | - 569
EVMSG10 10/4.0 16 |40 | 112M | 2160 | - - - | 196 155 306 | 603 | 285 | - 55 | 603 | 312 | - 577
EVMSG10 11/4.0 16 | 40 | 112M | 2160 | - - - | 196 155 306 | 633 | 30.1 - 566|633 | 329 | - 594
EVMSG10 12/5.5 16 | 55| 1325 | 2300 | - - - | 225 160 328 | 761 | 399 | - 785|761 | 427 | - 813
EVMSG10 14/5.5 16 | 55| 1325 | @300 | - - - | 225 160 328 | 821 | 418 | - 804|821 | 445 | - 831
EVMSG10 15/5.5 16 | 55| 132S | @300 | - - - | 225 160 328 | 851 | 427 | - 813|851 | 454 | - 84
EVMSG10 16/7.5 25 | 75| 132s | 2300 | - - - | 225 160 350 | - - - - | 881 | 463 | - 867
EVMSG10 18/7.5 25 | 75| 132s | @300 | - - - | 225 160 350 | - - - - | 941 | 477 | - 881
EVMSG10 19/7.5 25 | 75| 132s | 2300 - - - | 225 160 350 | - - - - | 971 | 491 - 895
EVMSG10 21/7.5 25 | 75| 132s | @300 | - - - | 225 160 350 | - - - - |1031| 509 | - 913
EVMSG10 22/11 25 11 [ 160M | 2350 | - . - | 248 194 476 | - - . - | 1001 | 532 - 1157
EVMSG10 23/11 25 11 | 160M | 2350 | - - - | 248 194 476 | - - - - | 1121 | 599 | - 1224

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

252
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW

EVMSG10

NERRR
\/\ 120-13
1
g N GV
140
v
o
32-1
162 — 5
131-1 212
130-2 75
130-1
120-3 h
245 NF
128-1
135-1
212-2 46
¢ /~> 47
154 — | | 1 o
115-1 11
120-1 .
432 — || ] T o
. —
e T 44
52-1 M
137-1 —
48 \:g\§ \j\ O .1
6 T < L
\ L - | | 21
% A 5-1
Q 107
é 75-1
@ 273-1
S 212-1
with Round flange (F)
253
F \ Piimne Fiirnne _ —— ==

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PIPE CONNECTION
EVMSG10

117
120-11
219

with Oval flange (N)

254

I Ty FRARA Piimn< Fiirane
Ag rometer a/S Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk e agrometer @agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG10

N° PART NAME MQJEZIQL DIMENSIONS STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250EN1551

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

44-1 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert M10

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM

107 Liner ring EN 1.4301 (AISI 304) + PPS

1M1 Mechanical Seal SiC / Carbon / EPDM

111-3 Mechanical seal seat EN 1.4301 (AISI 304)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645

115-4 O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121

115-5 O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150

17 Flange gasket EPDM

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12

120-3 Screw A2-70 UNI 7323 M5x12 I1SO 4762
up to 4.0 kW M6x25 I1SO 4762

120-6 Screw for coupling from 5.5 kw to 7.5 kW Galvanized steel M8x20 ISO 4762
above 11 kW M10x30 I1SO 4762

120-11 Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 I1SO 4017

120-13 | Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class 1ISO 898/1 M8x20 IS0 4017
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 I1SO 4017

128-1 Nut for tie rod Galvanized steel M12 UNI 5588

128-3 Nut (motor) MEC 132 Galvanized steel 12 UNI 5588
MEC 160 M16 1SO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel D.5x35 UNI 4838

135-1 Washer Galvanized steel D. 13x24x2.5 UNI 6592

1371 Impeller spacer EN 1.4301 (AISI 304)

. up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

140 Coupling
above 5.5 kW Cast Iron

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

2121 Plug EN 1.4301 (AISI 304) G 3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

255
F \ Piimn< Fiirnne _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG10

|
ww Ol s|r ||| ||| ||| ||| |||~
R e e R e R e R R e e e R e e R R e N
P e e R Y P I 1 1
‘M1111111111111111111 O lala|ala|alalala|a|alalalal<<[<[<|<|~
= I
by Q
Lol e e e e e o e R R e e R R R R R e L R e e R I R I I I I e I I e I I I e
= I
p—
[t IR RV XN [N [P (ROUR RV RN IR [P RV RN IR IR ROV [V NN PN b
= Nls|s s s|s||s| ||| |||~
&
)
L RS S I S S I I R I I R IR R I I [ I I
= o~
R R Bl B A B A R R R A A A R R A R B B
i
R e e e e e e e e e e e R e R e e e
£ S o= == o= = e = = = ===
3] -~
e R e e e R e e e e e e e e R e e e
= Lla|a|afala|a|alalo|alalalo|alalo|o]alo
I
S N N N U U O N U ) (O U (O )
= -
[N [ (R [N QU Y RS QN R R [ [E (R [ S [ [ R N -
5 o|lc|y|s|v|lo|w|o|c|v|x bl
S|la|o|t|w|o|~|o|lo|2c|d|T|eel2|2g (YR =
e
- M4444444444/////////
:7_u4444444444444444444 ]
=
o[<[=[<[<[=[==T=[=<1<[<T<1<T<1<[<[-]= g S S ) ) O O O O O ) et
— =2
Q||| |~ ||| |N|[~N|N|[|o® ~
L) Dl I B e B Il I I I I I I IR I I I I I R I
% g &
g o~
= w4444444444444444444
I R e R e R e e R e e e e e R e e e 2
=
Qla|a|o|afalafo|ofafa|o|o|ofolo|o]|ofolo w3333333333333333333
%1111111111222222223 M4444444444/////////
<
D]l =]=l=l=|=l=lc|c]a]a]alala]a]a]alo %
< Q=== ==|==|=*][||x| |||~
~ =
1357913579935713799
“ Rl R It R R R B A A R R A R A R A R -
%4444444444444444444
- ~—
PO RS R I I N I I R IR R R IR R I I [ I I
e 2
AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR
Slel=l=l=]|=]|=]|=|=|=|=|=|=|=|=|=|=|=|~]|+ I
q
X
oflc|alst|wlole|olc|ale =
b il Tl Sl I el B Rl Sl B K RS R R R R A m4444444444444//////
[N [ [ [ [ [N NI I I i e 1
o[~ [=[=]=[=[=]=[=[<]=[=]=]=]=|]|=]+
M4444444444444444444
A R e e e e e e e e e e e R e e e e e -
©
M1111111111222222223 m4444444444444444444
q
M/1234567899ﬂﬁﬁﬁmmwww Y
m4444444444444444444
N e e e e e e e e e S e e R R e e R ~
5 *
<[] ]=]+ Elaja|afafoafa|afafo|o|o|ofo| <]~ <[=[=][=
ololalalalololalelalele|e|elnln|n| |-
B N N N B D e R R L A A N N BN N R RS w0 Slolw|vwlw|lv|lnvlnv|wn
e [S|s|d|dld|e|g|=|S|E|R|3|8|e|a|s|S|q]a M RNIN R EEE R I N NN N
i Rl el ol g B N N Rl
I A I i I B IO I 2 Il Il Il Il el Il gl Bl B B B o (|9 |9|[9|Q||Tf|S|s|a|lTf|v|e|s|o|c|q|D
N I I I E R B E S E E E R E E R EE WZ345678911111111222
=gl Bl el Il ISl el Il ISl el Il ISl [l ISl [l Il ISl [l ISl IS o|lo|o|o|lo|lo|o|o|o|lo|o|lo|o|olo|o|o|o|o
(- RORNOR O RORNOR NORRORNOR NORRORNOR NORROR NOR NOR RORNOR NOR RO L B = e e e e e e e e e el e =l = e = R
SR =R = = =3 b= I3 (D= (b= [ [ (=3 b= = b= b= [ =3 b= = E |2|2|2(Q2|2|2|R(2|D|R(D|R|R[(D|R[(D[(D|D|D
[ I I I I I I I - S I - I I I I B I - SR =1 = = = I =3 [ I [ [ I = [ [ I3 I [ =3 [
L L | Ll | bl oLl Ll L) [ P = - P D I I I I I I I D I I I I I
L|D|L|D|D|L|Dh|b|L|Dh|b|L|b|o|L|D|ofd|o

* only for Oval flange (N)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

256

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE

EVMS(L)15
0 USgpm 20 30 40 50 60 70 80 90 100 10 120 130
| | ! ! ! ! | ! ! ! ! ! | !
I T T T T T T T T T T 1
0 Imp.g.pm. 20 30 40 50 60 70 80 90 100 110
280
- 900
p H
[MPa] [m] H
= [ft]
24— -
210 17/15 kw _ 800
*\
"5/15 kW | ‘\\ - 700
2.0 *\\ N
200 ~—_ N
T3y T~ N
N i~ AN - 600
T T2hw— | T N AN
[ BT ‘1/‘ | T ™ AN AN
11711 w— __
i s S — N\ -0
I~ T10/11w— L T \\ N \
\ ~+— —— N~ N\
=9/ 1w = —_ ] = — \‘\ \\\\ \\
124 4 | — ~— \‘\ 40
|~ T8rsw—— |, — \\
‘ T— \\ NG
=775 W—— — —~—— N
- ‘ T— - \\‘ NN \\ - 300
- g o 5{5 W T — — \\\ NN
— —5/55wWi— T \\\
= —4/40w— — — = — ~— - 200
4‘ i —
04— 0= 3/3‘.0 W —— — ——
— ~—
—T2/2.2 W= — — — = o 100
| ]
——111w———— — — —
| —
0— 0 0
0 100 200 300 400 Q [limin]
T T T T T T T T T T T T T T T 3
0 2 4 6 8 10 12 14 16 18 20 22 24 2% 2 Qi
14 80
P2 — n
| —
W] 10 — % 60 (%
[kw] // N7 [%]
e
06 — — 40
SINGLE IMPELLER kW
0w l [ l 20
0 100 200 300 400 Q [limin]
NPSH 8 NPSH
2
m _— f
— =10
0 0
0 100 200 300 400 Q [limin]
Rotation speed =2900 min-'
Test standard: 1ISO 9906:2012 - Grade 3B

257

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)15

Oval flange (N) DIN Loose round flange (LF) - DN50 Victaulic® connection (V)
c
4 holes @18
B I ™)
‘ }7 B 1 ‘ 1 et — st G318
o =4 =18 |3 |2 ﬁﬁ%j -
Q) [ —1
£ °’[ ; Ha—t LS5 (.
i I 130 ‘ 22 4 holes @12 ‘TT @125
190 215
A | | G3s 300 250
ﬁ
DIN Round flange (F) - DN50
E 2 holes M12 #holes 018
1T {
I I
£ i o —
|. <« | J,,,Egg$ 5
- s I
s femili=ls o [FREEAEEEE & :
‘ 4 holes @12
130 4 holes @12 130 22 4holes 912 —
190 190
200 250 300 250
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) Victaulic® (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
Weight Weight Weight
1~ 3~ Weight Pump + Weight Pump + Weight Pump +
pmax | W Size A H2 | Pump  Motor H2 | Pump  Motor H2 | Pump  Motor
Pump Type [MPa] B C H3 | B C H3 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)15 1/1.1 1.6 1.1 80 |e120| 160 151 232 | 160 139 232 | 377 18 | 29.8 291|377 | 188 |306 299|377 | 169 |287 28
EVMS(L)15 2/2.2 1.6 22| 9oL |e140| 172 140 278 | 180 148 267 | 387 | 18.3 |37.8 343 | 387 | 191 |[386 351|387 | 172 |367 332
EVMS(L)15 3/3.0 1.6 30 | 100L | o160 | - - - 196 155 306 | 437 | 19.6 - 424|437 | 204 - 432|437 | 185 - 413
EVMS(L)15 4/4.0 1.6 40 | 112M | o160 | - - - 196 155 306 | 477 | 20.8 - 473|477 | 216 - 481 | 477 | 197 - 462
EVMS(L)15 5/5.5 1.6 55 | 132S | 2300 | - - - | 225 160 328 | 614 | 305 - 691|614 | 313 - 69.9| 614 | 294 - 68
EVMS(L)15 6/5.5 1.6 55 | 1325 | @300 | - - - | 225 160 328 | 654 | 317 - 703|654 | 325 - 711 654 | 306 - 692
EVMS(L)15 7/7.5 1.6 75 | 132S | @300 | - - - | 225 160 350 | 694 | 33.9 - 743|694 | 347 - 751 694 | 328 - 732
EVMS(L)15 8/7.5 1.6 75| 132S | 2300 | - - - | 225 160 350 | 734 | 352 - 756 | 734 36 - 764 | 734 | 341 - 745
EVMS(L)15 9/11 1.6 11 | 160M | 8350 | - - - | 248 194 476 | 804 | 365 - 99 | 804 | 373 - 998 | 804 | 354 - 979
EVMS(L)15 10/11 1.6 11 | 160M | @350 | - - - | 248 194 476 | 844 | 37.8 - 1003 844 | 386 - 1011 844 | 367 - 992
EVMS(L)15 11/11 1.6 11 [ 160M | 2350 | - - - | 248 194 476 | 884 | 458 - 108.3| 884 | 46.6 - 109.1| 884 | 447 - 1072
EVMS(L)15 12/11 25 11 | 160M | 8350 | - - - | 248 194 476 | - - - - | 924 | 479 - 110.4| 924 46 - 1085
EVMS(L)15 13/11 2.5 1 | 160M | 2350 | - - - | 248 194 476 | - - - - | 964 | 492 - 17| 964 | 473 - 109.8
EVMS(L)15 15/15 25 15 | 160 M | 2350 | - - - | 317 238 498 | - - - - 1044 | 518 - 1407|1044 | 499 - 1388
EVMS(L)15 17/15 25 15 | 160 M | 2350 | - - - | 317 238 498 | - - - - | 1124 | 547 - 1436|1124 | 528 - M7

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

258

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)15

120-13

with Round flange (F)

259

F \ Piimne Fiirane _ ——
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

m

U &

T

with Loose round flange (LF)

\

260

FRARA Piimn< Fiirane

www.agrometer.dk e agrometer @agrometer.dk

with Clamp connection (C)

VERTICAL MULTISTAGE PUMPS

PIPE CONNECTION

EVMS(L)15

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

EVMS

with Oval flange (N)

=)

_. eﬂ&\a \

with Victaulic® connection(V)

Agrometer a/s

A



90 H: EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMS(L)15

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645
115-3 O-Ring EPDM
115-4 O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017
MEC 90-100-112 . M8x20 1SO 4017
120-13 | Screw for motor Galvanized steel 8.8 strenght class ISO 898/1
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
MEC 132 ) M12 UNI 5588
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1SO 4032
128-5 Nut for tie rod Galvanized steel M12 UNI 7474
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D.5x35 UNI 4838
135-1 Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Carbon Steel
261
F \ Piimn< Fiirnne _ ——

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)15

N°

154 | 1155

245 | 2731|615

1M1-3 (1114 | 111-5 | 115-1|115-3"

m

46 | 47 |48 |52-1| 75 [751| 107

10
12
13

N°

4(51|52(53|54|6|7|21|317*|32-1|432|43-3 434|436 | 44-1| 45™

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

120-1|120-3| 120-6 [ 120-11%|120-13| 128-1| 128-3 | 128-5| 128-6 | 130-1 [ 130-2 | 131-1 | 135-1 | 1356 (137-1(140| 160 | 162 | 212 |212-1|212-2| 219"

4
4
4
4
4
4
4
4
4

Pump Type

EVMS(L)15 1/1.1
EVMS(L)15 2/2.2
EVMS(L)15 3/3.0
EVMS(L)15 4/4.0
EVMS(L)15 5/5.5
EVMS(L)15 6/5.5
EVMS(L)15 7/7.5
EVMS(L)15 8/7.5
EVMS(L)15 9/11

EVMS(L)15 10/11
EVMS(L)15 11/11
EVMS(L)15 12/11
EVMS(L)15 13/11
EVMS(L)15 15/15
EVMS(L)15 17/15

Pump Type

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

** only for Loose round flange (LF)
=[] shaft in EN 1.4462 (AISI 329A)

* only for Oval flange (N)

EVMS(L)15 1/1.1
EVMS(L)15 2/2.2
EVMS(L)15 3/3.0
EVMS(L)15 4/4.0
EVMS(L)15 5/5.5
EVMS(L)15 6/5.5
EVMS(L)15 7/7.5
EVMS(L)15 8/7.5
EVMS(L)15 9/11

EVMS(L)15 10/11
EVMS(L)15 11/11
EVMS(L)15 12/11
EVMS(L)15 13/11
EVMS(L)15 15/15
EVMS(L)15 17/15

262

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE

EVMSG15
0 USgpm. 20 30 | 50 60 70 80 90 100 10 120 130
| | | | | | | | | | | | | |
T T T T T T T T T T T 1
0 Impgpm. 20 30 40 50 60 70 80 90 100 10
280
- 900
p H
[MPa] [m] H
~ [ft]
24— -
210 17/15 kw _ 800
*\
"5/15 kW | ‘\\ - 700
2.0 *\\ N
200 ~— N
~ 13 T~ N
= ™ N - 600
T T2m— | T~ N AN
i T = ‘1/‘ | T ™~ RN AN
1111 w—= __
e e — ANEN 50
I~ T10/11w— | T \\ N \
\ ~+— —— N~ N\
=9/ 11w — — | — — \‘\ \\\\ \\
124 4 | — ~— \‘\ 40
— T8rswv—— || — \\
‘ T— \\ NG
—=7/75w - ———— N
— ‘ \\\ — \\‘ \ \\ = 300
- g o 5{5 W T — — \\\ NN
— —5/55w— T \\\
‘ e ~ ]
= —4/40w— — — = — ~— - 200
}' T \\
04— 0= 3/3‘.0 W —— — ——
— ~—
——2/22w—— — — = o 100
| ]
——111w——— — — —
| —
0 0 0
0 100 200 300 400 Q{limin]
T T T T T T T T T T T T T T T s
0 2 4 6 8 10 12 14 16 18 20 2 24 2% 2 Qmin
14 80
P2 — n
| T —
W] 10 — % 60 (%
[kW] —— n% (%]
—
06 — — 4
SINGLE IMPELLER kW
02 l B l 20
0 100 200 300 400 Q lfmin]
NPSH © NPSH
2
m e U
— =10
0 0
0 100 200 300 400 Q {lfmin]
Rotation speed 2900 min'
Test standard: ISO 9906:2012 - Grade 3B

263

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVMS

VERTICAL MULTISTAGE PUMPS

50 Hz

TECHNICAL DATA
EVMSG15

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN50
C C
‘k%}iﬁ | B
? 2
& g
hd i
A | | cas A | 38
e S
o o
= 2 holes M12 T 4 holes 218
T o Ny PR
s i ) — i PO P SN G358
<« N ﬁl& <~ | 2 ]o 8 Yo
ool < - <328
g dmeli=ls Ak HPSEREE  feeie
‘H B S| I e
% Aholes 012 JI| ‘;%,’; D 130 22 4 holes 912 m 7125 <
200 ‘ %50 190 215
300 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight Pump + Weight Pump +
kW Size A H2 | Pump Motor H2 | Pump Motor
Pmax
Pump Type [MPa] B [o3 H3 B (o] H3 1~ 3~ 1~ 3~
EVMSG15 1/1.1 16 11| 80 |@120| 160 151 232 | 160 139 232 | 377 | 224 |342 335|377 | 269 |387 38
EVMSG15 2/2.2 16 22 90L | @140 | 172 140 278 | 180 148 267 | 387 226 |421 386 | 387 272 | 46.7 432
EVMSG15 3/3.0 16 30| 100L | @160 | - - - | 196 155 306 | 437 24 - 468 437 | 285 - 513
EVMSG15 4/4.0 16 | 40| 1128 | o160 | - - - | 196 155 306 | 477 | 252 - 517|477 | 297 - 562
EVMSG15 5/5.5 16 55 | 1828 | 2300 - - - 225 160 328 | 614 34.9 - 73.5 | 614 39.5 - 78.1
EVMSG15 6/5.5 16 55 | 132S | 2300 - - - 225 160 328 | 654 36.1 - 74.7 | 654 40.7 - 79.3
EVMSG157/7.5 1.6 7.5 | 1328 | 2300 - - - 225 160 350 | 694 38.3 - 78.7 | 694 42.9 - 83.3
EVMSG15 8/7.5 1.6 7.5 | 1328 | 2300 - - - 225 160 350 | 734 39.6 - 80 | 734 44.2 - 84.6
EVMSG15 9/11 16 11 | 160 M | 2350 - - - 248 194 476 | 804 40.9 - 103.4| 804 455 - 108
EVMSG15 10/11 16 11 | 160M | 8350 | - - - | 248 194 476 | 844 | 422 - 1047| 844 | 46.8 - 1093
EVMSG15 11/11 1.6 11 | 160 M | 2350 - - - 248 194 476 | 884 50.2 - 112.7| 884 54.7 - 172
EVMSG15 12/11 25 11 | 160 M | 2350 - - - 248 194 476 - - - - 924 56 - 1185
EVMSG15 13/11 25 1 | 160M | 350 | - - - | 248 194 476 | - - - - | 964 | 573 - 119.8
EVMSG15 15/15 25 15 [ 160 M | 2350 - - - 317 238 498 - - - - 1044 | 59.9 - 1488
EVMSG15 17/15 25 15 | 160 M | 2350 - - - 317 238 498 - - - - 1124 | 62.8 - 1517

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

264

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

265
F

SECTIONAL VIEW

EVMSG15

120-13

with Round flange (F)

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PIPE CONNECTION
EVMSG15

117
120-11
219

with Oval flange (N)

266

I Ty FRARA Piimn< Fiirane
Ag rometer a/S Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk e agrometer @agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG15

N° PART NAME Mé\-;ﬁzlél‘ DIMENSIONS STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250EN1551

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304) -EN 1.4462 (AISI 329A)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)

43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5

441 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert M10

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM

107 Liner ring EN 1.4301 (AISI 304) + PPS

1M1 Mechanical Seal SiC / Carbon / EPDM

111-3 Mechanical seal seat EN 1.4301 (AISI 304)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645

115-4 O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121

115-5 O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150

"7 Flange gasket EPDM

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12

120-3 Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762

120-6 Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel 6.8 strenght class ISO 898/1 M8x20 1SO 4762
above 11 kW M10x30 1SO 4762

120-11 Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017
MEC 90-100-112 M8x20 1SO 4017

120-13 Screw for motor Galvanized steel 8.8 strenght class ISO 898/1
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017

128-1 Nut for tie rod Galvanized steel M12 UNI 5588

128-3 Nut (motor) MEC 132 Galvanized steel M2 UNI 5588
MEC 160 M16 1SO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel D.5x35 UNI 4838

135-1 Washer Galvanized steel D. 13x24x2.5 UNI 6592

137-1 Impeller spacer EN 1.4301 (AISI 304)

. up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

140 Coupling
above 5.5 kW Cast Iron

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

2121 Plug EN 1.4301 (AISI 304) G 3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

267
F \ Piimn< Fiirnne _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG15

N°

75 751 (107 | 111 [111-3|111-4|111-5|115-1{ 1154|1155

-1

46 | 47|48

N°

10
12
13

4(51|52(53|54|6|7[21|31™|32-1[43-2|43-3 |434 | 436 441

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

Pump Type

EVMSG15 1/1.1

EVMSG15 2/2.2

EVMSG15 3/3.0

EVMSG15 4/4.0

EVMSG15 5/5.5

EVMSG15 6/5.5

EVMSG157/7.5

EVMSG15 8/7.5

EVMSG15 9/11

EVMSG15 10/11

EVMSG15 11/11

EVMSG15 12/11

EVMSG15 13/11

EVMSG15 15/15

EVMSG15 17/15

117* {120-1|120-3 | 1206 [ 120-11*| 120-13| 128-1 | 128-3 | 128-6| 130-1| 130-2 | 131-1 [ 135-1 [ 1356 |137-1| 140 | 162 | 212 | 2121 |212-2| 219* | 245 |273-1

2
2

/

/

Pump Type

EVMSG15 1/1.1

EVMSG15 2/2.2

EVMSG15 3/3.0

EVMSG15 4/4.0

EVMSG15 5/5.5

EVMSG15 6/5.5

EVMSG157/7.5

EVMSG15 8/7.5

EVMSG15 9/11

EVMSG15 10/11

EVMSG15 11/11

EVMSG15 12/11

EVMSG15 13/11

EVMSG15 15/15

EVMSG15 17/15

* only for Oval flange (N)

#e [ shaft in EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

268

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMS(L)20
0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
I I I I T I I I I I I| I I I I I T I I I I| I 1
0 Impgpm. 20 30 40 50 60 70 80 90 100 110
280
— 900
]
p 16/18.5 kw
[MPa] L | RN 1 H
= Sty i
24— o ‘1 5\/1\8'5I K L 800 (ft
T T T T — ~——
—14/18.5 kW = T~
T ~— - ~ ~
~— b — ™ ~ ™
1 3/15.kW ! \\\ \\ - 700
207 = NER T B T~ ™\
N
1 2/‘15|kW\ il ~ ~{_ NN
RN L ~— ~
11115 0w T~ - ™ \\\\ I~ 600
Db SN T — ~ N\ N \
‘ | ‘ = — - ™~ N\
. “ \\_1‘0/‘11!(\”\\ 555- \\\ \\ N
S ——— S
B 5‘9/1‘1 | T B SN~ A N\ — 500
KW —
— | L ‘~~§§§ \\\\ \\\ \\
. “é/ 1‘1 kIW h— T~ N\ \\ \
12 ‘ ‘ | T T — —_ §§§§s ‘\\ \\ N \‘ - 400
== T N~ NGO N N
AT~ — 1 I — N \\
1 —— —
tl/ 7‘5 ||<w T — T~ SO
| l T —— —_ ““‘s \\\ ™N\ N\ - 300
——— T~ N\
0.8 80 —— —5/75mW= . I —— L B~ ™ N\
‘ T T ~—— N TN
[ T4ssw—— | T T— ‘\\\ ™ L 200
R — \\\\ ™
3/a.0w—=—— 1 —— - ~_ ~
R ] T~ ™
=23 0w———— 1 —~—— ~ -
T—
i NN ~
— —'1‘/115 W — ——_ 1
0— 0 N I e 0
0 50 100 150 200 250 300 350 400 450 Q [fmin]
[ I I I I I I T I I T I T I T 1
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q [m;h]
18 80
P2 ’———_-—— 555\\ 1
0
kw14 — n% 60 (%]
10 o 40
SINGLE IMPELLER kW
0‘6 i L L L L i L L L L 1 20
0 50 100 150 200 250 300 350 400 450 Q [fmin]
NPSH 10 3 NPSH
(m] — 5 M
5 p—
10
0 0
0 50 100 150 200 250 300 350 400 450 Q [fmin]
Rotation speed =2900 min-'
Test standard: 1ISO 9906:2012 - Grade 3B
269
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rO m ete r a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)20

Oval flange (N) DIN Loose round flange (LF) - DN50 Victaulic® connection (V)
c
4 holes 218
‘ }j - ‘[ 7“7 Il o iy <
- I J\ —— 9 ) G38
@ OI* T8 ] s | 8T
k3 b i =) o e B e
a i ‘ 130 ‘ 22 4 holes @12 m @125 S[
190 215
A | c3s 300 250
ﬁ
DIN Round flange (F) - DN50
g 2 holes M12 4 holes 18
T Iy
I I L—=\J
£ i——h | |—t— z —l% G 38
- L, o = imnieEk e g0l “l%
= <« = S
gl "k 1° 5] i Se R
‘ W 4 holes @12
130 4holes @12 || 130 22 4holes @12 2125 &
190 190 215
200 | ‘.A‘ 300 250
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) Victaulic® (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
Weight Weight Weight
1~ 3~ Weight Pump + Weight Pump + Weight Pump +
Pmax kW  Size A H2 | Pump Motor H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B C H3 B Cc H3 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)20 1/1.5 1.6 15| 90S | @140 | 172 140 278 | 180 148 267 | 387 18.2 36 309 | 387 20 37.8 32.7 | 387.0 171 349 2938
EVMS(L)20 2/3.0 1.6 30 | 100L | o160 | - - - 196 155 306 | 397 | 183 - 411|397 | 1941 - 4193970 | 172 - 40
EVMS(L)20 3/4.0 1.6 40 [ 112M | 2160 - - - 196 155 306 | 437 19.7 - 46.2 | 437 20.5 - 47 | 436.5 18.6 - 45.1
EVMS(L)20 4/5.5 1.6 55 | 1328 | 2300 - - - 225 160 328 | 574 256 - 64.2 | 574 26.4 - 65 | 574.2 245 - 63.1
EVMS(L)20 5/7.5 1.6 75| 132S | 8300 | - - - 225 160 350 | 614 | 26.9 - 673|614 | 277 - 6816142 | 258 - 662
EVMS(L)20 6/7.5 1.6 7.5 | 1328 | 2300 - - - 225 160 350 | 654 28.1 - 68.5 | 654 28.9 - 69.3 | 654.2 27 - 67.4
EVMS(L)20 7/11 1.6 11 | 160 M | 2350 - - - 248 194 476 | 724 30.4 - 929 | 724 31.2 - 93.7 | 724.0 29.3 - 91.8
EVMS(L)20 8/11 1.6 1 | 160M | 350 | - - - 248 194 476 | 764 | 422 - 104.7| 764 43 - 1055 7642 | 41.1 - 1036
EVMS(L)20 9/11 1.6 1 | 160M | 350 | - - - 248 194 476 | 804 | 435 - 106 | 804 | 443 - 106.8| 804.2 | 42.4 - 1049
EVMS(L)20 10/11 25 11 | 160 M | 2350 - - - 248 194 476 - - - - 844 457 - 108.2| 844.2 43.8 - 106.3
EVMS(L)20 11/15 25 15 | 160 M | 9350 | - - - 317 238 498 - - - - | 884 47 - 1359|8842 | 45.1 - 134
EVMS(L)20 12/15 25 15 | 160 M | @350 | - - - 317 238 498 - - - - | 924 | 483 - 137.2| 9242 | 464 - 1353
EVMS(L)20 13/15 25 15 | 160 M | @350 - - - 317 238 498 - - - - 964 496 - 138.5| 964.2 47.7 - 1366
EVMS(L)20 14/18.5 25 18.5| 160 L | 8350 - - - 317 238 542 - - - - 1004 51 - 155 |1004.2| 49.1 - 1531
EVMS(L)20 15/18.5 25 |185| 160L | @350 | - - - 317 238 542 - - - - | 1044 | 523 - 156.3(1044.2| 50.4 - 1544
EVMS(L)20 16/18.5 25 18.5| 160L | 8350 - - - 317 238 542 - - - - 1084 | 53.6 - 157.6(1084.2| 517 - 1557

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

270

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)20

Ty

X& i

\\/ 120-13
g — Jﬂj -

with Round flange (F)

271

F \ Piimne Fiirane _ ——
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

N—_—

with Loose round flange (LF)

272

FRARA Piimn< Fiirane

www.agrometer.dk e agrometer @agrometer.dk

with Clamp connection (C)

VERTICAL MULTISTAGE PUMPS

-
)
-
QS
=z
22
(@]
0>
o
o
o

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

EVMS

with Oval flange (N)

=)

_. eﬂ&\a \

with Victaulic® connection (V)

Agrometer a/s

A



VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMS(L)20
MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645
115-3 O-Ring EPDM
115-4 O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 I1SO 4762
up to 4.0 kW M6x25 I1SO 4762
120-6 Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 ISO 4762
above 11 kW M10x30 I1SO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 I1SO 4017
120-13 Screw for motor MEC 132 Galvanized steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 UNI 5588
MEC 160 M16 1SO 4032
128-5 Nut for tie rod Galvanized steel M12 UNI 7474
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
) up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Carbon Steel
273
F \ Piimn< Fiirnne _ ——

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)20

N°

154 | 1155

1113|1114 | 111-5 | 115-1|115-3*

245 (2731(615**

46 | 47 |48 [52-1| 75 |751 (107 | 111

N°

10
1
12
13

1
1
1

4(51|52(53(54|6|7|21|31| 321|432 433|434 (436 |44-1 | 45™

1
1
1
1
1
1
1
1
1
1
1
1

1
1
1

1

120-1(120-3 120-6 [120-11*(120-13| 128-1| 128-3 | 1285 | 1286 | 130-1 | 130-2 | 131-1| 135-1 | 1356 | 137-1|140| 160 | 162 | 212 |212-1(212-2 | 219"

4
4
4
4
4

4
4
4
4
4
4
4
4

Pump Type

EVMS(L)20 1/1.5

EVMS(L)20 2/3.0

EVMS(L)20 3/4.0

EVMS(L)20 4/5.5

EVMS(L)20 5/7.5

EVMS(L)20 6/7.5

EVMS(L)20 7/11

EVMS(L)20 8/11

EVMS(L)20 9/11

EVMS(L)20 10/11

EVMS(L)20 11/15

EVMS(L)20 12/15

EVMS(L)20 13/15
EVMS(L)20 14/18.5
EVMS(L)20 15/18.5

EVMS(L)20 16/18.5

Pump Type

EVMS(L)20 1/1.5

EVMS(L)20 2/3.0

EVMS(L)20 3/4.0

EVMS(L)20 4/5.5

EVMS(L)20 5/7.5

EVMS(L)20 6/7.5

EVMS(L)20 7/11

EVMS(L)20 8/11

EVMS(L)20 9/11

EVMS(L)20 10/11

EVMS(L)20 11/15

EVMS(L)20 12/15

EVMS(L)20 13/15

EVMS(L)20 14/18.5

EVMS(L)20 15/18.5

EVMS(L)20 16/18.5

* only for Oval flange (N)

** only for Loose round flange (LF)

w« [ shaft in EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

274

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50Hz

VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

0 USgpm. 20 30 40 50 60 70 80 90 100 10 120 130
I L ! |I 1 L ! - 1 5
0 Impgpm. 20 30 40 50 60 70 80 90 100 10
280
- 900
NENRRD
p 16/18.5 kw
[MPa] L | T H
| 15/185kw -~ [ft]
249 I R - 800
LT T T T —— L] ~——
—14/18.5 kW = =~
Ruuy ~—_ ~
P~ —
13/15.kW ! ‘\\\ \\ - 700
207 = NER T B T~ ™\
N
1 ‘2/‘15|kw\ il ~ ~{_ NN
— = <
== 1‘1/‘15|kw‘\ ~ T~ ™~ N\ \\ L 600
‘ | T T — R T~ NN \\
16 e 10Men_ T T S :
= £‘9/1‘1 | T T N \\ N\ - 500
kW || — ~
e T O
I 7=8/11kw \"5“5— T ~— N \\ \\
T il — TN N
12 4 | | - = T ~ \\\ N I 400
— — —
7\/1\1 k|W I i L “““ \\\\ \\ \\ \
B — T~ NG N
6/7.5mw—_—__ | —
N — T N \\ N - 300
—_— ~
0.8 80 —— —5/75mW= . I —— B~ ™ N\
| T — '~
[ T4ssw—— | T T— ‘\\\ ™ L 200
n == ~_ ™~
T —— ~
3/a.0w—=—— 1 —— - ~_ ~
i wf] ~
— —
——2B30w—— | ———_ ~ ”
| - [
— —'1‘/115 W — ——_ 1
0- 0 | I 0
0 50 100 150 200 250 300 350 400 450 Q [Vmin]
T T T T T T T T T T T T T T 1
0 2 4 8 10 12 14 16 18 20 22 24 2 28 Qmd
18 80
— n
P2 ’—’—_-— 555\\ o
kw14 — n% 60 [%]
10 T 40
SINGLE IMPELLER kW
0‘6 i L L L L i L L L L 1 20
0 50 100 150 200 250 300 350 400 450 Q [Vmin]
NPSH 0 30 NPSH
(m] — 5 [
5 p—
10
0 0
0 50 100 150 200 250 300 350 400 450 Q Vmin]
Rotation speed =2900 min-'
Test standard: 1ISO 9906:2012 - Grade 3B
275
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rO m ete r a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

TECHNICAL DATA
EVMSG20

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN50
c c
1 18 } B
? 2
@ A
& A
A G38 A | e
E
o
= 2 holes M12 < 4 holes @18
I I ]
[ G38 5 =S s
" | i =t =t —_ 2 638
- ~ - 3lS |8 S
- e € =gl e
£ melf=s A, T HPEIEEEE il
H .
}gg 4 holes @12 ;?g N‘ 130 22 4 holes @12 m 0125 <
200 250 190 215
300 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight Pump + Weight Pump +
kW Size A H2 | Pump  Motor H2 | Pump  Motor
Pmax
Pump Type [MPa] B C H3 | B C H3 1~ 3~ 1~ 3~
EVMSG20 1/1.5 16 | 15| 90S | @140 | 172 140 278 | 180 148 267 | 387 | 22.6 |404 353 | 387 | 272 | 45 39.9
EVMSG20 2/3.0 16 | 30| 100L | @160 | - - - | 196 155 306 | 397 | 22.7 - 455|397 | 273 - 5041
EVMSG20 3/4.0 16 | 40 | 112M | 2160 | - - - | 196 155 306 | 437 | 24.1 - 506|437 | 287 - 552
EVMSG20 4/5.5 16 | 55| 132S | 2300 | - - - | 225 160 328 | 574 | 30 - 686|574 | 346 - 732
EVMSG20 5/7.5 16 | 75| 132S | @300 | - - - | 225 160 350 | 614 | 31.2 - 716|614 | 359 - 763
EVMSG20 6/7.5 16 | 75| 132S | @300 | - - - | 225 160 350 | 654 | 325 - 729 654 | 371 - 775
EVMSG20 7/11 1.6 11 | 160M | 2350 | - - - | 248 194 476 | 724 | 34.8 - 973|724 | 394 - 1019
EVMSG20 8/11 1.6 11 | 160M | 2350 | - - - | 248 194 476 | 764 | 46.6 - 109.1| 764 | 51.2 - 137
EVMSG20 9/11 1.6 11 | 160M | 2350 | - - - | 248 194 476 | 804 | 47.9 - 1104| 804 | 525 - 15
EVMSG20 10/11 2.5 11 | 160M | 2350 | - - - | 248 194 476 | - - - - | 844 | 539 - 1164
EVMSG20 11/15 2.5 15 | 160 M | 8350 | - - - | 317 238 4908 | - - - - | 884 | 552 - 1444
EVMSG20 12/15 2.5 15 | 160 M | 8350 | - - - | 317 238 498 | - - - - | 924 | 565 - 1454
EVMSG20 13/15 2.5 15 | 160 M | 8350 | - - - | 317 238 498 | - - - - | 964 | 579 - 1468
EVMSG20 14/18.5 25 [185| 160L | @350 | - - - | 317 238 542 | - - - - | 1004 | 592 - 1632
EVMSG20 15/18.5 25 [185| 160L | @350 | - - - | 317 238 542 | - - - - | 1044 | 605 - 1645
EVMSG20 16/18.5 25 [185| 160L | @350 | - - - | 317 238 542 | - - - - | 1084 | 618 - 1658

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

276
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

277
F

SECTIONAL VIEW

EVMSG20

120-13

with Round flange (F)

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVM S VERTICAL MULTISTAGE PUMPS 90 Hz

PIPE CONNECTION
EVMSG20

117
120-11
219

with Oval flange (N)

278

I Ty FRARA Piimn< Fiirane
Ag rometer a/S Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk e agrometer @agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG20

N° PART NAME Mé{;ﬁg'é" DIMENSIONS STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250EN1551

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304) -EN 1.4462 (AISI 329A)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)

43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5

44-1 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert M10

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM

107 Liner ring EN 1.4301 (AISI 304) + PPS

1M Mechanical Seal SiC / Carbon / EPDM

111-3 Mechanical seal seat EN 1.4301 (AISI 304)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645

115-4 O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121

115-5 O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150

"7 Flange gasket EPDM

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12

120-3 Screw A2-70 UNI 7323 M5x12 I1SO 4762
up to 4.0 kW M6x25 I1SO 4762

120-6 Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel 6.8 strenght class ISO 898/1 M8x20 ISO 4762
above 11 kW M10x30 I1SO 4762

120-11 Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 1SO 4017

120-13 Screw for motor MEC 132 Galvanized steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017

128-1 Nut for tie rod Galvanized steel M12 UNI 5588

128-3 Nut (motor) MEC 132 Galvanized steel w2 UNI 5588
MEC 160 M16 1SO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel D.5x35 UNI 4838

135-1 Washer Galvanized steel D. 13x24x2.5 UNI 6592

1371 Impeller spacer EN 1.4301 (AISI 304)

i up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

140 Coupling
above 5.5 kW Cast Iron

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G3/8

2121 Plug EN 1.4301 (AISI 304) G 3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

279
F \ Piimn< Fiirnne _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG20

0 s
:1_u1111111111111111 Q ||| || |||
- o~
M1111111111111111 %2222222222222222
VY )
Wl laflaflafo|afajo|o|oa|ofoaloafoalofolo NMBINE R RIRR i e
o
il NN Y N G N Y O R N O O (N PR [ S U N U U N O O ) )
= N
hj po
El e R e e e o e e o ol e R e e R R A A A A R R
- N
)
=1 Al sl el Al Al el el el el A Bl Bl Bl Bl B Slolelelel=l=]=|=l=[=]=]=|=]=]|~|-
= N
L= el Rl o Rl el Rl el ol Rl Al -] [FFR [ [ N [N [ G ) R e
-
5 ol |a|o|s|w|o
ISl I (il Al R Bl Il el ol Bl Il Il el R lalafala|a|alala|afaloa|o]ala|o]a
-
R ARARAR AR AR AR AR AR AR AR AR AR AR AR AR N3
R Sli=l={=l=<1=|=|<|=|<|=|=|~|=|~|—
[ro ) [RSNGB U (U U ) U U (U (N
~
gl<l<l<=|<[=|<[<[=|<[<]<[<]<[=]-
— ~
IR R Bl B R A N S N A S A S A I R Y
o —
R A R I A R A A R R
A e N I I I I I I I ®
-
e e R I e el I I I e I I I I I I <
. - - e R e R R e R e e R R R e
=z z _—
Ll |afafo|afo oo fo|onfor|o|onfe o
M4444444444444444
— b=
%1111112222222222
=
% m3333333333333333
<
5 &<l [ =<[<I<[<[~[<[<[<[<]<]<]-
e Bl R R Rl R S S I S S S S ST S SR S q
<
©
%1111112222222222 %///4444444444444
< a
M1135799135791357 <
< Al Rl Rl B A IR IO IR %4444444444444444
o
i S O N R [ R R O O o 5
) -
EIRARAR AR AR AR AR AR AR AR AR AR AR AR
S
NN e §
) =
=
SN[ |v|o|~lo|lo |2 [2[(T|L|e m444444444///////
N S N S G e N N e S G S R =
[ e e Il e ol I e Il e Il I e I e I M4444444444444444
=
M1111111111111111 -
m4444444444444444
N Rl R Rl el R e NN R N0 RN RN N0 EN) RN N R VR R -
o =) N[ ® by
S|~V F|w|o|~M|olo| 25| S N4444444444444444
-
—
VS R R e R R R e R R R R R R R Rl "
[l PN IRV IR N SV IRV IRV [V NV IRV S I O ) [ I
Ol R R Rl B R Rl B B B B B R R B B R -
AEIES MR
- wlw|w|w|wo -
wlololw|ulv| | |S|2|2](8|C[2|E LY G I NN IRl [ (S N o o} o) e el o e
9 |ZIQT(LIX|X|IZIZIS|o|=|q|a|S|v|e o |[T|olflgi|x|Z|ZI(S|o|c|q|a|T|v|e
N B B B B B N B L D B D D B el B 2 [F|q|s|F|v|S|IR|d|d|=|F|~|~|[~|~]|~
ololo|lo|lo|lo|lo|lo|lo|lolo|o|o|lo|o|o >
L N N B B R S B B A S B B B B R B = RIRNRNRINRINRNKIRINIINSIRKNRINSNIKIRKNR
- RORNOR NORRORNOR NORRORNOR NORRORNOR NORRORNOR NOR RO} [ EOR NOR ORROR NOR RORROR NOR NORRORNOR RORROR RO NOR RO}
E|2\2)2\2|2\2|2|2|2|2(2)2(2)2 22| | £ |2\2|2|2|2]2|2(2 2|2 2] \2/22|2
S S
a (=== 1=21=21=21=2=21=21202=2=22020> a (=== 1=21=21=21=21=21=212121=20212120>
||| |L|b|o|L|b|D|L|l|o|o|l U|u|u|o|n|L|o||D|Do|DL|u|L|D|D|D

* only for Oval flange (N)

#« [ shaft in EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

280

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PACKING DRAWING
EVMS(.)1-3-5-10-15-20

TYPE 1
f iz
I N
Y4 \/X
TYPE 2
i
T
| B
3 Z hVA
TYPE 3

N

J/WM/H/LB

\/x

281

F \ Piimne Fiirnne ., ...
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
; I Agrometer a/s

www.agrometer.dk e agrometer @agrometer.dk




EVM S VERTICAL MULTISTAGE PUMPS 50 Hz

PACKING DATA
EVMS(.)1-3-5

Pumps Pumps with motor ~1 Pumps with motor ~3
Packing Weight + Packing Packing Weight + Packing Packing Weight + Packing
Pume Type (mm] [ka] Pack (mm] [ka] Pack (mm] [ka] Pack
X Y Z |EVMS(L)| EVMSG e X Y Z |EVMS(L) | EVMSG VP X Y Z |EVMS(L) | EVMSG VP
EVMS(.)1 2/0.37 385 | 400 | 385 12.3 19.3 1 385 | 400 585 20.2 27.2 1 385 400 585 18.9 25.9 1
EVMS(.)1 3/0.37 385 | 400 | 385 12.8 19.8 1 385 | 400 585 20.7 27.7 1 385 400 585 19.4 26.4 1
EVMS(.)1 4/0.37 385 | 400 | 385 13.2 20.2 1 385 | 400 770 21.5 28.4 1 385 400 770 20.2 271 1
EVMS(.)1 5/0.37 385 | 400 | 585 14.2 21.2 1 385 400 770 22.0 28.9 1 385 400 770 20.7 27.6 1
EVMS(.)1 6/0.37 385 | 400 | 585 14.6 21.6 1 385 | 400 770 22.4 29.3 1 385 400 770 21.1 28.0 1
EVMS(.)1 7/0.37 385 | 400 | 585 15.0 22.0 1 385 | 400 770 22.8 29.7 1 385 400 770 215 28.4 1
EVMS(.)1 8/0.37 385 | 400 | 585 15.5 22.5 1 385 | 400 770 23.3 30.2 1 385 400 770 22.0 28.9 1
EVMS(.)1 9/0.55 385 | 400 | 585 15.9 22.9 1 385 400 770 25.1 32.0 1 385 400 770 22.8 29.7 1
EVMS(.)1 10/0.55 385 | 400 | 585 16.3 23.3 1 385 | 400 770 25.5 32.4 1 385 400 770 23.2 30.1 1
EVMS(.)1 11/0.55 385 | 400 | 585 16.8 23.8 1 385 | 400 770 26.0 32.9 1 385 400 770 23.7 30.6 1
EVMS(.)1 12/0.55 385 | 400 | 585 17.5 245 1 385 | 400 770 26.7 33.6 1 385 400 970 244 31.3 1
EVMS(.)1 13/0.55 385 | 400 | 585 18.1 25.1 1 385 | 400 970 27.9 34.9 1 385 400 970 25.6 32.6 1
1 | EVMS(.)1 14/0.75 385 | 400 | 770 19.3 26.3 1 385 400 970 31.5 38.5 1 385 400 970 29.6 36.6 1
EVMS(.)1 16/0.75 385 | 400 | 770 20.3 27.3 1 385 | 400 970 325 39.5 1 385 400 970 30.6 37.6 1
EVMS(.)1 18/1.1 385 | 400 | 770 21.4 28.4 1 385 | 400 970 34.0 41.0 1 385 400 970 33.3 40.3 1
EVMS(.)1 20/1.1 385 | 400 | 770 22.4 29.4 1 385 | 400 970 35.0 42.0 1 385 400 970 34.3 41.3 1
EVMS(.)1 22/1.1 385 | 400 | 770 23.6 30.6 1 385 | 400 1170 36.8 43.7 1 385 400 1170 36.1 43.0 1
EVMS(.)1 24/1.1 385 | 400 | 970 25.0 32.0 1 385 400 1170 37.8 44.7 1 385 400 1170 371 44.0 1
EVMS(.)1 26/1.1 385 | 400 | 970 26.0 33.0 1 385 | 400 1170 38.8 45.7 1 385 400 1170 38.1 45.0 1
EVMS(.)1 27/1.5 385 | 400 | 970 26.4 33.4 1 400 | 510 | 1200 45.2 61.1 1] 2| 38 400 1170 41.4 48.3 1
EVMS(.)1 29/1.5 385 | 400 | 970 27.4 34.4 1 500 525 | 1350 66.1 73.0 3 500 525 | 1350 62.3 69.2 3
EVMS(.)1 32/1.5 385 | 400 | 1170 29.3 36.2 1 500 525 1350 67.4 74.3 3 500 525 1350 63.6 70.5 3
EVMS(.)1 34/1.5 385 | 400 | 1170 30.2 37.1 1 500 | 525 | 1350 68.3 75.2 3 500 525 | 1350 64.5 714 3
EVMS(.)1 37/2.2 385 | 400 | 1170 31.6 38.5 1 500 525 | 1540 74.1 81.9 3 500 525 | 1540 69.5 77.2 3
EVMS(.)1 39/2.2 385 | 400 | 1170 32.6 39.5 1 500 525 | 1540 75.1 82.1 3 500 525 | 1540 68.9 75.8 3
EVMS(.)3 2/0.37 385 | 400 | 385 12.4 17.6 1 385 | 400 600 20.3 25.5 1 385 400 585 19.0 24.2 1
EVMS(.)3 3/0.37 385 | 400 | 385 12.8 18.0 1 385 400 600 20.7 259 1 385 400 585 19.4 24.6 1
EVMS(.)3 4/0.37 385 | 400 | 385 13.2 18.5 1 385 | 400 770 215 26.8 1 385 400 770 20.2 255 1
EVMS(.)3 5/0.55 385 | 400 | 585 14.2 19.4 1 385 | 400 770 23.4 28.6 1 385 400 770 21.1 26.3 1
EVMS(.)3 6/0.55 385 | 400 | 585 14.6 19.8 1 385 | 400 770 23.8 29.0 1 385 400 770 21.5 26.7 1
EVMS(.)3 7/0.75 385 | 400 | 585 15.5 20.7 1 385 400 770 27.6 32.8 1 385 400 770 25.7 30.9 1
EVMS(.)3 8/0.75 385 | 400 | 585 16.0 21.2 1 385 | 400 770 28.1 33.3 1 385 400 770 26.2 31.4 1
EVMS(.)3 9/1.1 385 | 400 | 585 16.4 21.6 1 385 | 400 770 28.9 34.1 1 385 400 770 28.2 33.4 1
EVMS(.)3 10/1.1 385 | 400 | 585 16.9 221 1 385 | 400 770 29.4 34.6 1 385 400 770 28.7 33.9 1
EVMS(.)3 11/1.1 385 | 400 | 585 17.3 22.5 1 385 | 400 970 30.4 35.6 1 385 400 970 29.8 34.9 1
EVMS(.)3 12/1.1 385 | 400 | 585 18.0 23.2 1 385 400 970 31.1 36.3 1 385 400 970 30.4 35.6 1
EVMS(.)3 13/1.5 385 | 400 | 770 19.0 24.2 1 385 | 400 970 37.6 42.8 1 385 400 970 33.8 38.7 1
3 | EVMS(.)3 14/1.5 385 | 400 | 770 19.4 24.6 1 385 | 400 970 38.0 43.2 1 385 400 970 34.2 39.4 1
EVMS(.)3 15/1.5 385 | 400 | 770 19.9 25.1 1 385 | 400 970 38.5 43.7 1 385 400 970 34.7 39.9 1
EVMS(.)3 16/1.5 385 | 400 | 770 20.9 26.1 1 385 400 970 39.6 44.7 1 385 400 970 35.7 40.7 1
EVMS(.)3 17/2.2 385 | 400 | 770 21.4 26.6 1 385 400 970 41.7 46.9 1 385 400 970 38.2 43.4 1
EVMS(.)3 19/2.2 385 | 400 | 770 22.4 27.6 1 385 | 400 1170 43.3 48.5 1 385 400 1170 39.8 45.0 1
EVMS(.)3 21/2.2 385 | 400 | 770 23.3 28.5 1 385 | 400 1170 44.2 49.0 1 385 400 1170 40.7 45.9 1
EVMS(.)3 23/2.2 385 | 400 | 970 24.7 29.9 1 385 | 400 1170 45.2 49.4 1 385 400 1170 41.7 46.9 1
EVMS(.)3 24/2.2 385 | 400 | 970 251 30.4 1 385 400 1170 45.6 49.8 1 385 400 1170 421 47.3 1
EVMS(.)3 25/3.0 385 | 400 | 970 25.7 30.9 1 - - - - - - 400 510 1200 49.5 63.7 112
EVMS(.)3 27/3.0 385 | 400 | 970 26.7 31.9 1 - - - - - - 500 525 1350 70.4 75.6 3
EVMS(.)3 29/3.0 385 | 400 | 970 27.6 32.9 1 - - - - - - 500 525 | 1350 71.3 76.6 3
EVMS(.)3 31/3.0 385 | 400 | 1170 29.2 34.4 1 - - - - - - 500 525 | 1350 72.3 77.5 3
EVMS(.)3 33/3.0 385 | 400 | 1170 30.0 35.2 1 - - - - - - 500 525 | 1350 73.1 78.3 3
EVMS(.)5 2/0.37 385 | 400 | 385 12.9 19.4 1 385 | 400 600 20.8 27.3 1 385 400 585 19.5 26.0 1
EVMS(.)5 3/0.55 385 | 400 | 385 13.4 19.9 1 385 | 400 770 23.1 29.5 1 385 400 770 20.8 27.3 1
EVMS(.)5 4/0.75 385 | 400 | 585 14.9 214 1 385 | 400 770 27.0 33.4 1 385 400 770 25.1 31.6 1
EVMS(.)5 5/1.1 385 | 400 | 585 15.5 21.9 1 385 400 770 27.9 34.4 1 385 400 770 27.2 33.7 1
EVMS(.)5 6/1.5 385 | 400 | 585 16.1 225 1 385 | 400 770 34.6 41.0 1 385 400 770 30.8 34.3 1
EVMS(.)57/1.5 385 | 400 | 585 16.5 22.9 1 385 | 400 970 35.6 42.0 1 385 400 970 31.8 38.2 1
EVMS(.)5 8/2.2 385 | 400 | 585 17.0 23.5 1 385 | 400 970 37.8 44.3 1 385 400 970 34.3 40.8 1
EVMS(.)5 9/2.2 385 | 400 | 585 17.6 24.0 1 385 | 400 970 38.4 44.8 1 385 400 970 34.9 41.3 1
EVMS(.)5 10/2.2 385 | 400 | 770 18.5 25.0 1 385 | 400 970 38.8 45.3 1 385 400 970 35.3 41.8 1
5 EVMS(.)5 11/2.2 385 | 400 | 770 19.4 25.8 1 385 | 400 970 39.7 46.1 1 385 400 970 36.2 42.6 1
EVMS(.)5 12/3.0 385 | 400 | 770 20.6 27.0 1 - - - - - - 385 400 970 44.5 49.9 1
EVMS(.)5 13/3.0 385 | 400 | 770 21.2 27.6 1 - - - - - - 400 510 | 1200 45.4 60.8 112
EVMS(.)5 14/3.0 385 | 400 | 770 21.7 28.2 1 - - - - - - 400 510 | 1200 45.9 61.4 112
EVMS(.)5 15/3.0 385 | 400 | 770 22.8 29.2 1 - - - - - - 400 510 | 1200 47.0 62.4 112
EVMS(.)5 17/4.0 385 | 400 | 970 23.9 30.3 1 - - - - - - 400 510 | 1200 60.4 66.8 2
EVMS(.)5 19/4.0 385 | 400 | 970 25.0 31.4 1 - - - - - - 400 510 1200 61.5 67.9 2
EVMS(.)5 20/4.0 385 | 400 | 970 27.3 33.7 1 - - - - - - 500 525 1350 74.6 81.0 3
EVMS(.)5 23/5.5 385 | 400 | 1170 34.5 40.9 1 - - - - - - 500 525 1540 96.1 102.5 3
EVMS(.)5 25/5.5 385 | 400 | 1170 35.5 41.9 1 - - - - - - 500 525 | 1540 97.1 103.5 3
EVMS(.)5 27/5.5 500 [ 525 | 1350 57.3 63.8 3 - - - - - - 500 525 | 1540 98.6 105.1 3

282
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PACKING DATA
EVMS(.)10-15-20

Pumps Pumps with motor ~1 Pumps with motor ~3
Packing Weight + Packing Packing Weight + Packing Packing Weight + Packing
Pume Type (mm] [ke] Pack mm] Ikal Pack mm] [ka] Pack
x| v | z |evmsp|ewse| ¥P | x | v | z |ewsw|ewse| TP | x | v | z |evmsy [evmss| PP
EVMS(.)10 2/0.75 385 | 400 | 585 19.9 26.7 1 385 | 400 | 770 32.0 38.8 1 385 | 400 | 770 30.1 36.9 1
EVMS(.)10 3/1.5 385 | 400 | 585 20.9 27.7 1 385 | 400 | 770 39.4 46.2 1 385 | 400 | 770 35.6 42.4 1
EVMS(.)10 4/2.2 385 | 400 | 585 21.7 28.4 1 385 | 400 | 770 41.9 48.6 1 385 | 400 | 770 38.4 45.1 1
EVMS(.)10 5/2.2 385 | 400 | 585 22.5 29.3 1 385 | 400 | 970 43.3 49.4 1 385 | 400 | 970 39.8 46.6 1
EVMS(.)10 6/2.2 385 | 400 | 585 23.4 30.1 1 385 | 400 | 970 44.2 50.0 1 385 | 400 | 970 40.7 47.4 1
EVMS(.)10 7/3.0 385 | 400 | 585 243 31.1 1 - - - - - - 400 | 510 | 1200 48.4 64.8 1 | 2
EVMS(.)10 8/3.0 385 | 400 | 770 25.7 324 1 - - - - - - 400 | 510 | 1200 49.3 65.6 1 | 2
EVMS(.)10 9/4.0 385 | 400 | 770 26.5 33.3 1 - - - - - - 400 | 510 | 1200 63.4 70.2 2
EVMS(.)10 10/4.0 385 | 400 | 770 27.4 341 1 - - - - - - 400 | 510 | 1200 64.2 71.0 2
10 | EVMS(.)10 11/4.0 385 | 400 | 770 29.0 35.8 1 - - - - - - 400 | 510 | 1200 65.9 72.7 2
EVMS(.)10 12/5.5 385 | 400 | 970 39.2 46.0 1 - - - - - - 400 | 510 | 1200 87.8 94.6 2
EVMS(.)10 14/5.5 385 | 400 | 970 41.0 47.8 1 - - - - - - 500 | 525 | 1350 100.5 107.3 3
EVMS(.)10 15/5.5 385 | 400 | 970 41.9 48.7 1 - - - - - - 500 | 525 | 1350 101.4 108.2 3
EVMS(.)10 16/7.5 385 | 400 | 970 42.9 49.6 1 - - - - - - 500 | 525 | 1350 104.2 110.9 3
EVMS(.)10 18/7.5 400 | 510 | 1200 45.3 60.6 112 - - - - - - 500 | 525 | 1540 108.5 114.8 3
EVMS(.)10 19/7.5 400 | 510 | 1200 46.2 62.0 112 - - - - - - 500 | 525 | 1540 109.9 116.7 3
EVMS(.)10 21/7.5 400 | 510 | 1200 48.0 63.8 1|2 - - - - - - 500 | 525 | 1540 111.4 118.2 3
EVMS(.)10 22/11 400 | 510 | 1200 59.3 66.1 2 - - - - - - 610 | 525 | 1750 136.1 142.9 3
EVMS(.)10 23/11 500 | 525 [ 1350 76.8 83.6 3 - - - - - - 610 | 525 [ 1750 142.0 148.8 3
EVMS(.)15 1/1.1 385 | 400 | 585 21.2 29.3 1 385 | 400 | 770 33.7 41.8 1 385 | 400 | 770 33.0 41.1 1
EVMS(.)15 2/2.2 385 | 400 | 585 215 29.6 1 385 | 400 | 770 41.7 49.8 1 385 | 400 | 770 38.2 46.3 1
EVMS(.)15 3/3.0 385 | 400 | 585 22.8 30.9 1 - - - - - - 400 | 510 | 1200 46.9 64.6 1 |2
EVMS(.)15 4/4.0 385 | 400 | 585 24.0 32.1 1 - - - - - - 400 | 510 | 1200 60.2 69.5 2
EVMS(.)15 5/5.5 385 | 400 | 770 34.2 42.4 1 - - - - - - 400 | 510 | 1200 83.2 91.4 2
EVMS(.)15 6/5.5 385 | 400 | 770 35.4 43.6 1 - - - - - - 400 | 510 | 1200 84.4 92.6 2
EVMS(.)15 7/7.5 385 | 400 | 770 37.6 45.8 1 - - - - - - 400 | 510 | 1200 88.4 96.6 2
15 | EVMS(.)15 8/7.5 385 | 400 | 970 39.4 47.5 1 - - - - - - 400 | 510 | 1200 89.7 97.9 2
EVMS(.)15 9/11 400 | 510 | 1200 45.4 63.0 1 2 - - - - - - 500 | 525 | 1350 125.2 133.2 3
EVMS(.)15 10/11 400 | 510 | 1200 47.7 65.3 112 - - - - - - 500 | 525 | 1540 127.8 136.0 3
EVMS(.)15 11/11 400 | 510 | 1200 49.9 67.6 112 - - - - - - 500 | 525 | 1540 135.3 144.4 3
EVMS(.)15 12/11 400 | 510 | 1200 60.8 68.9 2 - - - - - - 500 | 525 | 1540 137.3 145.4 3
EVMS(.)15 13/11 400 | 510 | 1200 62.1 70.2 2 - - - - - - 500 | 525 | 1540 138.6 146.7 3
EVMS(.)15 15/15 400 | 510 | 1200 64.7 72.8 2 - - - - - - 610 | 525 | 1750 167.6 175.7 3
EVMS(.)15 17/15 500 | 525 | 1350 78.9 87.0 3 - - - - - - 610 | 525 | 1750 170.5 178.6 3
EVMS(.)20 1/1.5 385 | 400 | 585 214 29.6 1 385 | 400 | 770 39.7 44.9 1 385 | 400 | 770 39.0 44.2 1
EVMS(.)20 2/3.0 385 | 400 | 585 22.0 30.2 1 - - - - - - 385 | 400 | 770 45.0 49.5 1
EVMS(.)20 3/4.0 385 | 400 | 585 22.9 31.1 1 - - - - - - 400 | 510 | 1200 50.0 68.5 112
EVMS(.)20 4/5.5 385 | 400 | 770 29.3 37.5 1 - - - - - - 400 | 510 | 1200 78.3 86.5 2
EVMS(.)20 5/7.5 385 | 400 | 770 30.6 38.8 1 - - - - - - 400 | 510 | 1200 81.4 89.6 2
EVMS(.)20 6/7.5 385 | 400 | 770 31.8 40.0 1 - - - - - - 400 | 510 | 1200 82.6 90.8 2
EVMS(.)20 7/11 385 | 400 | 970 40.0 48.2 1 - - - - - - 500 | 525 | 1350 119.3 127.5 3
20 EVMS(.)20 8/11 400 | 510 | 1200 46.3 64.1 112 - - - - - - 500 | 525 | 1350 129.7 137.9 3
EVMS(.)20 9/11 400 | 510 | 1200 47.6 65.4 112 - - - - - - 500 | 525 | 1350 131.0 139.2 3
EVMS(.)20 10/11 400 | 510 | 1200 49.0 66.8 112 - - - - - - 500 | 525 | 1540 134.9 143.1 3
EVMS(.)20 11/15 400 | 510 | 1200 50.0 68.1 112 - - - - - - 500 | 525 | 1540 162.8 171.0 3
EVMS(.)20 12/15 400 | 510 | 1200 61.2 69.4 2 - - - - - - 500 | 525 | 1540 164.1 172.3 3
EVMS(.)20 13/15 400 | 510 | 1200 62.5 70.8 2 - - - - - - 500 | 525 | 1540 165.4 173.7 3
EVMS(.)20 14/18.5 400 | 510 | 1200 63.9 72.1 2 - - - - - - 610 | 525 | 1750 181.9 190.0 3
EVMS(.)20 15/18.5 400 | 510 | 1200 65.2 73.4 2 - - - - - - 610 | 525 | 1750 183.2 191.4 3
EVMS(.)20 16/18.5 400 | 510 | 1200 66.5 74.7 2 - - - - - - 610 | 525 | 1750 184.5 192.7 3

283

F \ Piimne Fiirane _ ——
Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

300

I Ty FRARA Piimn< Fiirane
Ag rometer a/s Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk e agrometer @agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS EVM
PRODUCT FEATURES

[General]

1. Pump Type
The EVM is Non-self-priming, vertical multistage in line, centrifugal pumps.

2. Model range
The EVM comes in 32,45 and 64 m3/h flow sizes for the majority market needs.

3. Maximum operating pressure
The EVM can be operated at 16,25 or 30 bar as maximum.

4. Operating temperature range
The EVM can be operated from - 15 to + 120 °C as the maximum

5. Material options
AISI 304, AlISI 316 and Cast iron versions are available.

6. Motor
The EVM can be coupled with the commercial motors that are acquired in the markets.
The EVM can be provided as the electric pump with IE2 motor from 2.2 kW up to 5.5 kW (IE3 on request) and IE3 motor for
the over 7.5 kW.

7. Certifications

Drinking water approval Atmosferes
9 PP explosibles approval
DM174/2004 ACS ATEX 2014/34/UE
CONFoy,,
S AGS:
e - <
Ly s
) . . All variations
Mechanical seal SiC/Carbon_FPM SiC/Carbon_FPM on page 303
EVMSG ° - °
EVMS [} ° °
EVMSL ° - °
e Standard

8. Conform to the provisions of the European directives c €

[Main Product Features]

1. Robust constructions
¢ Commercial motors can be fitted to all of the pump models with additional ball bearing on the bracket.
* Stainless cast bottom casing to ensure 30 bar working pressure.
* Rolling groove pump shaft for high torque transmissions.

2. Energy saving
* High efficiency IE2 and IE3 motor complied with the EuP 2005/32/EC and ErP 2009/125/EC directives.
e The VFD (Variable frequency drive) can be fitted on the motor for the pressure boosting systems.

3. Easy maintenance

The cartridge shaft seal enables the plug in replacement of the shaft seal without disassembling the motor
bracket.

301

F \ Piimne Fiirane _ ——
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

PRODUCT SPECIFICATIONS

PUMP
Version EVMG EVM EVML
Nominal flow rate (mh ) 2 | a5 | e 22 | a5 | e 2 | 45 | &
o’:::“;t;"g Maximum working pressure 1.6/3.0 MPa (16 bar/ 30 bar)
Liquid temperature range -15°Cto 120 °C
Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
EVM 32 EN 1.4301 (AISI 304) + PTFE EN 1.4401 (AISI 316) + PTFE
Liner ring
EVM 45-64 EN 1.4401 (AISI 316) + PTFE
Bottom casing Cast Iron ASTMCF8 ASTMCF8M
Casing cover Cast Iron Cast Iron + Cast Iron +
9 EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
EN 1.4301 (AISI 304) [ [ ) ® ®
Shaft
Key EN 1.4404 (AISI 316L) [ J [ J [ [ ]
Components Shaft s| boari T " bid
Material aft sleeve bearing ungstene carbide
type Cartridge mechanical seal
Shaft Seal
material Silicon Carbide / Carbon / FPM
O-ring EPDM FPM
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Motor Bracket Cast Iron
Tie rod Carbon Steel
Coupling Carbon Steel
Base Cast Iron
Pipe
. Round Flange (DIN) [ [ J [} ([ [ [ ] [ ] [} [ ]
connection
Legend: @ Standard
MOTOR
Frequency 50 Hz
Phase Three Phase
Rotation speed =~ 2900 min'
Power , 22+ 37T KW
Source Power rating
3.0 + 50 HP
230/400 + 10% V  (up to 4 kW)
Voltage
400/690 + 10% V (above 5.5 kW)
Type Electric - TEFC
. IE2: from 2.2 kW up to 5.5 kW (IE3 on request)
Efficiency Level
IE3: above 7.5 kW
Type
No° of poles 2
Protection degree IP 55
Insulation Class F (temperature rise class B)
Thermal Protection PTC
Casing Material Aluminium
Others
IMB14  (up to 4 kW)
Flange mount (IEC motor)
IMB5 (above 5.5 kW)

302

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS EVM

SHAFT SEAL
EVM(.)32-45-64

1. Shaft Seal

D1 D1

I -
3 . d 3
o 1 1
] 2 2
I 3 3
T TS
i LI
\HJ\‘\‘ H F l‘ﬁ!"
up to 25 bar from 25 to 30 bar
Cartridge Unbalanced type Cartridge Balanced type
2. Type of Shaft Seal and Dimensions [mm]
Max Material
Size | operating d D1 L L1 L2 L3 S 1 5 3
[mm] | pressure | [mm] | [mm] | [mm] | [mm] | [mm] | [mm] | [nm] | Stationary Seal .
[bar] Ring Rotary Seal Ring | Rubber
25 39 | 265 (125 | 50 3.5 ) . )
25 25 43 Carbon graphite | Silicon carbide FPM
30 50 | 385 | 11.5 - -
303
F \ Piimn< Fiirnne _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM VERTICAL MULTISTAGE PUMPS 50 Hz

TYPE KEY
EVM(.)32-45-64
eve | [ J[s2f[ JLi [l -Jlof[=][s]] L2200
Phase motar
nul#* 3 phase
iMo tor in kW _ pag.
| |Pole
Nul¥k 2poe
Frequengy
5 = 50 Hz
Code for pipe connection
F = Round flange
Number of reduced diameter impeller
0111213
IDash

INumber of impelker

ISpace

Flow ratdm3/h]
32 145 |64

Code for model sexie
nul*x AISB04 versdo

L = AISI 316 varsio
G = Cast Iron versio

ISeriesname
Example for pump without motor: Example for pump with motor:
EVM32 1-0F5 EVM32 1-0F5/2.2
e R 1) “TYPE” Pump model
5 Em c € 2) “Q Indicates upper and lower flow rate limits
35033 Eles (1) TALY  MADE IN ITALY 3) “H Indicates head limits corresponding to minimum and maximum flow rate
TYPE @ ‘N an 4)  “Hmax” Maximum head
O ‘Hmax ® m | Hmin O ‘ O 5) “Hmin” Minimum head
e @ Imin |H ® m 6) ‘P2" Rated power of the motor (output at shaft)
) @ KW | Hz ‘min B @ 7) “HP” Rated power of the motor expressed in HP (Horse Power)
Hp @ N 8) “Hz" Frequency
V> @ .t @ % 9) “min-1 Speed of rotation
10) “P/N®” Pump item number
1) N’ Material code
12) “MEI” Index of the pump’s quality in relation to its efficiency
13) “Hyd. Eff.” Hydraulic efficiency of the pump
I A a FRARA piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer al S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

4.0
MPa
[MPa] 304
2.5

204

1.2
1.0

0.8
0.6
0.5

0.4

0.3

0.2

0.15

0.1
0.09
0.08
0.07

0.06 —
0.05

0.04 -~

305
F

[m]

[%]

400

300
250

200

150

120
100

80

60
50

|

30

20

N

o o N ™ ©OD

100

80

60
50

40

30

PERFORMANCE RANGE
EVM(.)32-45-64

o
>

U.S.g.p.m.

40 50 60 70 80 90100 120 140 160180200 250 300 350400 500

Imp.g.p.m. 5 10

T T
30 40

T U T T T T1 T T T
50 60 70 80 90100 120 140 160180200 250 300 350 400

1200

1000 H

F90

I - 800

ST - 700

! — - 600

— 500

— 400

- 350

— 300

] — 200

|
1
|
i
|
: — 250
I
T
|
|

— 150

— 100

75

50

—30

25

—20

—15

80

100 120

150

200 250 300 400 500 600 700800 1000 1200 1500 2000

1
6 7

T T 1
8 910

Q [Vmin]
T T 17T T T T T T T T
12 14 161820 25 30 40 50 60 70 100 Qi

910 15 20 30 40

50 60

80

100 120

150

200 250 300 400 500 600 700800 1000 1200 1500 2000
Q min]

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVM VERTICAL MULTISTAGE PUMPS

CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B.

The curves refer to effective speed of asynchronous motors at 50 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity

of v =1 mm2/s (1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.

During the pump selection, consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best efficiency point.

Symbols explanation:

Q - volume flow rate

H - total head

P, - pump power input (shaft power)

n - pump efficiency

NPSH - net positive suction head required by the pump
MEI - minimum efficiency index

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean efficiency. The
minimum efficiency index is based on the hydraulic efficiency and on the head at the best efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller diameter.
The trimming of the impeller will adapt the pump to a fixed duty point, leading to a reduced energy consumption. The
minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variable duty points may be more efficient and economical when controlled, for
example by the use of a variable speed drive that matches the pump duty to the system.

Information on benchmark efficiency is available at: www.europump.org (Ecodesign section)

Information on benchmark efficiency graph for MEI = 0.4 and MEI = 0.7 for the pump are available at:
www.europump.org/efficiencycharts (refer to "Multistage Vertical 2900 rpm")

Minimum efficiency index (MEI)

Pump Type MEI
EVM(.)32 > 0,40
EVM(.)45 > 0,70
EVM(.)64 >0,70
306
I a=—a FRARA piimnec Fiirnne

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer al S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz
VERTICAL MULTISTAGE PUMPS
SELECTION CHART
EVM(.)32-45-64
’ Q = Capacity
Pump Type Motor Maximum .
working  |/min 0| 200 | 350 | 500 | 600 | 700 | 900 | 1000 | 1200 | 1400
kW] [HP] Size pressure  im3nh 0 12 21 30 36 42 54 60 72 84
Three phase [MPa] . )
H = Total manometric head in meters
EVM(.)32 1-0F5/2.2 2.2 3 90 L 24 217 | 196 [ 164 | 132 | 9.7 - - - -
EVM(.)32 2-2F5/3.0 3.0 4 100 L 39.8 36.9 | 31.6 | 235 | 174 - - - - -
EVM(.)32 2-0F5/4.0 4.0 5.5 112 M 48 43.5 | 39.2 | 32.8 | 26.5 | 194 - - - -
EVM(.)32 3-3F5/5.5 5.5 7.5 1328 59.5 55.5 | 47.5 | 35.2 | 26.1 - - - - -
EVM(.)32 3-1F5/5.5 5.5 7.5 132 S 68 62 55 | 445|352 | 245 - - - -
EVM(.)32 4-3F5/7.5 7.5 10 132 S 84 77 67 | 515|394 - - - - -
EVM(.)32 4-1F5/7.5 7.5 10 1328 1.6 92 83.5 | 745 | 61 48.5 | 34.2 - - - -
EVM(.)32 5-3F5/11 1 15 160 M 106 100 89 70 54 37.3 - - - -
EVM(.)32 5-0F5/11 11 15 160 M 118 110 | 100 | 84 67 49 - - - -
EVM(.)32 6-3F5/11 1 15 160 M 130 122 | 109 87 67.5 | 47 - - - -
EVM(.)32 6-2F5/11 11 15 160 M 133 125 | 113 | 915 [ 715 51 - - - -
EVM(.)32 7-3F5/15 15 20 160 M 153 144 | 129 | 104 81 57 - - - -
32 EVM(.)32 7-0F5/15 15 20 160 M 165 154 | 141 118 94 69 - - - -
EVM(.)32 8-3F5/15 15 20 160 M 177 166 | 150 | 121 94 67 - - - -
EVM(.)32 8-2F5/15 15 20 160 M 184 172 | 157 | 130 | 103 75 - - - -
EVM(.)32 9-3F5/18.5 18.5 25 160 L 200 188 | 170 | 137 | 108 | 76.5 - - - -
EVM(.)32 9-0F5/18.5 18.5 25 160 L 212 197 | 181 | 152 | 121 | 88.5 - - - -
EVM(.)32 10-3F5/18.5 18.5 25 160 L 25 224 210 [ 190 | 154 | 121 | 86.5 - - - -
EVM(.)32 10-2F5/18.5 18.5 25 160 L 228 213 | 193 | 159 | 125 [ 90.5 - - - -
EVM(.)32 11-3F5/22 22 30 180 M 247 232 | 210 [ 171 134 | 96.5 - - - -
EVM(.)32 11-0F5/22 22 30 180 M 259 241 221 185 | 147 | 108 - - - -
EVM(.)32 12-3F5/22 22 30 180 M 271 254 | 230 | 188 | 148 | 106 - - - -
EVM(.)32 13-3F5/30 30 40 200 L 294 276 | 250 | 205 | 161 116 - - - -
EVM(.)32 13-0F5/30 30 40 200 L 30 306 285 | 261 | 219 | 174 | 128 - - - -
EVM(.)32 14-3F5/30 30 40 200 L ’ 318 298 | 270 | 222 | 175 | 126 - - - -
EVM(.)32 14-0F5/30 30 40 200 L 330 307 | 281 | 236 | 188 | 138 - - - -
EVM(.)45 1-1F5/3.0 3.0 4 100 L 21 - 189 [ 17.6 | 16.3 | 14.3 (8.3 - - -
EVM(.)45 1-0F5/4.0 4.0 5.5 112 M 27 - 25.6 | 24.6 | 23.5 | 21.8 |16.7 13.3 - -
EVM(.)45 2-2F5/5.5 5.5 7.5 1328 16 42 - 38.1 | 35.8 | 33.4 | 29.8 |18.6 - - -
EVM(.)45 2-0F5/7.5 7.5 10 132 S ’ 54 - 51.5 50 48 45 (354 29.1 - -
EVM(.)45 3-2F5/11 1" 15 160 M 69 - 64 61 58 53 |37.3 - - -
EVM(.)45 3-0F5/11 11 15 160 M 81 - 775 | 75 725 | 68 |54 45 - -
EVM(.)45 4-2F5/15 15 20 160 M 96 - 90 86 82 76 |56 43 - -
EVM(.)45 4-0F5/15 15 20 160 M 108 - 103 | 100 | 96.5 | 91 |73 60.5 - -
EVM(.)45 5-2F5/18.5 18.5 25 160 L 123 - 116 111 107 99 (745 58.5 - -
45 EVM(.)45 5-0F5/18.5 18.5 25 160 L 135 - 129 | 125 | 121 114 915 76.5 - -
EVM(.)45 6-2F5/22 22 30 180 M 150 - 142 | 137 | 131 122 |93.5 74.5 - -
EVM(.)45 6-0F5/22 22 30 180 M 25 162 - 155 | 151 146 | 137 |110 92.5 - -
EVM(.)45 7-2F5/30 30 40 200 L i 177 - 168 | 162 | 155 | 145 |112 90.5 - -
EVM(.)45 7-0F5/30 30 40 200 L 189 - 181 176 | 170 | 160 |129 108 - -
EVM(.)45 8-2F5/30 30 40 200 L 204 - 194 | 187 | 180 | 168 |131 106 - -
EVM(.)45 8-0F5/30 30 40 200 L 216 - 207 | 201 194 | 183 |148 124 - -
EVM(.)45 9-2F5/30 30 40 200 L 231 - 219 | 212 | 204 | 191 |150 122 - -
EVM(.)45 9-0F5/37 37 50 200 L 243 - 233 | 226 | 219 | 206 |166 140 - -
EVM(.)45 10-2F5/37 37 50 200 L 30 258 - 245 | 237 | 229 | 214 |168 138 - -
EVM(.)45 10-0F5/37 37 50 200 L i 270 - 259 | 251 | 243 | 229 |185 156 - -
EVM(.)64 1-1F5/4.0 4.0 5.5 100 L 23.7 - - 21 204 | 19.7 | 175 [ 159 | 114 -
EVM(.)64 1-0F5/5.5 5.5 7.5 1328 29.3 - - 26.6 | 26.1 | 254 | 23.7 | 223 | 185 | 135
EVM(.)64 2-2F5/7.5 7.5 10 132 S 47.5 - - 42.5 | 415 | 40.5 | 36.5 | 33.5 | 25.3 -
EVM(.)64 2-1F5/11 1" 15 160 M 53 - - 48 47 46 | 425 | 40 | 324 | 23
EVM(.)64 2-0F5/11 11 15 160 M 58.5 - - 53.5 | 53 52 49 | 46.5 | 39.5 | 30.6
EVM(.)64 3-3F5/15 15 20 160 M 71 - - 64 | 625 | 61 55.5 51 39.3 -
EVM(.)64 3-2F5/15 15 20 160 M 76.5 - - 69.5 | 68 | 66.5 | 61.5 | 57.5 | 46.5 | 32.5
EVM(.)64 3-1F5/15 15 20 160 M 82.5 - - 75 74 725 | 68 64 53.5 | 40
EVM(.)64 3-0F5/18.5 18.5 25 160 L 16 88 - - 80.5 | 79.5 78 74 70.5 | 60.5 | 47.5
EVM(.)64 4-3F5/18.5 18.5 25 160 L ’ 100 - - 91 89 87 80.5 | 75,5 | 60.5 | 42
EVM(.)64 4-2F5/18.5 18.5 25 160 L 106 - - 96.5 | 95 93 87 815 | 67.5 | 495
64 EVM(.)64 4-1F5/22 22 30 180 M 112 - - 102 | 101 | 98.5 | 93 88 | 745 | 57
EVM(.)64 4-0F5/22 22 30 180 M 117 - - 108 | 106 | 104 99 945 | 815 | 645
EVM(.)64 5-3F5/30 30 40 200 L 130 - - 118 116 | 114 | 106 | 99.5 | 81.5 | 59
EVM(.)64 5-2F5/30 30 40 200 L 135 - - 124 | 122 | 119 112 | 106 | 88.5 | 66.5
EVM(.)64 5-1F5/30 30 40 200 L 141 - - 129 | 127 | 125 | 118 112 | 955 | 74
EVM(.)64 5-0F5/30 30 40 200 L 147 - - 135 | 133 | 131 124 | 119 | 103 | 815
EVM(.)64 6-3F5/30 30 40 200 L 159 - - 145 | 143 | 140 | 131 124 | 103 76
EVM(.)64 6-2F5/30 30 40 200 L 165 - - 151 | 148 | 146 | 137 | 130 | 110 [ 83.5
EVM(.)64 6-1F5/37 37 50 200 L 170 - - 156 | 154 | 151 143 | 136 | 117 91
EVM(.)64 6-0F5/37 37 50 200 L 25 176 - - 162 | 160 | 157 | 149 | 143 | 124 99
EVM(.)64 7-3F5/37 37 50 200 L ’ 188 - - 172 | 169 | 166 | 156 | 148 | 124 | 93
EVM(.)64 7-2F5/37 37 50 200 L 194 - - 178 | 175 | 172 | 162 | 154 | 131 101
EVM(.)64 7-1F5/37 37 50 200 L 200 - - 183 | 181 178 | 168 | 161 138 | 108

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar

307

F \ Piimne Fiirane _ ——
Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0 Impg.p.m. 50 100 150
05— 50
L 160
p H T — ~—
[MPa] m] ~— H
\\ — 140
04— 40 — —~— 2. 0
~— \ 2] 04
\0\ - 120
\
\\2“2/3 \\
0.3 30 ~_ Ok — 100
\\ \\ - 80
T \ N\
0.2 < 20 ‘\LO/ZZk N
w \ L 60
~—
NPSH
[m] [ft]
S - 40
0.4 10 ~ 8
e 2
NPSH — . -2
4//
0- 0 0
0 200 400 600 Q [V/min]
T T T T T
0 10 20 30 40 Qm]
’ |
P2 2-0
kW] , 2\_2 ]
! \\;———/
1-0
1 ‘ 4
0 200 400 600 Q [I/min]
80 |
n 1-0
%] e 2.0
0 7174/ \\ \\\V 1
2-2
o |
0 200 400 600 Q [/min]
Rotation speed 2900 min"
Test standard: ISO 9906:2012 - Grade 3B
308
I A= FRARA piimne Fiirnne

Agrometer a/s

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE

EVM(L)32
0 USgpm. 50 100 150 200
| | | | |
T T T T
0 Impg.p.m. 50 100 150
104 100
p H o —_ - 300 y
[MPa] [m ——
I .
0.8 80
~
\0\ S~ < ” L 250
\\ | 7,5,”/1
. 4‘3/5\\
06— 60 T~ Z ~ — 200
e 37 \
S 0.7 kW\ N \\
\\3/5'5/(14/ \ \\ \ - 150
0.4 40 \\
\; NPSH | 100
N m [
0.2 20 8
_~ 20 |50
NPSH 4 0
4/// 1
0 0 0
0 200 400 600 Q [limin]
T T T T T
0 10 20 30 40 Qmn]
8 T
P2 4-\1 —T
i 8 4-3 ] —
3}1 —
¢ \ p—
33—
2 L
0 200 400 600 Q{limin]
80 T
; —— / 4E1
%) == / 31
60 ~
43
|
33
40 ‘
0 200 400 600 Q [imin]
Rotation speed =2900 min-!
Test standard: ISO 9906:2012 - Grade 3B
309
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz
EVM VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVM(L)32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0  Imp.g.p.m. 50 100 150
15 150
P H L 450
[MPa] m [E—=— H
R = '
S L 400
—— _ \Q\& 2/7
— ~——— 3 Tow 350
104 100 = S
TN
\\
~ \‘\ -0
5\3 | 77t \\
/7,/% \\\\ - 250
~ %\ 200
\ N NPSH
05 50 AN ) 1f]
' N - 150
\ 8 —
/) —20 |- 100
4 —
NPSH L 10 50
fpmm—
0 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 a[m
12 T
-, 62 |
i — ﬂ=&=
6'3 I
50— ———
5-3 —
4 ‘
0 200 400 600 Q [imin]
80
l 5-0
—
(%] = ~ 6-2
60 = e \§
v % 63
5-3
40
0 200 400 600 Q [lfmin]
Rotation speed =2930 min-!
Test standard: ISO 9906:2012 - Grade 3B
310
I A= FRARA piimne Fiirnne

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 e EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVM(L)32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0  Impg.p.m. 50 100 150
204 200
p H —~— - 600
[MPa] m F——_ ——— H
- T — it
i —~— —
—— i A
154 150 == i \\w - 500
— *3/,5/% L
NN
o 00
7- - 4
TN O\
10 100 \\\\i\
~ \\\ - 300
N
\ NPSH [ 900
N f
05 5 [m] [
8
- 20 | 100
NPSH 4
0 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 Qm
16 ‘ |
8-2
P2 ; I
—
b 83 —— ——
T = ——
7.0 —— —
o é,//
6 7‘-3 \\/
0 200 400 600 Q [iimin]
[:/11 ~ M
// \\\ 4 82
60 / N \
N\ 59
7-3 |
40 |
0 200 400 600 Q [imin]
Rotation speed =2930 min-!
Test standard: ISO 9906:2012 - Grade 3B
311
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

[ff

312

Agrometer a/s

EVM(L)32
0 USgpm. 50 100 150 200
| | | | |
T T T T
0 Impg.p.m. 50 100 150
254 250
- 800
P L
[MPa] m [T ===
— = — - 10-2/185kw = 700
204 200 —_ — 1(|J-3/1 ‘
— ] \\ — 8.5 kW
—~—— X - 600
\\\\
\\\
_ - 500
15 190 9-0/185kw \\\\
9-3/185 kw//\\ N
NA\§ - 400
A
104 100 ™N
\\ - 300
N
NPSH
(m] (i [~200
05 50
8
—— 20 |- 100
NPSH [— A
0 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 Q[m
22 ‘
o 102
o 103 —
T p—
" 90 ﬁ,/l/
| —
9-3
10 :
0 200 400 600 Q [Vmin]
80
n
%l ~—
0 // \
40
0 200 400 600 Q [imin]
Rotation speed =2930 min-!
Test standard: ISO 9906:2012 - Grade 3B
I A= FRARA piimne Fiirnne

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 1 EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVM(L)32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0 Impg.p.m. 50 100 150
304 300
P Ho| - 900
[MPa] m o T —— H
| = >\\ o Lo ™
— \\‘Qb\ -3/22 kw
I - 700
20 200 A
N
NN — 600
11-0/22 kw \
| ' I \\\\
11-3/22 kw - 500
\\\\
\\\ 400
\\ NPSH
10 100 m [
- 300
8 —
// — 20 |- 200
4 —
NPSH _— —10 |~ 100
T
0 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 Qmin]
24
P2 L
2 123 =
T
% 11-0 _—
| —
11-3 —
12 ‘
0 200 400 600 Q [imin]
80
n
—]
0 _— —~~—
60 —
40
0 200 400 600 Q [imin]
Rotation speed 2930 min"*
Test standard: ISO 9906:2012 - Grade 3B
313
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0  Impgp.m. 50 100 150
40— 400
p H - 1200
[MPa] [ml H
— 14-0/30kw (]
— T — ; ‘
304 304= B 14-3/30kw L 1000
S~ \\ 800
y \\
20— 200 \\ N
13-0/30w NN oo
13-3/30 kw N
\\
N NPSH | 400
f
10 100 i 1
8
- 2 |- 200
NPSH 4
0 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 Q[min]
2 -
P, 14‘-0 — —
A 14-3 e ——
o] ‘ P N—
T ~ —
2 130 e
| ——
N 133 — =
0 200 400 600 Q [imin]
80
n
—
%) // \
60 — -
40
0 200 400 600 Q [imin]
Rotation speed 2960 min
Test standard: ISO 9906:2012 - Grade 3B
314
I A= FRARA piimne Fiirnne

Agrometer a/s

50Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVM(L)32

Dimensional sketch

Round flange (F) - DN65
c 1
B
\‘ ‘\
[s) ] ~
e
[©)
e
A -
i 1 G3/8
T
N° SN holes 218
D< @ 7N KM
g © L
N° 4 holes 214 |2145 |
240
280
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ Weight
H2 SN Weight Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B c H3
EVM(L)32 1-0F5/2.2 1.6 22 0L 140 | 180 148 267 | 493 4 56 72
EVM(L)32 2-2F5/3.0 1.6 3.0 | 100L | 160 | 196 155 306 503 4 58 80.8
EVM(L)32 2-0F5/4.0 1.6 40 | 12M | 160 | 196 155 306 503 4 58 80.8
EVM(L)32 3-3F5/5.5 1.6 55| 1328 | 300 | 225 160 328 572 4 74 112.6
EVM(L)32 3-1F5/5.5 1.6 55| 1328 | 300 | 225 160 328 572 4 74 112.6
EVM(L)32 4-3F5/7.5 1.6 75| 1328 | 300 | 225 160 350 620 4 77 117.4
EVM(L)32 4-1F5/7.5 1.6 75| 1328 | 300 | 225 160 350 | 620 4 7 117.4
EVM(L)32 5-3F5/11 1.6 11 160 M | 350 | 248 194 476 799 4 96 158.5
EVM(L)32 5-0F5/11 1.6 " 160 M | 350 | 248 194 476 799 4 96 158.5
EVM(L)32 6-3F5/11 1.6 1 160M | 350 | 248 194 476 | 847 4 99 161.5
EVM(L)32 6-2F5/11 1.6 11 | 160 M | 350 | 248 194 476 847 4 99 161.5
EVM(L)32 7-3F5/15 1.6 15 | 160M | 350 | 317 238 498 895 4 102 190.9
EVM(L)32 7-0F5/15 1.6 15 | 160 M | 350 | 317 238 498 895 4 102 190.9
EVM(L)32 8-3F5/15 25 15 | 160 M | 350 | 317 238 498 943 8 105 193.9
EVM(L)32 8-2F5/15 25 15 | 160M | 350 | 317 238 498 943 8 105 193.9
EVM(L)32 9-3F5/18.5 25 18.5| 160L | 350 | 317 238 542 | 991 8 108 212
EVM(L)32 9-0F5/18.5 25 18.5| 160L | 350 | 317 238 542 | 991 8 108 212
EVM(L)32 10-3F5/18.5 25 18.5| 160L | 350 | 317 238 542 | 1039 8 112 216
EVM(L)32 10-2F5/18.5 25 185 160L | 350 | 317 238 542 | 1039 8 112 216
EVM(L)32 11-3F5/22 25 22 [ 180M | 350 | 360 268 577 | 1087 8 116 279
EVM(L)32 11-0F5/22 25 22 [ 180M | 350 | 360 268 577 | 1087 8 116 279
EVM(L)32 12-3F5/22 25 22 | 180 M | 350 360 268 577 | 1135 8 119 282
EVM(L)32 13-3F5/30 3.0 30 [ 200L | 400 | 399 300 658 | 1198 8 129 357
EVM(L)32 13-0F5/30 3.0 30 [ 200L | 400 | 399 300 658 | 1198 8 129 357
EVM(L)32 14-3F5/30 3.0 30 [ 200L | 400 | 399 300 658 | 1246 8 133 361
EVM(L)32 14-0F5/30 3.0 30 [ 200L | 400 | 399 300 658 | 1246 8 133 361

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar
315

F \ Piimne Fiirane _ ——
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM VERTICAL MULTISTAGE PUMPS 50 Hz

SECTIONAL VIEW
EVM(L)32

120-13
120-5
245
130-2
120-6
162
273

75

212
115-1

~

e
(_fi _/ {%}_/
305

=

f
|
P 111 = e 7
\V\\ \ 5_4
274-1 ™ P T~
\\\\ ™~ 115-5
1204 \4#\\ | 111-3
35— | 1 -~

il

434 —— T
i - 130-3
137-1
—— | 5-3
48 = L) o == 5 1
75-1 31 /’:jgﬂ/# \ 21
273-1 6 A\L \ l \
“7] 2121 45 T \ 17
'/, - \ A e ‘R
VA 120-10
\ or / — 160

Pump without ball bearing

316

I Ty FRARA Piimn< Fiirane
Ag rometer a/s Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk e agrometer @agrometer.dk




50 Hz

T

VM

VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVM(L)32

274-2

12013 T 150
\

== , 274-3

120-1 ———

432 i
433 — |
52-1 B
44-1
43-4
137-1
48

75-1 31—

2731 6

o 2124 45— |

613

Pump with single ball bearing

317

F \ Piimne Fiirane _ ——
Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00
; I Agrometer a/s

www.agrometer.dk ¢ agrometer@agrometer.dk




EVM

VERTICAL MULTISTAGE PUMPS

75-1
2731
2121

SECTIONAL VIEW
EVM(L)32
1207 2742
1354 i 150
120-13 }?\
51— u} T e
128-3 ’;T_"\ " ‘; Q

AA
w N
(I)'|GJ
¢ 8

Fﬂ4&7
7
yias

T
AT
—

| O |
10
-
154 —— L =
43-1 7$:;
47 !
| g
| =
{ g
=Y
| »
1204 — !
438 —0 | | »
52-1 N
441 EF‘ER
43-4 \:I It
1371 e

Pump with single ball bearing

318

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

50Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVM(L)32
129
136
! 70-1

i l
—
i Y
| / /
1 / Ve
1 !
| !/
/
1
1

L ey .
Ty T ! 140-1
: 391

|
% | 135-3

[~ ]
B | 120-5
— | 120-6

B

e Rl )! 120-4

N

w

o

N
I
L7y

B
il
™ & I TH
T l"ii=—LI!!
-
115-4 L
43-1
47—
el — |

12040 —— |
43-3

521 I
44-1 R

34—
137-1
48
75-1 3 —
2731 6—0
2121 45 \
613
Pump with double ball bearing
319
F \ Piimne Fiirane _ p—— -

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer al S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVM(L)32

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM EVML
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
6 Bottom casing EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
oy Casing cover Cast Iron + Cast Iron +
EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

21 Impeller

- EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
211 Reduced impeller
31 Shaft EN 1.4401 (AISI 316)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
56 Ball bearing see table page 322
70-1 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM FPM
75-1 O-Ring (plug) EPDM FPM
107 Liner ring PTFE / EN 1.4301 (AISI 304) PTFE / EN 1.4401 (AISI 316)
1111 Mechanical Seal Silicon carbide / Carbon / FPM
111-2 Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
111-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
111-4 Seal holder Brass OT 58 UNI 5705 EN 1.4401 (AISI 316)
111-5 Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
115-1 O-Ring (outer casing) EPDM FPM D.208.91x5.34
115-4 O-Ring (cartridge sleeve) EPDM FPM D. 24.99x3.59
115-5 O-Ring (seal cover) EPDM FPM D.44.04x3.53
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1

320
I Ty FRARA Piimn< Fiirane

Agrometer a/s

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE
EVM(L)32

N° PART NAME WMATERIAL DIMENSIONS STANDARD
EVM | EVML

120-3 Screw A2-70 UNI 7323 M5xX10 UNI 5931

120-4 Screw Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739
EVM32 1 M6x16 UNI 5931

120-5 Screw for coupling EVM32 2 and 2-2 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM32 5 to 14 M10x30 UNI 5739
EVM32 1 M6x16 UNI 5931

120-6 Screw for coupling EVM32 2 and 2-2 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM32 5 to 14 M12x30 UNI 5931

120-7 Screw Galvanized steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739

120-8 Screw EVM32310 4 Galvanized steel 8.8 strenght class ISO 898/1 M12x25 UNI 5739
EVM32 5 to14 M10x30 UNI 5739

120-10 Screw Galvanized steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739
EVM32 1 M8x20 UNI 5739

120-13 Screw for motor EVM32 2 and 2-2 Galvanized steel 8.8 strenght class ISO 898/1 M12x30 UNI 5739
EVM32 5 to 14 M16x65 UNI 5739

128-1 Nut for tie rod Galvanized steel M16 UNI 5588

128-3 Nut (motor) Galvanized steel M16 UNI 5588

129 Lock nut Carbon Steel

130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

130-3 Set screw A2-70 UNI 7323 M6x6 UNI 5923

130-4 Set screw Carbon Steel M10x10 UNI 5923

1311 Pin for shaft Carbon Steel

135-1 Washer (Tie rod) Galvanized steel 17x30x3 UNI 6592

135-3 Washer (coupling) Galvanized steel 10.5x17.5x2.2 UNI 1751

135-4 Washer (bearing) Carbon Steel 06:04 UNI 1751

136 Washer (coupling) Carbon Steel

137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)

140 Coupling Brass OT 58 UNI 5705

140-1 Coupling (motor side) Carbon Steel

140-2 Coupling (pump side) Carbon Steel

150 Spacer Carbon Steel

160 Base Cast iron EN-GJL-200-EN 1561

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

2121 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug Washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

2731 Plug Washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

274-1 C-type snap ring (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) D.26 UNI 7435
EVM32 3 to 4 D.50 UNI 7435

274-2 C-type snap ring (coupling) EVM32 5 to10 Carbon Steel TC 80 D.65 UNI 7435
EVM32 11 to12 D.75 UNI 7435

274-3 C-type snap ring (bracket) Carbon Steel TC 80 D.110 UNI 7437

613 Flange Carbon Steel

321

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL
EVM(L)32

o
Pump Type N
5-2|53 | 11 | 21 [21-1]39-1|43-2|43-3 (434 44-1| 51 [52-1| 56 |70-1| 107 | 111-5|120-4|120-5[120-7|120-8(128-3| 129 (135-3|1354| 136 | 140 | 140-1(140-2| 150 |274-2(274-3
EVM(L)32 1-0F5/2.2 P I A | ! / / 1 1 1 P I A O | 1 / 2 / / / / / / / 1 / / / / !
EVM(L)32 2-2F5/3.0 {1y r17]2 ! / 1 1 1 A O A A ) 1 ! 2 / / / / / / / 1 / / / ! !
EVM(L)32 2-0F5/4.0 Iyt r12) 7/ / / 1 1 1 P O A A A | / 2 / / / / / / / 1 / / / / /
EVM(L)32 3-3F5/5.5 1111773 / 1 1 1 1 1111173 1 ! ! / 4 / / / / / 1 / / 1 1 1
EVM(L)32 3-1F5/5.5 1 1 |2 1 / 1 1 1 1 1 1 1 /13 1 / / / 4 / / / / / 1 / / 1 1 1
EVM(L)32 4-3F5/7.5 2(1|/7|11]3 ! 2 1 1 1 111117 (4]1 ! ! ! 4 / / / / / 1 / / 1 1 1
EVM(L)32 4-1F5/7.5 211 /131 / 2 1 1 1 1 1 1 |4 1 / / / 4 / / / / / 1 / / 1 1 1
EVM(L)32 5-3F5/11 3(1|11]2]3 1 3 1 1 1 1111115 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVM(L)32 5-0F5/11 311 1156 / 1 3 1 1 1 1 1 1 1156 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 6-3F5/11 411[113]3 1 4 1 1 1 1111116 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVM(L)32 6-2F5/11 4111142 1 4 1 1 1 1111116 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 7-3F5/15 511 11413 1 5 1 1 1 1 1 1 117 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 7-0F5/15 S5(1 1|7/ 1 5 1 1 1 11111117 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVM(L)32 8-3F5/15 6(11]|5]|3 1 6 1 1 1 1111118 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 8-2F5/15 6|1 1161 2 1 6 1 1 1 1 1 1 118 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 9-3F5/18.5 7111|613 1 7 1 1 1 1111119 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVM(L)32 9-0F5/18.5 711119/ 1 7 1 1 1 1111119 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVM(L)32 10-3F5/185 | 7 [ 2 |1 | 7| 3 1 7 2 2 2 11211 1110 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 10-2F5/185 | 7 [ 2 | 1 | 8 | 2 1 7 2 2 2 11211 1110 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVM(L)32 11-3F5/22 8(2|1|8]|3 1 g8l2 |22 (1211 ]|11] 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVM(L)32 11-0F5/22 g2 (1 |11] / 1 8 2 2 2 11211 111 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 12-3F5/22 912 ((1]9]|3 1 9 2 2 2 11211 1112 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 13-3F5/30 10(2|1]10]| 3 111012 (221|211 [13] [ 4 4 3 4 4 1 4 3 1 / 1 1 ! ! !
EVM(L)32 13-0F5/30 1021 13] / 11102 (2|2 |1 2|1]1[13| / 4 4 3 4 4 1 4 3 1 / 1 1 / / !
EVM(L)32 14-3F5/30 Mmi2|11(11] 3 1 Mm| 2 2 2 11211 11141 / 4 4 3 4 4 1 4 3 1 / 1 1 / / !
EVM(L)32 14-0F5/30 1M)12]1 (14| / T M) 2 12 (21|21 [1[14] / 4 4 3 4 4 1 4 3 1 / 1 1 ! ! !
BEARINGS
EVM(L)32
N°
Pump Type 56
EVM(L)32 1-0F5/2.2 /
EVM(L)32 2-2F5/3.0 /
EVM(L)32 2-0F5/4.0 /
EVM(L)32 3-3F5/5.5 63102Z C3
EVM(L)32 3-1F5/5.5 63102Z C3
EVM(L)32 4-3F5/7.5 6310 ZZ C3
EVM(L)32 4-1F5/7.5 63102Z C3
EVM(L)32 5-3F5/11 6313272 C3
EVM(L)32 5-0F5/11 631322 C3
EVM(L)32 6-3F5/11 63132ZC3
EVM(L)32 6-2F5/11 63132ZZC3
EVM(L)32 7-3F5/15 631322 C3
EVM(L)32 7-0F5/15 6313 ZZ C3
EVM(L)32 8-3F5/15 63132ZZC3
EVM(L)32 8-2F5/15 631322 C3
EVM(L)32 9-3F5/18.5 631322 C3
EVM(L)32 9-0F5/18.5 63132ZZC3
EVM(L)32 10-3F5/18.5 63132ZC3
EVM(L)32 10-2F5/18.5 631322 C3
EVM(L)32 11-3F5/22 63152Z C3
EVM(L)32 11-0F5/22 63152Z C3
EVM(L)32 12-3F5/22 631522 C3
EVM(L)32 13-3F5/30 6315 ZZDT C3 *
EVM(L)32 13-0F5/30 6315ZZDT C3 *
EVM(L)32 14-3F5/30 6315 2ZDT C3 *
EVM(L)32 14-0F5/30 6315 ZZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

322
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE

EVMG32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0 Imp.g.p.m. 50 100 150
05— 50
L 160
p H —— ~—
[MPa] [m] ~— H
\\ 140 g
04— 40 — ~———C 2.
T~ T~ 0/"-0/rw
\0\ \ 120
2
03] 30 Lo, - 100
\\ \\ 80
T RN N\
024 2 — 1025, »
2 ki \ L 6o
~—
NPSH
[m] [ft
S - 40
014 10 ~. 8
rd 20
NPSH N 2
4///
0 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 Qmin]
5
P2 2-0
-4 [ —
| —"/
1-0 — —
1
0 200 400 600 Q [imin]
80 |
n 1-0
[%] I 2‘.0
60 7174 \\\\\V 1
2-2
o |
0 200 400 600 Q [imin]
Rotation speed =2900 min-!
Test standard: ISO 9906:2012 - Grade 3B
323
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM VERTICAL MULTISTAGE PUMPS 50 Hz

PERFORMANCE CURVE

EVMG32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0  Impg.p.m. 50 100 150
104 100
p H o~ - 300
[MPa] m —— - H
e i "
0.8 — 80
~_
H\ T~ 4.7, - 250
\ 7‘5/rm
—— _ T~ 4\3|/7\
06 60 i N \\ - 200
3.
— 3, \\ N\
\ 3\3') ~ \ N
54, ~ \ \ - 150
0.4 40 \\
~— NPSH | 400
N m [
0.2 20 8
20 |- 50
NPSH 4 0
“///
0 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 Q[m]
8 T
P 4‘-1 T
(kW] 6 4-3 —_—
3{1 ]
¢ \ —
33—
2 L
0 200 400 600 Q [imin]
80 T
4-1
%) g —— / 31
60 / X
43
|
3-3
40 :
0 200 400 600 Q [imin]
Rotation speed 2900 min"
Test standard: ISO 9906:2012 - Grade 3B
324
I A= FRARA piimne Fiirnne

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 1 EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG32
0 USgpm. 50 100 150 200 250
| | | | | |
I T T T T
0 Imp.g.p.m. 50 100 150 200
20— 200
0 H — 600
[MPa] ml H
—— f
15- 150 ‘::‘-‘::: L 500
54
22/,
N ’( — 400
5\3’/75/r \\
w
104 100 \\\
\\ - 300
\\
NG
[m] [t
0.5 50
10
30
/,/ - 100
NPSH | — s
— 10
0 0 0
0 200 400 600 800 Q [imin]
T T T T T T 1
0 10 20 30 40 50 Qmn)
20
P "
2 50
i 5-2 —
- //, —
12 ~=
5-3 —\‘~/
. \
0 200 400 600 800 Q [imin]
80
[:/]] 70 50
i - \
~ 52
60 o~ S
50
0 200 400 600 800 Q [imin]
Rotation speed 2930 min
Test standard: ISO 9906:2012 - Grade 3B
325
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

2.0

[MPa]

0.5 —

P2
kw]

[%]

PERFORMANCE CURVE

EVMG32
0 USgpm. 50 100 150 200
| | | | |
I T T
0 Impg.p.m. 50 100 150
200
H —__ 600
m ——— : —_ H
—_— To— ﬂ
— _ WP\Q\ . [f]
150 == D \w - 500
— *3/,5/%
NN
. o — 400
~(5"/75,“/,/ \\ :\\
. \\\ 300
N
\ NPSH | 590
N
50
8
- 20 |- 100
NPSH 4
0 0
0 200 400 600 Q [Vmin]
T T T T T
0 10 20 30 40 Q[m
16 ‘ |
8-2
| ‘\
83 /5/-"'_‘&%
12 : %%
70 —_ |
T
8 M
0 200 400 600 Q [Vmin]
80 ‘
— 70 —
— - \\\4 82
60 ~ = i
N\ 83
7-3 |
" |
0 200 400 600 Q [Vmin]
Rotation speed =2930 min-!
Test standard: ISO 9906:2012 - Grade 3B
326
A= FRARA piimne Fiirnne

Agrometer a/s

50Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 e EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0  Impg.p.m. 50 100 150
25— 250
— 800
p H e
[MPa] m [T == H
. = ~—_ _—10-2/185 m 700 gy
20— 200 _— R
—— \: ,(10 3/18.5 kw
~— . — 600
\\\‘\
AN
_ — 500
S 9-0/18.5 0 \\\ C
9-3Msm N N\
NN - 400
RNAN
104 100 ™N
Q\ - 300
N\
NPSH
m [ 200
0.5 50
8
" 20 {100
NPSH A
0 0 0
0 200 400 600 Q [Vmin]
T T T T T
0 10 20 30 40 Qmn]
2 -
o 102
kW] 10-3 ——
14 90 ———
| —
9-3
10 :
0 200 400 600 Q [imin]
80
n
0, —]
[%] T~
" // \
40
0 200 400 600 Q [imin]
Rotation speed 2930 min"
Test standard: ISO 9906:2012 - Grade 3B
327
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVMG32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0 Impg.pm. 50 100 150
30— 300
p Ho — 900
[MPa] m T —— H
== i\ 12-3/22 aw Fo
T — ;
700
20 200 N
\
NGO N\ — 600
11-0/22 kw ) \
11-3/ \\\\
-3/22 kw I~ 500
\\\\
\\\ 400
\\ NPSH
10— 100 (m] [
— 300
8 —
// — 20 |- 200
4 —
NPSH - — 10 |~ 100
fmm—
0 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 Qmin]
24
P2 | —
o 123 P —
T -
16 11-0 —
| — =
11-3 —
12 :
0 200 400 600 Q [imin]
80
n
4] - 1 ~~—
60 —
40
0 200 400 600 Q [imin]
Rotation speed =2930 min-!
Test standard: ISO 9906:2012 - Grade 3B
328
I A= FRARA piimne Fiirnne

Agrometer a/s

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 1 EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0  Impg.p.m. 50 100 150
40— 400
p H - 1200
[MPa] [m H
— 14-0/30 kw It
—— ; :
304 300 = : : — 14-3/30 kw - 1000
SN
e IS \\ - 800
~ \\
20— 200 \\ N
13-0/0 1w N 600
!
13-3/304w NN
\\\
N NPSH | 400
f
10— 100 fml [
8
- 2 200
NPSH 4
0— 0 0
0 200 400 600 Q [min]
T T T T T
0 10 20 30 40 Q[mnl
28 ‘
3 0 — —
% 143 e ———
[ ‘ P —
T —
2 130 P
\ ——
N 133 — 2=
0 200 400 600 Q [Vmin]
80
n
%] — T
40
0 200 400 600 Q [imin]
Rotation speed =2960 min-!
Test standard: ISO 9906:2012 - Grade 3B
329
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMG32

Dimensional sketch

Round flange (F) - DN65
c 1
B
-
[ae) =
I
@
R
A -
f G3/8
ks
N° SN holes 218
- E G3/8
o g 4%) oo
Sl :»\ﬁ/;:
N° 4 holes @14 ‘ H—== | 2145 |
240
280
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ Weight
) H2 SN Weight  Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B c H3
EVMG32 1-0F5/2.2 1.6 22 90 L 140 180 148 267 493 4 56 72
EVMG32 2-2F5/3.0 1.6 3.0 | 100L | 160 | 196 155 306 503 4 58 80.8
EVMG32 2-0F5/4.0 1.6 40 | 112M | 160 | 196 155 306 503 4 58 80.8
EVMG32 3-3F5/5.5 1.6 55 | 1328 | 300 | 225 160 328 572 4 74 112.6
EVMG32 3-1F5/5.5 1.6 55| 1328 | 300 | 225 160 328 572 4 74 112.6
EVMG32 4-3F5/7.5 1.6 75| 1328 | 300 | 225 160 350 | 620 4 7 117.4
EVMG32 4-1F5/7.5 1.6 75| 1328 | 300 | 225 160 350 620 4 77 17.4
EVMG32 5-3F5/11 1.6 1" 160M | 350 | 248 194 476 799 4 96 158.5
EVMG32 5-0F5/11 1.6 11 160M | 350 | 248 194 476 799 4 96 158.5
EVMG32 6-3F5/11 1.6 11 160 M | 350 | 248 194 476 847 4 99 161.5
EVMG32 6-2F5/11 1.6 " 160M | 350 | 248 194 476 847 4 99 161.5
EVMG32 7-3F5/15 1.6 15 | 160 M | 350 | 317 238 498 895 4 102 190.9
EVMG32 7-0F5/15 1.6 15 | 160M | 350 | 317 238 498 895 4 102 190.9
EVMG32 8-3F5/15 25 15 | 160M | 350 | 317 238 498 943 8 105 193.9
EVMG32 8-2F5/15 25 15 | 160 M | 350 | 317 238 498 | 943 8 105 193.9
EVMG32 9-3F5/18.5 25 18.5| 160L | 350 | 317 238 542 | 991 8 108 212
EVMG32 9-0F5/18.5 25 185 160L | 350 | 317 238 542 991 8 108 212
EVMG32 10-3F5/18.5 25 18.5| 160L | 350 | 317 238 542 | 1039 8 12 216
EVMG32 10-2F5/18.5 25 18.5| 160L | 350 | 317 238 542 | 1039 8 12 216
EVMG32 11-3F5/22 25 22 | 180M | 350 | 360 268 577 | 1087 8 116 279
EVMG32 11-0F5/22 25 22 [ 180M | 350 | 360 268 577 | 1087 8 116 279
EVMG32 12-3F5/22 25 22 | 180M | 350 | 360 268 577 | 1135 8 119 282
EVMG32 13-3F5/30 3.0 30 [ 200L | 400 | 399 300 658 | 1198 8 129 357
EVMG32 13-0F5/30 3.0 30 [ 200L | 400 | 399 300 658 | 1198 8 129 357
EVMG32 14-3F5/30 3.0 30 [ 200L | 400 | 399 300 658 | 1246 8 133 361
EVMG32 14-0F5/30 3.0 30 [ 200L | 400 | 399 300 658 | 1246 8 133 361

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar
330

I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVMG32

52-1
44-1
434

137-1

48

75-1 31—

2731 6 — |

e 21241 45 —_

613

Pump without ball bearing

331

F 1 \ Piimn< Fiirnne _ ——
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM VERTICAL MULTISTAGE PUMPS 50 Hz
SECTIONAL VIEW
EVMG32
274-2
120-13 — 150
140 [T , 274-3

Zl'
Q\\\
4
D\
ﬁf

75-1
273-1
o 212-1

Pump with single ball bearing

332

I Ty FRARA Piimn< Fiirane
Ag rometer a/s Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVMG32
120-7 2742
1354 \F\:l\ 150
120-13 ———]

274-1

\ T -
131-1 s . 3 , 162
1
130-2 '. T i ! 140-1
130-4 | I 39-1
1 I
111-4 | & :' 135-3
130-1 | N :' 120-5
120-3 :l % i 120-6
128-1 L TY €y J 1204
135-1 [ daxis 273
g Ny Se—
~4 H 75
|~ — 212
L HIMTG 11
~— 115-1
\ \
™~ \ 115-5
/ D ™~ \ 111-3
115-4 L ™ \ 111-1
431 _—7 ~ \ 54
47 1112
\ 130-3

12041 —
43-3
52-1
44-1

ettt o e

]

34— —

1371 —J=H
L=/
75-1
273-1
_— 2121
Pump with single ball bearing
333
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rO m ete r a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS 90 H:

75-1
273-1
212-1

SECTIONAL VIEW
EVMG32

1207 ————— 129
135-4 } 136
12013 — 1 | # \ 1] 17 | 70-1
] Y VY
51 ! / ’
X tJ . i /7
128-3 | | Ny
I | s
120-8 i . Vs
j Q -
245 =
140-2 56
’ | 162
131-1 ( i t .
130-2 II josis) HH ! 140-1
130-4 | T~ i 39-1
111-4 '. & ." 135-3
- | N i 120-
130-1 | | 0-5
120-3 \ — | 120-6
128-1 I'- = ! ! 120-4
U J
135-1 r . R— 273
_ ]
T 75
i[ ] — T ———— 212
| -
Ci U e 11
_y Ny \ 115-1
154 —m8 — 115-5
431 J—t l§ 111-3
E— \ i
a —— | i ™

Pump with double ball bearing

334

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE
EVMG32

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMG
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250 -EN1561
7 Outer casing EN 1.4301 (AISI 304)
" Casing cover Cast Iron EN GJL-250 -EN1561
21 Impeller
- EN 1.4301 (AISI 304)
211 Reduced impeller
31 Shaft EN 1.4401 (AISI 316)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
56 Ball bearing see table page 337
70-1 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM
75-1 O-Ring (plug) EPDM
107 Liner ring PTFE / EN 1.4301 (AISI 304)
111-1 Mechanical Seal Silicon carbide / Carbon / FPM
11-2 Mechanical seal cartridge EN 1.4301 (AISI 304)
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder Brass OT 58 UNI 5705
111-5 Adjusting ring EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D.208.91x5.34
115-4 O-Ring (cartridge sleeve) EPDM D. 24.99x3.59
115-5 O-Ring (seal cover) EPDM D.44.04x3.53
120-1 Tie-rod Galvanized steel 6.8 strenght class 1ISO 898/1
335

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMG32

Agrometer a/s

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMG

120-3 Screw A2-70 UNI 7323 M5xX10 UNI 5931

120-4 Screw Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739
EVM32 1 M6x16 UNI 5931

120-5 Screw for coupling EVM32 2 and 2-2 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM32 5 to 14 M10x30 UNI 5931
EVM32 1 M6x16 UNI 5931

120-6 Screw for coupling EVM32 2 and 4-3 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM32 5 to 14 M12x30 UNI 5931

120-7 Screw Galvanized steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739

120-8 Screw EVM323 10 4 Galvanized steel 8.8 strenght class 1ISO 898/1 M12x25 UNI 5739
EVM32 5 to 14 M10x30 UNI 5739

120-10 | Screw Galvanized steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739
EVM32 1 to 2 M8x20 UNI 5739

120-13 | Screw for motor EVM32 3 to 4 Galvanized steel 8.8 strenght class ISO 898/1 M12x30 UNI 5739
EVM32 5 to 14 M16x65 UNI 5739

128-1 Nut for tie rod Galvanized steel M16 UNI 5588

128-3 Nut (motor) Galvanized steel M16 UNI 5588

129 Lock nut Carbon Steel

130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

130-3 Set screw (mechanical seal) A2-70 UNI 7323 M6x6 UNI 5923

130-4 Set screw (coupling pin) Carbon Steel M10x10 UNI 5923

131-1 Pin for shaft Carbon Steel

135-1 Washer Galvanized steel 17x30x3 UNI 6592

135-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 1751

135-4 Washer Carbon Steel 06:04 UNI' 1751

136 Washer Carbon Steel

137-1 Impeller spacer EN 1.4301 (AISI 304)

140 Coupling Brass OT 58 UNI 5705

140-1 Coupling (motor side) Carbon Steel

140-2 Coupling (pump side) Carbon Steel

150 Spacer Carbon Steel

160 Base Cast iron EN-GJL-200-EN 1561

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304)

2121 Plug EN 1.4301 (AISI 304)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug Washer EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

2741 C-type snap ring (mechanical seal) EN 1.4301 (AISI 304) D.26 UNI 7435
EVM32 3 to 4 D.50 UNI 7435

274-2 C-type snap ring (coupling)  EVM32 5 to 10 Carbon Steel TC 80 D.65 UNI 7435
EVM32 11 to 14 D.75 UNI 7535

274-3 C-type snap ring (bracket) Carbon Steel TC 80 D.110 UNI 7437

613 Flange Carbon Steel

336
I Ty FRARA Piimn< Fiirane

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL

EVMG32

o
Pump Type N
5-2|53 | 11 | 21 [21-1]39-1|43-2|43-3 (434 44-1| 51 [52-1| 56 |70-1| 107 | 111-5|120-4|120-5[120-7|120-8(128-3| 129 (135-3|1354| 136 | 140 | 140-1(140-2| 150 |274-2(274-3
EVMG32 1-0F5/2.2 P I A | ! / / 1 1 1 P I A O | 1 / 2 / / / / / / / 1 / / / / !
EVMG32 2-2F5/3.0 {1y r17]2 ! / 1 1 1 A O A A ) 1 ! 2 / / / / / / / 1 / / / ! !
EVMG32 2-0F5/4.0 Iyt r12) 7/ / / 1 1 1 P O A A A | / 2 / / / / / / / 1 / / / / /
EVMG32 3-3F5/5.5 1111773 / 1 1 1 1 1111173 1 ! ! / 4 / / / / / 1 / / 1 1 1
EVMG32 3-1F5/5.5 1 1 |2 1 / 1 1 1 1 1 1 1 /13 1 / / / 4 / / / / / 1 / / 1 1 1
EVMG32 4-3F5/7.5 2(1/7|11]3 ! 2 1 1 1 11111741 ! ! ! 4 / / / / / 1 / / 1 1 1
EVMG32 4-1F5/7.5 211 /3|1 / 2 1 1 1 1 1 1 |4 1 / / / 4 / / / / / 1 / / 1 1 1
EVMG32 5-3F5/11 3111123 1 3 1 1 1 1111115 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVMG32 5-0F5/11 311 1156 / 1 3 1 1 1 1 1 1 1156 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVMG32 6-3F5/11 411113]3 1 4 1 1 1 1111116 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVMG32 6-2F5/11 4111142 1 4 1 1 1 1111116 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVMG32 7-3F5/15 511 11413 1 5 1 1 1 1 1 1 117 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVMG32 7-0F5/15 S5(1 1|7/ 1 5 1 1 1 1111117 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVMG32 8-3F5/15 6(1|1]|5]|3 1 6 1 1 1 1111118 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVMG32 8-2F5/15 6|1 1161 2 1 6 1 1 1 1 1 1 118 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVMG32 9-3F5/18.5 7111|613 1 7 1 1 1 11111119 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVMG32 9-0F5/18.5 71119/ 1 7 1 1 1 11111119 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVMG32 10-3F5/18.5 712 (1|73 1 7 2 2 2 11211 1110 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVMG32 10-2F5/18.5 712 (1|82 1 7 2 2 2 11211 1110 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVMG32 11-3F5/22 8(2|1|8]|3 1 g8l2 |22 (1211 ]|11] 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVMG32 11-0F5/22 gl2(1 1]/ 1 8 2 2 2 11211 1711 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVMG32 12-3F5/22 912 (1]9]|3 1 9 2 2 2 11211 1112 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVMG32 13-3F5/30 10(2|1]10]| 3 111012 (2 (2121|113 [ 4 4 3 4 4 1 4 3 1 / 1 1 ! ! !
EVMG32 13-0F5/30 1021 13] / 111012 (22121113 / 4 4 3 4 4 1 4 3 1 / 1 1 / / !
EVMG32 14-3F5/30 Mmi2|11(11] 3 1 Mm| 2 2 2 11211 11141 / 4 4 3 4 4 1 4 3 1 / 1 1 / / !
EVMG32 14-0F5/30 1M)12]1 (14| / T M) 2 12 (21211 [14] [ 4 4 3 4 4 1 4 3 1 / 1 1 ! ! !
BEARINGS
EVMG32
N°
Pump Type 56
EVMG32 1-0F5/2.2 /
EVMG32 2-2F5/3.0 /
EVMG32 2-0F5/4.0 /
EVMG32 3-3F5/5.5 63102Z C3
EVMG32 3-1F5/5.5 63102Z C3
EVMG32 4-3F5/7.5 631022 C3
EVMG32 4-1F5/7.5 63102Z C3
EVMG32 5-3F5/11 63132ZZC3
EVMG32 5-0F5/11 631322 C3
EVMG32 6-3F5/11 63132ZC3
EVMG32 6-2F5/11 63132ZZC3
EVMG32 7-3F5/15 63132ZC3
EVMG32 7-0F5/15 6313 ZZ C3
EVMG32 8-3F5/15 63132ZZC3
EVMG32 8-2F5/15 631322 C3
EVMG32 9-3F5/18.5 631322 C3
EVMG32 9-0F5/18.5 63132ZZC3
EVMG32 10-3F5/18.5 631322 C3
EVMG32 10-2F5/18.5 631322 C3
EVMG32 11-3F5/22 63152Z C3
EVMG32 11-0F5/22 63152Z C3
EVMG32 12-3F5/22 6315272 C3
EVMG32 13-3F5/30 6315ZZDT C3 *
EVMG32 13-0F5/30 6315 ZZDT C3 *
EVMG32 14-3F5/30 6315 2ZDT C3 *
EVMG32 14-0F5/30 6315Z2ZDT C3 *

337

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk



VERTICAL MULTISTAGE PUMPS

50 Hz

PERFORMANCE CURVE

EVM(L)45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
I T T T T T
0 Impg.pm. 50 100 150 200 250
0.6 60
P Ho LI
[MPa] [ml e S
e 2.0y, [ft]
< 160
. 140
0.4 — 40 e A
T \'\ \
\\ 2\2/5 120
100
\
T T-0/40,0y - 80
—— ~—_ NPSH
0.2 20 S — T = ft]
—— \ N m [ |
\{/3 Ot \\ 60
40
S 7
10
NPSH L
0 0 0
0 200 400 600 800 1000 Q{/min]
T T T T T T T T
0 10 20 30 40 50 60 Qmin]
8 |
=P 2;0 I
kW) 22 I
1-0 —
11—
0 |
0 200 400 600 800 1000 Q [Imin]
80
n p—
B 70 ' =\\‘\\\
6 | % 1-0
TS
N\
50
0 200 400 600 800 1000 Q [/min]
Rotation speed 2900 min*
Test standard: ISO 9906:2012 - Grade 3B
338
I A= FRARA piimne Fiirnne

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz VERTICAL MULTISTAGE PUMPS EVM
PERFORMANCE CURVE
EVM(L)45

0 USgpm 50 100 150 200 250 300

I L ' T ' T ' —! II

0 Imp.g.p.m. 50 100 150 200 250

124 120
p H
[MPa] m | T ————_ I —3%0 H
45 [t
\‘_\“*—\‘4\ \ — 300
\

B
0.8 — 80

\\
\"0/1 1 K \ \\ — 250
i —_ e~ \
g I T 3 \\ -
~3-2,, N 200
N \ NpsH | 10
0.4 — 40 \| [m] [
6—— 20 | 100
/'/ 4
NPSH 10 |50
// 2
0 0 0
0 200 400 600 800 1000 Q [Iimin]
I 1 1 1 1 1 I 1
0 10 20 30 40 50 60 Q[min]
16 I
P2 40 L
kW] 4-2 N~ —
8 3'0 " [y
312 —
4
0 200 400 600 800 1000 Q [min]
80 :
\ 3-0
[%] 70 \\
0 p.d 32/
[ 4
4-2
50 ‘
0 200 400 600 800 1000 Q [Vmin]
Rotation speed 2930 min"
Test standard: ISO 9906:2012 - Grade 3B
339
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

2.0 7

[MPa]

0.5+

P2
kW]

%]

PERFORMANCE CURVE

EVM(L)45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
I T T T T T
0 Impgpm. 50 100 150 200 250
200
H - 600
[m] H
[ft]
— —_— '
150 — 6. — 500
] T
- T~
T ﬁ—\\sef%\\
—— | \~()/§5kw ~ N\ — 400
100 \\
‘\ \ — 300
\ 200
50 NPSH
[m] [ff
6 — 20 |- 100
T
0 0
0 200 400 600 800 1000 Q [Vmin]
T T T T T T T T
0 10 20 30 40 50 60 Qmdn)
5 6;0 ’//
6:2 — —
5_2 T~ /
10 l
0 200 400 600 800 1000 Q [Vmin]
80
I
~— 5060 |
\//
70 <
60 7 5-2
50
0 200 400 600 800 1000 Q [Vmin]
Rotation speed 2940 min"
Test standard: ISO 9906:2012 - Grade 3B
340
A= FRARA piimne Fiirnne

Agrometer a/s

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 1z EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVM(L)45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
I T T T T T
0  Impgp.m. 50 100 150 200 250
254 250
— 800
p H
[MPa] m | H
—_—— — 700
—— [ft]
20 200 F——= il ——pe— 8*0/3
- T— P
——— \%\ - 600
\*-—\“ i \stOkW - \\
H\‘ 7.2/3 \ \
~</30 N
15— 150 ~ - < — 500
\\
— 400
N\
104 100 N\
NPsH [~ 300
[m [
6 — 20 |- 200
05— 50
NPSH = 4
10 |~ 100
L 2
0- 0 0
0 200 400 600 800 1000 Q [Vmin]
T T T T T T T T
0 10 20 30 40 50 60 Q[mh]
o 0 —F—
2 ; —
Tkw] 20 872 \//4;/__
—
72
10 l
0 200 400 600 800 1000 Q [Vmin]
80
\
:\ ]
n \\ > 7-0/8-0
%] 70 )\
r 7-2/8-2
60 ,/
50
0 200 400 600 800 1000 Q [Vmin]
Rotation speed =2960 min-!
Test standard: ISO 9906:2012 - Grade 3B
341
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

Agrometer a/s

PERFORMANCE CURVE
EVM(L)45
0 USgpm. 50 100 150 200 250 300
| | | | | |
I T T T T I
0 Impgpm. 50 100 150 200 250
30— 300
P Ho[ - 900
[MPa] mo == H
§__§~_§- T‘\ 70~0 [ft]
L B H‘g\‘ ” 237 41, — 800
— T T —— ‘0/37,(N?/37
B : '@'W\W\\\ — 700
20 200 \\\\\
N %\ — 600
~N \
\\\ Y
— 500
N\
L 400
104 100 NPSH | a0
[m] [ff
6 — 20 — 200
NPSH // 4
L — ) 10 | 100
0 0 0
0 200 400 600 800 1000 Q imin]
I T T T T T T T
0 10 20 30 40 50 60 Q[min]
40 i
P2 'IOI-0 —
KW X A
R
2 \wﬂz/ﬁz;/’
. l\\ix;
T
0 200 400 600 800 1000 Q imin]
80 i
n 9-0/10-0 —
|~
w70 7\\
- 9-2/10-2
60 ,/
50
0 200 400 600 800 1000 Q [Imin]
Rotation speed =2960 min-!
Test standard: ISO 9906:2012 - Grade 3B
342
I A= FRARA piimne Fiirnne

50Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVM(L)45

Dimensional sketch

Round flange (F) - DN80
c 1
B
T T
I I
o Y
T e
9
e
A -
FE==14 G338
N
I
N° 8 holes 218
D< IR
]
(=) 1
g
L= TR
N° 4 holes o14| |9
190
251
365
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ Weight
H2 Weight Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B c H3
EVM(L)45 1-1F5/3.0 16 30 | 100L | 160 | 196 155 306 | 525 71 93.8
EVM(L)45 1-0F5/4.0 1.6 40 [ 112M | 160 | 196 155 306 525 73 95.8
EVM(L)45 2-2F5/5.5 1.6 55| 1328 | 300 | 225 160 328 618 81 119.6
EVM(L)45 2-0F5/7.5 1.6 7.5 | 1328 | 300 | 225 160 350 | 618 81 121.4
EVM(L)45 3-2F5/11 1.6 11 | 160M | 350 | 248 194 476 | 821 99 161.5
EVM(L)45 3-0F5/11 1.6 11 | 160M | 350 | 248 194 476 821 99 161.5
EVM(L)45 4-2F5/15 2.5 15 | 160 M | 350 | 317 238 498 | 893 108 196.9
EVM(L)45 4-0F5/15 25 15 | 160 M | 350 | 317 238 498 893 108 196.9
EVM(L)45 5-2F5/18.5 25 18.5| 160L | 350 | 317 238 542 965 128 232
EVM(L)45 5-0F5/18.5 25 18.5| 160L | 350 | 317 238 542 965 128 232
EVM(L)45 6-2F5/22 25 22 | 180M | 350 | 360 268 577 | 1037 133 296
EVM(L)45 6-0F5/22 25 22 | 180M | 350 | 360 268 577 | 1037 133 296
EVM(L)45 7-2F5/30 25 30 | 200L | 400 | 399 300 658 | 1124 139 367
EVM(L)45 7-0F5/30 2.5 30 | 200L | 400 | 399 300 658 | 1124 139 367
EVM(L)45 8-2F5/30 25 30 | 200L | 400 | 399 300 658 | 1196 146 374
EVM(L)45 8-0F5/30 25 30 | 200L | 400 | 399 300 658 | 1196 146 374
EVM(L)45 9-2F5/30 2.5 30 | 200L | 400 | 399 300 658 | 1269 151 379
EVM(L)45 9-0F5/37 25 37 | 200L | 400 | 399 300 658 | 1269 151 393
EVM(L)45 10-2F5/37 3.0 37 | 200L | 400 | 399 300 658 | 1341 156 398
EVM(L)45 10-0F5/37 3.0 37 | 200L | 400 | 399 300 658 | 1341 156 398

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar

343

F \ Piimne Fiirane _ ——
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

EVM VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVM(L)45

75-1
2731

- 2121

.

Pump without ball bearing

344

I Ty FRARA Piimn< Fiirane
Ag rometer a/s Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk




90 1z VERTICAL MULTISTAGE PUMPS EVM
SECTIONAL VIEW
EVM(L)45
274-2
150

120-13 274-3
140\ 56
\ == / 51
130-4 NS P — — /?"‘V”_LI‘/QO-S
120-6
/ 162
130-2
245

111-3
273
| , 75
| ‘ : T—— 212
= B
>y f 1151

=)

7 */

4 /MO
N\
an

————

[
jk

1
154 — TS
R S « > \
1303 —— 1] \ 7
274-1 Lt 111
435 ——— 1 I|I = Hﬂ\ e
T
! =
1201 — I|I - m\\ 52
436 —— 1 | ] l 136-1
1371 —| ]
48 — 7 =
31
437
75-1 52-2 —
273-1 44-2 —
—— 2121 6 —
45
613 —_ P
131-2 /ﬂ
|

u L

Pump with single ball bearing

345

F \ Piimne Fiirane _ ——
Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM VERTICAL MULTISTAGE PUMPS 50 Hz

SECTIONAL VIEW
EVM(L)45
120-7
135-4 e — 2742
120-13 1 = \\ 4 190
/Hl T e iz [] 7041
51 /{ﬁ\_gg 1
128-3 N i %6
\'.I J 140-1
120-8 \K::‘:: f 16
245 i 301
140-2 H o h - 1353
( = - -
131-1 { i inam B
| o9 iuia i 120-5
130-2 .‘ ‘. 1206
130-4 | ! 120-4
111-4 e q \g ;
130-1 " ~ ; ‘
| — |
120-3 ". T & | 73
111-3 N xan] anas /
A ; i 75
128-1
4 1K 212
135-1 = X2 — 1
i ] _/
:;z:\~~J O | — e 115-1
— ] N
T LA N ——T
2741\__:\H~ 3\\111 ,
435 — ! || T
i [ 111-2
I | i i 115-4
52-1 \T\\*‘_ J \ 43-1
i T— %
44-1 \i:\l t\ 136-1
A d 438
Tk |
IR
I

75-1
2731
2121

Pump with single ball bearing

346
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer al S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

|

120-7
135-4 _/l:?jL 129
] 136
12013 , N
s L I 1 701
et 181 (8]
\ I . 140-1
120-8 N\ | | L
Y | Vg
raaa\w|i5) B )|

140-2

1311 —

302 ( i y 162
= 1 - ]

3 39-1

130-4 ' 0 I

I f 135-3

1 I
' 1205

111-4 | & |
| ™ ,' 120-6

1304 Bf ' 120-4

120-3 ! ! i

111-3 \ . - @ . o
- T /=] 75

128-1 & Hi HH

1351 - 8 W ¢
) H 11

115-5 \t L —

130-3 s 1
A \ — 7
41— T .

2741 — T T }

“ HEN LS L \ 111-1
—_—
| \ 112
433 ~
o — \ 115-4
44_1 \\ ™~ \ 43-1
43-4 \ - i~ \ 136-1
4T TN 438
L
32— | o1
1200 —— |
436 — ||

1371 — | | 1

48 —
31 g
437
75-1 522 — 1]
273-1 44-2
212-1 6—

45 H
613 \%

131-2 /:]'I'
!

Pump with double ball bearing

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

Agrometer a/s

EVM(L)45
N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM EVML

5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
6 Bottom casing EN. 1.4308 (ASTM CF8) EN. 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
" Casing cover Cast Iron + EN 1.4301 (AISI 304) Cast Iron + EN 1.4401 (AISI 316)
12 Suction cover EN. 1.4301 (AISI 304) EN 1.4401 (AISI 316)
21 Impeller

- EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
211 Reduced impeller
31 Shaft EN 1.4401 (AISI 316)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-7 Shaft sleeve EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-8 Shaft sleeve (discharge-lower) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
44-1 Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve (bottom bearing) Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
53 Bush holder EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
56 Ball bearing see table page 350
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
75 O-Ring (plug) EPDM FPM
75-1 O-Ring (plug) EPDM FPM
81 Bush PTFE
107 Liner ring PTFE /EN 1.4401 (AISI316)
111-1 Mechanical seal Silicon carbide / Carbon / FPM
111-2 Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
111-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
111-4 Seal holder Brass OT 58 UNI 5705 EN 1.4401 (AISI 316)
111-5 Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
115-1 O-Ring (outer casing) EPDM FPM D.240.66x5.34
115-4 O-Ring (cartridege sleeve) EPDM FPM D.24.99x3.53
115-5 O-Ring (seal cover) EPDM FPM D.44.04x3.53
120-1 Tie Rod Galvanized steel 6.8 strenght class ISO 898/1

348
I Ty FRARA Piimn< Fiirane

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

EVM(L)45

SECTIONAL TABLE

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM EVML

120-2 Tie Rod EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

120-3 Screw A2-70 UNI 7323 M5x10 UNI 5931

120-4 Screw Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739

120-5 Screw for coupling EVM45 1-0 and 1-1 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM45 3 to 10 M10x30 UNI 5739

120-6 Screw for coupling EVM45 1102 Galvanized steel 8.8 strenght class 1ISO 898/1 M8x20 UNI 5931
EVM45 3 to 10 M12x30 UNI 5931

120-7 Screw Galvanized steel 8.8 strenght class ISO 898/1 M6X10 UNI 5739

120-8 Screw EVM452 -0 and 2-2 Galvanized steel 8.8 strenght class ISO 898/1 M12x25 UNI 5759
EVM45 3 to 10 M10x30 UNI 5739

120-9 Screw EVML EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) Mox8 UNI 5737
EVM. EVMG UNI 5739

120-12 | Screw EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M6x20 UNI 5931
EVM45 1-0, 1-1 M8x20 UNI 5739
EVM45 2-0, 2-2 M12x30 UNI 5739

120-13 Screw for motor EVML45 9-0, 10-0, 10-2 Galvanized steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739
EVM45 9-0, 10-0, 10-2 M16x55 UNI 5737
EVM45 3-0 to 9-2 M16x65 UNI 5739

128-1 Nut (Tie Rod) Galvanized steel M16 UNI 5588

128-2 Nut Carbon Steel EN 1.4401 (AISI 316) M5 UNI 5588

128-3 Nut Galvanized steel M16 UNI 5588

129 Lock nut Carbon Steel M75x2

130-1 Set screw A2- 70 UNI 7323 M6x8 UNI 5923

130-2 Screw (coupling guard) A2-70 UNI 7323 M5x6 UNI 7687

130-3 Set screw A2-70 UNI 7323 M6x6 UNI 5923

130-4 Set screw Carbon Steel M10x10 UNI 5923

131-1 Pin for shaft Carbon Steel

131-2 Elastic pin Galvanized steel 6x25 UNI 6873

135-1 Washer Galvanized steel 17x30x3 UNI 6592

135-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 1751

135-4 Washer Carbon Steel 6.4 UNI 1751

135-5 Washer EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)

136 Bearing washer Carbon Steel

136-1 Stopper ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

137-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

140 Coupling Brass OT 58 UNI 5705

140-1 Motor coupling Carbon Steel

140-2 Coupling (pump side) Carbon Steel

150 Spacer Carbon Steel

160 Base Cast Iron EN-GJL-200 EN1561

162 Motor bracket Cast Iron EN-GJL-200 EN1561

212 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

2121 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

2731 Plug washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

274-1 C-type snap ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) D.26 UNI 7435
EVM45 2-0, 2-2 D.50 UNI 7435

274-2 C-type snap ring EVM45 3 to 5 Carbon Steel TC80 D.65 UNI 7435
EVM45 6-0 and 6-2 D.75 UNI 7535

274-3 C-type snap ring Carbon Steel TC80 D.110 UNI 7437

613 Flange Carbon Steel

349
F \ Piimn< Fiirnne _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz

VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL
EVM(L)45

o
Pump Type N
5-2| 11 [ 21 |21-1(39-1|43-2|43-3 (434 [44-1| 51 [52-1| 53 | 56 |70-1| 81 | 107 |120-4|120-5]{120-7|120-8(128-3| 129 (135-3|1354| 136 | 140 | 140-1(140-2| 150 |274-2(274-3
EVM(L)45 1-1F5/3.0 117 (7|1 ! / / / / / P O A O | 1 / 2 / / / / / / 1 1 / / / / !
EVM(L)45 1-0F5/4.0 117 (1|7 ! ! / / / ! P I A A 1 ! 2 / / / / / / 1 1 / / / ! !
EVM(L)45 2-2F5/5.5 2|/ /|2 / 1 / / / 1 121 |2 2 / / / 4 / / / / 1 1 / / 1 1 1
EVM(L)45 2-0F5/7.5 2/ (2|1 / 1 / / / 1 I{2(17)12] 2 ! / / 4 / / / / 1 1 / / 1 1 1
EVM(L)45 3-2F5/11 311 112 1 2 / / / 1 /1311 1138 3 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 3-0F5/11 313/ |1 2 / / / 1 /I {3(1|1]3]3 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVM(L)45 4-2F5/15 4 11]12]|2 1 2 1 1 1 1 11411 113 4 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 4-0F5/15 4111471 2 1 1 1 1 1141113 4 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVM(L)45 5-2F5/18.5 511(13]2 1 3 1 1 1 1 11511 114 5 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 5-0F5/18.5 515/ 1 3 1 1 1 1 115|114 5 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVM(L)45 6-2F5/22 61421 4 1 1 1 1 116|115 6 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 6-0F5/22 61|61/ 1 4 1 1 1 1 11611 1156 6 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 7-2F5/30 7(1512]|1 5 1 1 1 1 11711167 4 4 3 4 4 1 4 3 1 / 1 1 / ! !
EVM(L)45 7-0F5/30 717/ |1 5 1 1 1 1 11711167 4 4 3 4 4 1 4 3 1 / 1 1 / ! /
EVM(L)45 8-2F5/30 81162 1 6 1 1 1 1 11811 117 8 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)45 8-0F5/30 g1 (8| /|1 6 1 1 1 1 118|117 8 4 4 3 4 4 1 4 3 1 / 1 1 / / !
EVM(L)45 9-2F5/30 9 (1|7 2]|1 7 1 1 1 1 11911189 4 4 3 4 4 1 4 3 1 / 1 1 / ! /
EVM(L)45 9-0F5/37 9 (19| / 1 7 1 1 1 1 11911 118 9 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)45 10-2F5/37 1011 (8]2 1 8 1 1 1 1 1 (10] 1 119110 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)45 10-0F5/37 10110 /|1 8 1 1 1 1 1110|119 |10 4 4 3 4 4 1 4 3 1 / 1 1 / ! !
BEARINGS
EVM(L)45
N°
Pump Type 56
EVM(L)45 1-1F5/3.0 !
EVM(L)45 1-0F5/4.0 !
EVM(L)45 2-2F5/5.5 6310 ZZ C3
EVM(L)45 2-0F5/7.5 6310 ZZ C3
EVM(L)45 3-2F5/11 6313 2Z C3
EVM(L)45 3-0F5/11 6313 ZZ C3
EVM(L)45 4-2F5/15 6313 ZZ C3
EVM(L)45 4-0F5/15 6313 ZZ C3
EVM(L)45 5-2F5/18.5 63132Z C3
EVM(L)45 5-0F5/18.5 6313 2Z C3
EVM(L)45 6-2F5/22 6315Z7Z C3
EVM(L)45 6-0F5/22 631527 C3
EVM(L)45 7-2F5/30 6315 ZZDT C3 *
EVM(L)45 7-0F5/30 6315 ZZDT C3 *
EVM(L)45 8-2F5/30 6315 ZZDT C3 *
EVM(L)45 8-0F5/30 6315 ZZDT C3 *
EVM(L)45 9-2F5/30 6315 ZZDT C3 *
EVM(L)45 9-0F5/37 6315 Z2ZDT C3 *
EVM(L)45 10-2F5/37 6315 ZZDT C3 *
EVM(L)45 10-0F5/37 6315 ZZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

350
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rO m ete r a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
| T | T | 1
0 Imp.g.p.m. 50 100 150 200 250
0.6 60
P H w0
MP T
[MPa] [m] ——— A
2~0/7 | [ft]
Sy 160
S - 140
0.4 40 e ~
T \'\
~—~— 2o, \ 120
\5‘5’% \
\ N - 100
T T T — 10k, - 80
NPSH
02 af——= — r— . T~ \\1 mom ]
—— -1/ -
\\
- 40
S .
NPSH ___—] I L P
e
0 0 0
0 200 400 600 800 1000 Q [imin]
| T T T T T T T
0 10 20 30 40 50 60 Qmdn]
8 |
P2 2;0 —
1%0 —_
11—
0 |
0 200 400 600 800 1000 Q [i/min]
80
Tl p— :
0 [ \\\
e 70 ~ <
22 NG N 29
6 | AY \ 1-0
fi—SN
N\
50
0 200 400 600 800 1000 Q [min]
Rotation speed 2900 min-1
Test standard: 1ISO 9906:2012 - Grade 3B
351
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

H
[ff

352

Agrometer a/s

EVMG45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
I 1 T 1 T I
0 Imp.g.p.m. 50 100 150 200 250
129 120
p H
[MPa] m] I R —_— . — 350
—_—— ~0/75%
D e A — . — 300
I R —— \\\\
7] = — N |
30/, " \ \\ 250
—— — | \
—+— \\&2 . \\ L 200
N — 150
\ NPSH
0.4 — 40 \| m [
6 ——20 — 100
/'/ 4
NPSH 10 =50
// 2
0 - 0 0
0 200 400 600 800 1000 Q [ifmin]
I 1 1 T 1 1 1 T
0 10 20 30 40 50 60 Q[mn]
o &0 e
[KW] 472 \//
312 —_—
4
0 200 400 600 800 1000 Q [min]
80
\ 3-0
[%] 70 \\
p.d 32
60 7
4-2
50 ‘
0 200 400 600 800 1000 Q [imin]
Rotation speed =2930 min-!
Test standard: ISO 9906:2012 - Grade 3B
I A= FRARA piimne Fiirnne

50Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 e EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG45
0 USgpm 50 100 150 200 250 300
| | | | | | |
I T T T T T
0 Impg.p.m. 50 100 150 200 250
204 200
0 H - 600
[MPa] m] H
[ft]
T — '
15— 150 — 6. i~ 500
T —— Ty
R ; N
—— | ) \512/2&(\”/\\
—— [ {O/i&&w ~ N - 400
T y '—\‘ 5-2/1 \\
185k \\
10 100
\‘ N\ 300
N \
\ 200
0.5 50 NPSH
[m] [f]
6 ——20 |- 100
]
NPSH L — ; "
0 0 0
0 200 400 600 800 1000 Q [ifmin]
T T T T T T T T
0 10 20 30 40 50 60 Qmn]
22 i
Po 8 6;0 ’//
] 6-2 — —
5.9 T~ g
10 I
0 200 400 600 800 1000 Q [Vmin]
80
T
\
n 5-0/6-0 —
|~
% 70 \<
< 6-2 /\
60 A '
50
0 200 400 600 800 1000 Q [ifmin]
Rotation speed =2940 min-!
Test standard: ISO 9906:2012 - Grade 3B
353
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

2.5

[MPa]

20—

0.5

P2
[kw]

[%]

PERFORMANCE CURVE

EVMG45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
f T T T T T
0 Impg.pm. 50 100 150 200 250
250
- 800
H
m = H
—_—— =700
I — —— s ff]
= S
——— \%\ - 600
‘\__“* | \0/30’(W ~ \‘
F\\{Z\?okw \ N
150 I~ \\ N\ - 500
\\
- 400
N\
100 N\
NPSH [~ 300
[m] [ff]
6——20 [ 200
50
NPSH ~ 4
10 100
e 2
0 0
0 200 400 600 800 1000 Q [Imin]
T T T T T T T T
0 10 20 30 40 50 60 a[m
30
I —
80 — — —
~ ///—f
7-2
10 l
0 200 400 600 800 1000 Q [Vfmin]
80
T
:\
7-018-0 |
< >
70 \7\
” 7-2/8-2
60 ,/
50
0 200 400 600 800 1000 Q [Vfmin]
Rotation speed =2960 min-!
Test standard: ISO 9906:2012 - Grade 3B
354
A= FRARA piimne Fiirnne

Agrometer a/s

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 1 EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
I T T T T T
0 Impgpm. 50 100 150 200 250
30— 300
p Ho| - 900
[MPa] m = \ H
—— —1 '1'—\ 70~0/ I
L _ —.\9\0‘ m - 800
L T T ———2-0/37 =</,
- {-—E/Bmﬁv\ %\\\
— 700
20— 200 \\\\\\
\\\\ — 600
\\\\\‘
— 500
NG
\ - 400
10— 100 NPSH L 300
[m] [ft]
6—— 20 |- 200
NPSH - 4
L ) 10 1~ 100
0 0 0
0 200 400 600 800 1000 Q [Vimin]
I T T T T T T T
0 10 20 30 40 50 60 Qmn]
40 I
P 10|-0 L
kW] - //___——
M g = —
02 \/,/4/
. i
I
0 200 400 600 800 1000 Q [Vmin]
80 i
n 9-0/10-0 —
L
- B
- 9-2/10-2
60 ,/
50
0 200 400 600 800 1000 Q [Vmin]
Rotation speed =2960 min"
Test standard: ISO 9906:2012 - Grade 3B
355
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMG45

Dimensional sketch

Round flange (F) - DN80
c 1
B
T T
I I
| =
=08
e
A -
1G3/8
N
I
N° 8 holes 218
De L nt S[glg
=) iy Qs
g
S = L A
N 4holesota] 19 [[-20
190
251
365
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ Weight
H2 Weight Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B c H3
EVMG45 1-1F5/3.0 1.6 3.0 | 100L | 160 | 196 155 306 | 525 71 93.8
EVMG45 1-0F5/4.0 1.6 40 [ 112M | 160 | 196 155 306 525 73 95.8
EVMG45 2-2F5/5.5 1.6 55| 1328 | 300 | 225 160 328 618 81 119.6
EVMG45 2-0F5/7.5 1.6 75| 1328 | 300 | 225 160 350 | 618 81 121.4
EVMG45 3-2F5/11 1.6 11 | 160M | 350 | 248 194 476 | 821 99 161.5
EVMG45 3-0F5/11 1.6 11 | 160M | 350 | 248 194 476 821 99 161.5
EVMG45 4-2F5/15 2.5 15 | 160 M | 350 | 317 238 498 | 893 108 196.9
EVMG45 4-0F5/15 25 15 | 160 M | 350 | 317 238 498 893 108 196.9
EVMG45 5-2F5/18.5 25 18.5| 160L | 350 | 317 238 542 965 128 232
EVMG45 5-0F5/18.5 25 18.5| 160L | 350 | 317 238 542 965 128 232
EVMG45 6-2F5/22 25 22 | 180M | 350 | 360 268 577 | 1037 133 296
EVMG45 6-0F5/22 25 22 | 180M | 350 | 360 268 577 | 1037 133 296
EVMG45 7-2F5/30 25 30 | 200L | 400 | 399 300 658 | 1124 139 367
EVMG45 7-0F5/30 2.5 30 | 200L | 400 | 399 300 658 | 1124 139 367
EVMG45 8-2F5/30 25 30 | 200L | 400 | 399 300 658 | 1196 146 374
EVMG45 8-0F5/30 25 30 | 200L | 400 | 399 300 658 | 1196 146 374
EVMG45 9-2F5/30 2.5 30 | 200L | 400 | 399 300 658 | 1269 151 379
EVMG45 9-0F5/37 25 37 | 200L | 400 | 399 300 658 | 1269 151 393
EVMG45 10-2F5/37 3.0 37 | 200L | 400 | 399 300 658 | 1341 156 398
EVMG45 10-0F5/37 3.0 37 | 200L | 400 | 399 300 658 | 1341 156 398

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar

356
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




T

VM

50 Hz VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVMG45

L
]

Pump without ball bearing

357

_ —— A
Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

Ag rO m ete r a/ S www.agrometer.dk ¢ agrometer@agrometer.dk

F \ Piimne Fiirane



EVM

50 Hz

VERTICAL MULTISTAGE PUMPS

75-1
2731
2121

~—
I

L
e

SECTIONAL VIEW
EVMG45

e =
111-4 %\
130-1 =
120-3 N :\ i -
115-5 i . ™~ - —
128-1 \ :
135-1 \ !
111-5\|[ ] I‘\\ j_ [
111-2%*\ - ! — T 0
115-4\~&j\ \\ 115-1
1303— \

47 — | 4F~ \ \ 5-4
274-1 f i \ 111-1
435——— 1] || Ii - 43-1

Il - 81
21
o —11] | .
436 —— | | ‘_IJL ||| \ 136-1
137-1 —_
E==t | - 43-8
48 —=r || | : =
31 AT e N —_
157 - :,;z))(-\ — 1282
s 120-2
o2 _’/jt: ‘ (M \ 107
44-2 AN
6 — \ l‘ i /7; \ / Q\\\ ! 432
i L A | D) N E 1209
— | ~ j
N 70-2
613 \;’: r j\ﬁg N 372
] N 135.5
— _T\ 120-12
| i I
| J

Pump with single ball bearing

358

7
Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



S0+ EVM
VERTICAL MULTISTAGE PUMPS
SECTIONAL VIEW
EVMG45
2742
120-7
1354 rvov?_ 150
120-13 BIEEERN 7 70
- 1l Il
_/ . ami \% 56
51 oee
_/ﬁ&‘- ' I‘ i 140-1
128-3 N I
\ 1
120-8 *R-dh«j
245 \ il
140-2 T _d . 2
¢ b —rh— \
131-1 . .
39-1
1302 '. kG !
. T 135-3
| K | 120-6
130-1 | ¥ ]
120-3 " = | ! 1204
- 1 i t+ I
111-3 o ' 21
‘\r‘ ﬁ Tin ] 17 75
1281 —— > _ L
i 212
135-1
rET N o | o m_ 1
1155 | 7 o
1303 x 115-1
o— 7 —
47 —\+\ — oa
274-1 \T:: T 4114
y i \ )
je— o —
' i ] 1154
52-1 _\H‘()\\H_ I \
o _\+ \\ 43-1
434_\+ » .\\ 136-1
§ H
_\T\\‘ | 438
| |
|
l
| 1] =
432 — |
12040 —— i P — &
436 ——— L[1 | i .
137‘;:3 —F LL\ +—
31 i) S 52
43-7 i - s 12
- | / .
75-1 522 /’—‘mh . \ 128-2
S mail 120-2
273-1 442 — i \ \
[T \\ 3, 107
212-1 6— | | I\|II| ¥ 'L\l“ iZax ™~ 1209
: N 7 A 7 =
45— | -
613 —'ﬂ_fi_ ' \ 70-2
T~ (’ - Q 1372
F | \ 1355
! ] | ~ 120-12
'-. L |
Pump with single ball bearing
359
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rO m ete r a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS 90 H:

SECTIONAL VIEW
EVMG45

751
273-1

442 = A
212-1 |

Pump with double ball bearing

360
Ty FRARA Piimn< Fiirane
Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE

EVMG45

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMG
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL 250 EN 1561
7 Outer casing EN 1.4301 (AISI 304)
" Casing cover Cast Iron EN GJL 250 EN 1561
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller
- EN 1.4301 (AISI 304)
211 Reduced impeller
31 Shaft EN 1.4401 (AISI 316)
39-1 Key Carbon Steel 12x8x90 UNI 6604
431 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-7 Shaft sleeve EN 1.4301 (AISI 304)
43-8 Shaft sleeve (discharge-lower) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve (bottom bearing) Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing see table page 363
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM
75-1 O-Ring (plug) EPDM
81 Bush PTFE
107 Liner ring PTFE /EN 1.4401 (AISI316)
1111 Mechanical seal Silicon carbide / Carbon / FPM
11-2 Mechanical seal cartridge EN 1.4301 (AISI 304)
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder Brass OT 58 UNI 5705
111-5 Adjusting ring EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D.240.66x5.34
115-4 O-Ring (cartridege sleeve) EPDM D.24.99x3.53
115-5 O-Ring (seal cover) EPDM D.44.04x3.53
120-1 Tie Rod Galvanized steel 6.8 strenght class ISO 898/1
361

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMG45

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMG

120-2 Tie-rod EN 1.4301 (AISI 304)

120-3 Screw A2-70 UNI 7323 M5x10 UNI 5931

120-4 Screw Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739
EVM45 1-0 and 1-1 M8x20 UNI 5931

120-5 Screw for coupling Galvanized steel 8.8 strenght class ISO 898/1
EVM45 3 to 10 M10x30 UNI 5739

120-6 Screw for coupling EVMa5 1102 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM45 3 to 10 M12x30 UNI 5931

120-7 Screw Galvanized steel 8.8 strenght class ISO 898/1 M6X10 UNI 5739

120-8 Screw EVM452 -0 and 22 Galvanized steel 8.8 strenght class ISO 898/1 M12x25 UNI 5739
EVM45 3 to 10 M10x30 UNI 5739

120-9 Screw EVML EN 1.4301 (AISI 304) M58 UNI 5737
EVM. EVMG UNI 5739

120-12 | Screw EN 1.4301 (AISI 304) M6x20 UNI 5931
EVM45 1-0, 1-1 M8x20 UNI 5739
EVM45 2-0, 2-2 M12x30 UNI 5739

120-13 | Screw EVMLA45 9-0, 10-0, 10-2 Galvanized steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739
EVM45 9-0, 10-0, 10-2 M16x55 UNI 5737
EVM45 3-0 - 9-2 M16x65 UNI 5739

128-1 Nut for tie rod Galvanized steel M16 UNI 5588

128-2 Nut Carbon Steel M5 UNI 5588

128-3 Nut Galvanized steel M16 UNI 5588

129 Lock nut Carbon Steel M75x2

130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

130-3 Set screw A2-70 UNI 7323 M6x6 UNI 5923

130-4 Set screw Carbon Steel M10x10 UNI 5923

131-1 Pin for shaft Carbon Steel

135-1 Washer Galvanized steel 17x30x3 UNI 6592

135-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 1751

135-4 Washer Carbon Steel 6.4 UNI 1751

135-5 Washer EN 1.4301 (AISI 304)

136 Bearing washer Carbon Steel

136-1 Stopper ring EN 1.4301 (AISI 304)

137-1 Impeller spacer EN 1.4301 (AISI 304)

137-2 Shaft spacer EN 1.4301 (AISI 304)

140 Coupling Brass OT 58 UNI 5705

140-1 Coupling (motor side) Carbon Steel

140-2 Coupling (pump side) Carbon Steel

150 Spacer Carbon Steel

162 Motor bracket Cast Iron EN-GJL-200 EN1561

212 Plug EN 1.4301 (AISI 304)

2121 Plug EN 1.4301 (AISI 304)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug Washer EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

274-1 C-type snap ring EN 1.4301 (AISI 304) D.26 UNI 7435
EVM45 2-0, 2-2 D.50 UNI 7435

274-2 C-type snhap ring EVM45 3 to 5 Carbon Steel TC80 D.65 UNI 7435
EVM45 6-0 and 6-2 D.75 UNI 7535

274-3 C-type snap ring Carbon Steel TC80 D.110 UNI 7437

613 Flange Carbon Steel

362
I Ty FRARA Piimn< Fiirane

Agrometer a/s

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL
EVMG45

o
Pump Type N
5-2( 11 | 21 |21-1|39-1 (43-2|43-3|434 |44-1| 51 [52-1| 53 | 56 |70-1| 81 | 107 |1204(120-5|120-7{120-8|128-3| 129 (135-3|1354| 136 | 140 | 140-1|140-2| 150 |274-2(274-3
EVM(L)45 1-1F5/3.0 AR A A A A A A A A A e / / I
EVM(L)45 1-0F5/4.0 AR A A A A e / Lo |
EVM(L)45 2-2F5/5.5 2/ 1|2 / 1 / / / 1 121 |2 2 / / / 4 / / / / 1 1 / / 1 1 1
EVM(L)45 2-0F5/7.5 A AN AR AR A A AR A AR A A A A A A A Y, /| 1 1
EVM(L)45 3-2F5/11 3(11]12]1 2 / / / 1 I {3f1|1]3 3 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVM(L)45 3-0F5/11 slafsfsfa 231|133 |afa|3|al|af/|a]|3]|/|/]1 1 1 1 /
EVM(L)45 4-2F5/15 41112121 2 1 1 1 1 114 |11(1]3]| 4 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 4-OF5/15 afrfal st 2| v v fr]|alr|1|3|a|alal|3|alalsr|a|3]| || 1 1 1 /
EVM(L)45 5-2F5/18.5 5(13|2]1 3 1 1 1 1 1151114 5 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)4550F5/18.5 | 5 | 1[5 /[ 1 [3 [ 1 [ 1|11 |1|5][1|1]|4a]|5|a|a|3|a|a|/|a]|3]|/|/]1 1 1 1 /
EVM(L)45 6-2F5/22 6|1 a2t a1 |11 |1|1]e|[1]|1]|5]|6]|4a|a|3|a|a|/|a|3]|/]|/]1 1 1 1 /
EVM(L)45 6-0F5/22 6(1|6]/ 1 4 1 1 1 1 116|115 6 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
EVM(L)45 7-2F5/30 7152151111 |1|7[1]|1]|6]|7|a|a|3|a]|a|1|a]|3]|1]|/]1 1 Lol
EVM(L)45 7-OF5/30 77l s 1711 ]|e| 7| 4afa|3|a]al|a]|3]1]| /] 1 Lol
EVM(L)45 8-2F5/30 g(16]|2]1 6 1 1 1 1 1181117 8 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)45 8-0F5/30 sl1 |8/t e |11 |11 |1]|8][1]|1]|7]|8]|a|a|3|a]|a|1|a]|3]|1]|/]1 1 / |
EVM(L)45 9-2F5/30 o1 |7 2171|111 |1]of[1]|1]|8]9o]|4a|a|3|a]|a|1|a]|3]|1]|/]1 1 Lol |
EVM(L)45 9-0F5/37 9 (19| / 1 7 1 1 1 1 11911 (1]8 9 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)45 10-2F5/37 1001821 8 1 1 1 1 111011910 4 4 3 4 4 1 4 3 1 / 1 1 / ! !
EVM(L)4510-0F5/37 |10 | 1 [10| / [ 1 [ 8 [ 1 [1 [ 1|1 |1]10[1|1]|9]|10]|4|[a |3 |a]|a|1|a]|3]1]|/]1 1 BERN
BEARING
EVMG45
N°
Pump Type 56
EVMG45 1-1F5/3.0 /
EVMG45 1-0F5/4.0 /
EVMG45 2-2F5/5.5 63102Z C3
EVMG45 2-0F5/7.5 6310 ZZ C3
EVMG45 3-2F5/11 6313 22 C3
EVMG45 3-0F5/11 6313 ZZ C3
EVMG45 4-2F5/15 6313 ZZ C3
EVMG45 4-0F5/15 6313 22 C3
EVMG45 5-2F5/18.5 63132ZZC3
EVMG45 5-0F5/18.5 631322 C3
EVMG45 6-2F5/22 631522 C3
EVMG45 6-0F5/22 631527 C3
EVMG45 7-2F5/30 6315ZZDTC3 *
EVMG45 7-0F5/30 63152ZDT C3*
EVMG45 8-2F5/30 63152ZDT C3 *
EVMG45 8-0F5/30 63152ZDT C3*
EVMG45 9-2F5/30 63152ZDT C3*
EVMG45 9-0F5/37 6315 2ZDT C3*
EVMG45 10-2F5/37 6315 ZZDT C3 *
EVMG45 10-0F5/37 6315ZZDT C3*
*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.
363
F \ Piimn< Fiirnne _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rO m ete r a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0  Impg.p.m. 100 200 300
0.3 — 30
p H —J_ 90
[MPa] [ml — H
-0 ft
\Qﬂv g
0.2 20 ~— Qé \\
.0
N N 60
\\
\ — 50
\\ \
N NPSH “0
01— 10 (m] [ft]
30
8 —
—~ —20 20
/
//
NPSH __— 4
_— =10 |- 10
0 0 0
0 400 800 1200 Q [Imin]
T T T T T
0 20 40 60 80 Q[m
6 |
P2 1-0 _——
-, -~ T
1-1 e
| ml
2
0 400 800 1200 Q [min]
80
(70 1= — S
} ,// N\ \\
60 1-0 \\// \\
|
50 ‘
0 400 800 1200 Q [Umin]
Rotation speed =2900 min-!
Test standard: ISO 9906:2012 - Grade 3B
364
I A= FRARA piimne Fiirnne

Agrometer a/s

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 1 EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVM(L)64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0 Imp.g.p.m. 100 200 300
0.6 — 60
p H e — 180
T — H
MPa] M~ — —_— 2
o T —— - 160
— f— _— \é7/77kw \\\
T —— T N\ -
04 40 2-2/, N
—</ Sty
\\ NG 120
\\ \\
— 100
N\
\ NPSH
\ [m] [f] 80
0.2 7 20 8 —
— 60
P -
- 2
7 - 40
// 4 —
NPSH " =10
// 20
0 0 0
0 400 800 1200 Q [lfmin]
T T T T T
0 20 40 60 80 Q[mn
12
P2 20 -
- 21— T —
3 ———
‘ \\//_/
2'2 \\/7
4
0 400 800 1200 Q [l/min]
80 ‘
n | - —-ﬁ\‘
70 22 % S~
21| . N
| — \
60 20 N
50
0 400 800 1200 Q [limin]
Rotation speed 2930 min
Test standard: ISO 9906:2012 - Grade 3B
365
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



VERTICAL MULTISTAGE PUMPS

0.9

[MPa]

0.6

0.3

P2
(kW]

PERFORMANCE CURVE

EVM(L)64
0 USgpm 100 200 400
| | | |
I T T T
0 Impgpm 100 200 300
90
H — — — — — —
m — T—— 3~ H
m ~— T — \IO/&E\’(W =250 ]
L \ — \\3-7#5 N \‘
— — \\3~2/75kw \‘ \\
60 \iﬁsm \\\‘ N - 200
\\\\\
\\ \\ \\
\\\\ N\ A - 150
30 h NPSH |- 100
[m] [f]
8
— 20 50
/
//
NPSH _— 4
0 0
0 400 800 1200 Q [Vmin]
T T T T T
0 20 40 60 80 Qmn]
18 |
30 —
" 3-1 // I—
3-2 —
| //
33
6 ‘
0 400 800 1200 Q [imin]
80 ‘
70 33 Z IR
32 7 NN
A / N
0 31 Z 7 \‘
30—
50
0 400 800 1200 Q [Vmin]
Rotation speed =2940 min-!
Test standard: ISO 9906:2012 - Grade 3B
366
A= FRARA piimne Fiirnne

Agrometer a/s

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

0.8 —

0.4 —

P2
(kW]

n

PERFORMANCE CURVE
EVM(L)64

300

400

120

[m] — 4

=350 H

[]]
|

Ift

= 300

80

////
/

- 250

— 200

NPSH

40

(] [ff
— 150

8_

— 20 [~ 100

NPSH

=50

800 1200

0
Q [V/min]

24 T

Q[mn]

(|

8
800
80

Q[V/min]

4-0

%] 70

441

60

—_ 42

/A/
/4

™~ 4-3

50

367

800

1200 Q [limin]

Rotation speed 2940 min
Test standard: ISO 9906:2012 - Grade 3B

F \ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVM VERTICAL MULTISTAGE PUMPS 50 Hz

PERFORMANCE CURVE

EVM(L)64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0  Impgp.m. 100 200 300
15— 150
p H — : e . - 450
[MPa] [m] ii\ﬁ\\i%,<>% H
T — — — —- 1/ [ft]
—_— \“\\‘ > 3 ‘VW\\‘ 400
kw
\}%QQ\
350
10— 100 N~ \\\
~ ‘\ \\ 300
\\\
Q \\
\\| - 250
N
200
NPSH
0.5 50 ml [
150
8 —
~ —20 |~ 100
/
//
NPSH // 4 —
g —10 |50
0— 0 0
0 400 800 1200 Q [Imin]
T T T T T
0 20 40 60 80 Qm
30 |
P2 50 S
W 5-1 —
- e
5\2 ‘\2//
5-3 —
10 ‘
0 400 800 1200 Q [Vmin]
80 ‘
n ~
[%] 70 ‘i\Y 2(1)
N 52
60
5-3
50 ‘
0 400 800 1200 Q [Vmin]
Rotation speed =2960 min-!
Test standard: ISO 9906:2012 - Grade 3B
368
I A= FRARA piimne Fiirnne

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 e EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVM(L)64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0  Impg.pm. 100 200 300
204 200
p H - 600
[MPa] m H
—_— T ——_ 6-0/37 o Ift
- N = 6-1/37 kw
P . —— \:\ﬂ\‘\Z:\ - 500
T
TN
\\\\
6230007 TN \\\\ 0
6-3/30 kw \\ \i\
104 100 AN
\\| - 300
N
NPSH | 900
[m] [ft]
05— 50
8
— 20 100
NPSH /// )
— 10
0— 0 0
0 400 800 1200 Q [ifmin]
T T T T T
0 20 40 60 80 Qmin]
35 |
P2 6-0 —
[kW] - 6_1 //;7
—
m— e
63 ———
15 ‘
0 400 800 1200 Q [Vmin]
80 ‘ ‘
n }
[%] 70 60
° X6
6-2
60 53
50 ‘
0 400 800 1200 Q [Vfmin]
Rotation speed 2960 min
Test standard: ISO 9906:2012 - Grade 3B
369
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM VERTICAL MULTISTAGE PUMPS 50 Hz

PERFORMANCE CURVE

EVM(L)64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0 Impg.p.m. 100 200 300
209 W=
p H T — T — T —— > - 600
[MPa] [m) ———= ——— %, H
—— ]
P— .
T~
15— 150 7-2/37kw Q\ ~ 500
2.3/ ' e \\\
=-3/37 kW N N
NN\
\\ \\\ - 400
NN
104 100 N\
™ - 300
NPSH | 900
ft
05— 50 [m] [ft]
8
—— _— 20 |- 100
NPSH — 4
- 10
0 0 0
0 400 800 1200 Q [Vmin]
T T T T T
0 20 40 60 80 Qm]
40 |
P2 7-1 —
K5 72 ————
2 —
s S ———
N R
20
0 400 800 1200 Q [Vmin]
80
n
[%] 70 // — 771 —
/ 72|
60 7-3 —
50
0 400 800 1200 Q [Vmin]
Rotation speed =2960 min-!
Test standard: ISO 9906:2012 - Grade 3B
370
I A= FRARA piimne Fiirnne

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVM(L)64

Dimensional sketch

Round flange (F) - DN100
c 1
B
\‘ ‘\
| =
Sl
@)
N
L. N
A -
f 1 G3/8
ks
N° 8 holes D3
D< fid G3/8
g Ik 8 )
g et
N° 4 holes @14 - |_D1 |
| 190 | 266
5 st
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ . Weight
KW Size A ke | D1 | D2 | D3 | e | LERL FLORY
Pmax
Pump Type [MPa] B c H3
EVM(L)64 1-1F5/4.0 1.6 40 | 112M | 160 | 196 155 306 525 | @180 | @220 | @18 20 70.4 93.2
EVM(L)64 1-0F5/5.5 1.6 55| 1328 | 300 | 225 160 328 546 | @180 | @220 | @18 20 77 115.6
EVM(L)64 2-2F5/7.5 1.6 75| 1328 | 300 | 225 160 350 618 | @180 | @220 | @18 20 81.4 121.8
EVM(L)64 2-1F5/11 1.6 1" 160M | 350 | 248 194 476 749 | @180 | @220 | @18 20 93.5 156
EVM(L)64 2-0F5/11 1.6 1 160M | 350 | 248 194 476 749 | @180 | @220 | @18 20 93.5 156
EVM(L)64 3-3F5/15 1.6 15 | 160M | 350 | 317 238 498 821 | @180 | @220 | @18 20 99 187.9
EVM(L)64 3-2F5/15 1.6 15 | 160 M | 350 | 317 238 498 821 | @180 | @220 | @18 20 99 187.9
EVM(L)64 3-1F5/15 1.6 15 | 160 M | 350 | 317 238 498 821 | @180 | @220 | @18 20 99 187.9
EVM(L)64 3-0F5/18.5 1.6 18.5| 160L | 350 | 317 238 542 821 | ©180 | @220 | @18 20 99 203
EVM(L)64 4-3F5/18.5 1.6 18.5| 160L | 350 | 317 238 542 | 893 | @180 | @220 | @18 20 108 212
EVM(L)64 4-2F5/18.5 1.6 18.5| 160L | 350 | 317 238 542 | 893 | @180 | @220 | B18 20 108 212
EVM(L)64 4-1F5/22 1.6 22 | 180M | 350 | 360 268 577 | 893 | @180 | @220 | @18 20 116 279
EVM(L)64 4-0F5/22 1.6 22 | 180M | 350 | 360 268 577 | 893 | @180 | @220 | @18 20 116 279
EVM(L)64 5-3F5/30 1.6 30 [ 200L | 400 | 399 300 658 980 | @180 | @220 | @18 20 128 356
EVM(L)64 5-2F5/30 1.6 30 [ 200L | 400 | 399 300 658 980 | @180 | @220 | D18 20 128 356
EVM(L)64 5-1F5/30 1.6 30 200L | 400 | 399 300 658 980 | @180 | @220 | @18 20 128 356
EVM(L)64 5-0F5/30 1.6 30 [ 200L | 400 | 399 300 658 980 | @180 | @220 | @18 20 128 356
EVM(L)64 6-3F5/30 1.6 30 [ 200L | 400 | 399 300 658 | 1052 | @180 | @220 | @18 20 136 364
EVM(L)64 6-2F5/30 25 30 | 200L | 400 | 399 300 658 | 1052 | @190 | @235 | @22 26 136 364
EVM(L)64 6-1F5/37 25 37 | 200L | 400 | 399 300 658 | 1052 | @190 | @235 | @22 26 136 378
EVM(L)64 6-0F5/37 25 37 | 200L | 400 | 399 300 658 | 1052 | @190 | @235 | @22 26 136 378
EVM(L)64 7-3F5/37 25 37 | 200L | 400 | 399 300 658 | 1124 | @190 | @235 | @22 26 139 381
EVM(L)64 7-2F5/37 25 37 | 200L | 400 | 399 300 658 | 1124 | @190 | @235 | @22 26 139 381
EVM(L)64 7-1F5/37 25 37 | 200L | 400 | 399 300 658 | 1124 | @190 | @235 | @22 26 139 381

1.6 MPa=16 bar ; 2.5 MPa=25 bar
371

F \ Piimne Fiirane _ ——
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

50 Hz

75-1
2731
2121

140
131-1
130-4
111-4
130-1
120-3
115-5
128-1
135-1
111-5
111-2
115-4

SECTIONAL VIEW

EVM(L)64

)

77

4

77 % ]

)

7

e e R e e e

Pump without ball bearing

372

7
Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz VERTICAL MULTISTAGE PUMPS EVM
SECTIONAL VIEW
EVM(L)64

2742
150

120-13 2743

140 \ 55?
131-1 1 . i
130-4 P — = i EZ:

Y/ ‘/iﬂ.
/[ /éhi
N[ i&!

288
[, BTN
1
(%
I]N\
\
Z\:N—‘
TR R
w

/
115-4 Q\L\jl\ 8 11
\ R —
bR A Y ——
47— 1|1 ]

’_

-
N
o

1 T
-

-
L
.;?_(._; /

T

75-1 44-2
273-1 6 ——|

212-1 45 ~_|
g

Pump with single ball bearing

373

F \ Piimne Fiirane _ ——
Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00
; I Agrometer a/s

www.agrometer.dk ¢ agrometer@agrometer.dk




EVM

VERTICAL MULTISTAGE PUMPS

50 Hz

SECTIONAL VIEW
EVM(L)64
1207 2742
135-4 ssEs 150
120-13 / : u.,\__ N —~ 7041
1)
56
/M‘ \PJ =| !
128-3 N i 140-1
l\-l)-v-t\/
I~
o —\ T T et el
¢ 1 N 162
131-1 . i i .
1302 ! o H .I 391
' , 1353
130-4 | I 1205
111-4 e M $
| _J | 120-6
1301 I I | 120-4
120-3 l'. 15y & :' 073
N J
111-3 — f=—— e
128-1 — 1
135-1 -
115-5 |
111-5
130-3 — |
47 — |
2741 ——
435
433 ——
521 — |
44-1
434 — |

—-—:j-j—-{-F——-—{%-—F{FFI—E—]F—-—I~—-—~—-—-—J—F—J—I—-——H—-I—E&—F—- =

Pump with single ball bearing

374

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVM(L)64

136
70-1
56

140-1
162

39-1

135-3
120-5
120-6
120-4

115-1

N I B
—-=
I
/
a
0}

1111

T

| —
| \
\

* ~ 43-1
=T i

’ _\‘V‘\ 438
434 \T~ N

21
81
53
211

128-2
120-2
107
120-9
70-2
137-2
135-5
120-12
160

Pump with double ball bearing

375

F \ Piimne Fiirane _ ——
Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

Ag rO m ete r a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVM(L)64

Agrometer a/s

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM EVML
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
1 Casing cover Cast Iron + Cast Iron +
EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

12 Suction cover EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
21 Impeller

- EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
211 Reduced impeller
31 Shaft EN 1.4401 (AISI 316)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-7 Shaft sleeve (bottom bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-8 Shaft sleeve (discharge-lower) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
44-1 Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
53 Bush holder EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
56 Ball bearing see table page 378
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
75 O-Ring (plug) EPDM FPM
75-1 O-Ring (plug) EPDM FPM
81 Bush PTFE
107 Liner ring PTFE / EN 1.4401 (AISI 316)
111-1 Mechanical Seal Silicon carbide / Carbon / FPM
111-2 Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
111-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
111-4 Seal holder Brass OT 58 UNI 5705 EN 1.4401 (AISI 316)
111-5 Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
115-1 O-Ring (outer casing) EPDM FPM D.240.66x5.34
115-4 O-Ring (cartridge sleeve) EPDM FPM D.24.99x3.53
115-5 O-Ring (seal cover) EPDM FPM D.44.04x3.53
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1

376
I Ty FRARA Piimn< Fiirane

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE

EVM(L)64

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM EVML
120-2 Tie-rod EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
120-3 Screw (mechanical seal) A2-70 UNI 7323 M5x10 UNI 5931
120-4 Screw (casing cover) Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739
120-5 Screw for coupling EVMG4 11 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM64 2 and higher M10x30 UNI 5739
i EVM64 1-0, 1-1, 2-2 . M8x20 UNI 5931
120-6 Screw for coupling _———— Galvanized steel 8.8 strenght class ISO 898/1
EVM®64 2 and higher M12x30 UNI 5931
120-7 Screw Galvanized steel M6x10 UNI 5739
EVM64 1-0. 2-2 M6x10 UNI 5739
120-8 Screw _———— Galvanized steel 8.8 strenght class ISO 898/1
EVM®64 2 and higher M10x30 UNI 5739
120-9 Screw EVML EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) Mox8 UNI 5737
EVM. EVMG M5x8 UNI 5739
120-12 Screw EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M6x20 UNI 5931
EVM64 1-1 M8x20 UNI 5739
120-13 | Screw EVIMI64 10, 22 Galvanized steel 8.8 strenght class 1SO 898/1 M12x30 UNI 5739
EVM64 6 to 7 M16x55 UNI 5737
EVM64 2 to 5 M16x65 UNI 5739
128-1 Nut for tie rod Galvanized steel M16 UNI 5588
128-2 Nut (motor) Carbon Steel EN 1.4401 (AISI 316) M5 UNI 5588
128-3 Nut (motor) Galvanized steel M16 UNI 5588
129 Lock nut Carbon Steel
130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
130-3 Set screw EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316) M6X6 UNI 5923
130-4 Set screw Galvanized steel M10x10 UNI 5923
131-1 Pin for shaft Carbon Steel
131-2 Elastic pin Galvanized steel 6x25 UNI 6873
135-1 Washer Galvanized steel 17x30x3 UNI 6592
135-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 1751
135-4 Washer Carbon Steel 6.4 UNI 1751
135-5 Washer EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316) D.6
136 Bearing washer Carbon Steel
136-1 Stopper ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
137-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
140 Coupling Brass OT 58 UNI 5705
140-1 Coupling (motor side) Carbon Steel
140-2 Coupling (pump side) Carbon Steel
150 Spacer Carbon Steel
160 Base Cast iron EN-GJL-200-EN 1561
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
2121 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
245 Coupling guard EN 1.4301 (AISI 304)
273 Plug Washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
2731 Plug Washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
2741 C-type snap ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) D.26 UNI 7435
EVM®64 1-0, 2-2 D.50 UNI 7435
274-2 C-type snap ring EVM®64 2 to 4-3 Carbon Steel TC80 D.65 UNI 7435
EVM®64 4-0, 4-1 D.75 UNI 7535
274-3 C-type snap ring Carbon Steel TC80 D.110 UNI 7437
613 Flange Carbon Steel
377
F \ Piimn< Fiirnne _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

Agrometer a/s



50 Hz

VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL
EVM(L)64

o
Pump Type N
5-2| 11 [ 21 |21-1(39-1|43-2|43-3 (434 [44-1| 51 [52-1| 53 | 56 |70-1| 81 | 107 |120-4|120-5]{120-7|120-8(128-3| 129 (135-3|1354| 136 | 140 | 140-1(140-2| 150 |274-2(274-3
EVM(L)64 1-1F5/4.0 117 (7|1 ! / / / / / P O A O | 1 / 2 / / / / / / 1 1 / / / / !
EVM(L)64 1-0F5/5.5 117 (1|7 ! ! / / / 1 P I O B A 1 ! ! / 4 / / / / 1 1 / / 1 1 1
EVM(L)64 2-2F5/7.5 2|/ /|2 / 1 / / / 1 121 /|2 2 / / / 4 / / / / 1 1 / / 1 1 1
EVM(L)64 2-1F5/11 2(111]1 1 1 / / / 1 I{2(11]12] 2 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVM(L)64 2-0F5/11 211121/ 1 1 / / / 1 1211 112 2 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVM(L)64 3-3F5/15 3(1|/7]3]1 2 ! / / 1 /{31 |1]3]3 4 4 3 4 4 / 4 3 1 / 1 1 1 1 !
EVM(L)64 3-2F5/15 311 112 1 2 / / / 1 /1311 113 3 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVM(L)64 3-1F5/15 311211 1 2 / / / 1 /I {3f(1|1]3]3 4 4 3 4 4 / 4 3 1 / 1 1 1 1 !
EVM(L)64 3-0F5/18.5 313/ |1 2 / / / 1 /{31 |1]3]3 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVM(L)64 4-3F5/18.5 4111131 2 1 1 1 1 1141113 4 4 4 3 4 4 / 4 3 1 / 1 1 1 1 !
EVM(L)64 4-2F5/18.5 4111221 2 1 1 1 1 1141113 4 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVM(L)64 4-1F5/22 4 (1131 1 2 1 1 1 1 11411 1138 4 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVM(L)64 4-0F5/22 4111471 2 1 1 1 1 1141113 4 4 4 3 4 4 / 4 3 1 / 1 1 1 1 !
EVM(L)64 5-3F5/30 5(1(2|3]|1 3 1 1 1 1 115|114 5 4 4 3 4 4 1 4 3 2 / 1 1 / ! !
EVM(L)64 5-2F5/30 5|11(13]2 1 3 1 1 1 1 11511 114 5 4 4 3 4 4 1 4 3 2 / 1 1 / / /
EVM(L)64 5-1F5/30 511411 1 3 1 1 1 1 115|114 5 4 4 3 4 4 1 4 3 2 / 1 1 / / !
EVM(L)64 5-0F5/30 5(1(5]| /|1 3 1 1 1 1 115|114 5 4 4 3 4 4 1 4 3 2 / 1 1 / ! /
EVM(L)64 6-3F5/30 611331 4 1 1 1 1 11611 1156 6 4 4 3 4 4 1 4 3 2 / 1 1 / / /
EVM(L)64 6-2F5/30 61|42 1 4 1 1 1 1 11611 1156 6 4 4 3 4 4 1 4 3 2 / 1 1 / / !
EVM(L)64 6-1F5/37 61|51 1 4 1 1 1 1 116|115 6 4 4 3 4 4 1 4 3 2 / 1 1 / ! !
EVM(L)64 6-0F5/37 616/ 1 4 1 1 1 1 11611 1156 6 4 4 3 4 4 1 4 3 2 / 1 1 / / /
EVM(L)64 7-3F5/37 71114131 5 1 1 1 1 11711 116 7 4 4 3 4 4 1 4 3 2 / 1 1 / / /
EVM(L)64 7-2F5/37 71151 2]|1 5 1 1 1 1 1171167 4 4 3 4 4 1 4 3 2 / 1 1 / ! !
EVM(L)64 7-1F5/37 711161 1 5 1 1 1 1 11711167 4 4 3 4 4 1 4 3 2 / 1 1 / / /
BEARING
EVM(L)64
N°
Pump Type 56
EVM(L)64 1-1F5/4.0 /
EVM(L)64 1-0F5/5.5 63102ZZ C3
EVM(L)64 2-2F5/7.5 63102ZZ C3
EVM(L)64 2-1F5/11 631322 C3
EVM(L)64 2-0F5/11 631322 C3
EVM(L)64 3-3F5/15 63132ZZC3
EVM(L)64 3-2F5/15 63132ZC3
EVM(L)64 3-1F5/15 631322 C3
EVM(L)64 3-0F5/18.5 63132ZZC3
EVM(L)64 4-3F5/18.5 6313272 C3
EVM(L)64 4-2F5/18.5 631322 C3
EVM(L)64 4-1F5/22 63152ZC3
EVM(L)64 4-0F5/22 63152Z C3
EVM(L)64 5-3F5/30 6315 2ZDT C3 *
EVM(L)64 5-2F5/30 6315 ZZDT C3 *
EVM(L)64 5-1F5/30 6315 ZZDT C3 *
EVM(L)64 5-0F5/30 6315 Z2ZDT C3 *
EVM(L)64 6-3F5/30 6315Z2ZDT C3 *
EVM(L)64 6-2F5/30 6315ZZDT C3 *
EVM(L)64 6-1F5/37 6315 Z2ZDT C3 *
EVM(L)64 6-0F5/37 6315 2ZDT C3 *
EVM(L)64 7-3F5/37 6315 ZZDT C3 *
EVM(L)64 7-2F5/37 6315ZZDT C3 *
EVM(L)64 7-1F5/37 6315 2ZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

378
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 1 EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0 Impg.p.m. 100 200 300
03— 30
p H —J_ - 9
[MPa] ml — ) H
-0, ft
\Qﬂv g
—~— \\\
—— 70
2w — AN
.0
N N - 60
\\
\ I 50
\\ \
N NPSH 40
0.1 10 [m] [f]
30
8 —
—~ —20 20
/
//
NPSH __— 4
_— —10 10
|
0- 0 0
0 400 800 1200 Q [limin]
T T T T T
0 20 40 60 80 Qmin
6 |
P 2 1_0 g //7
[kw] . } T
1-1 74/
‘ T ——e—
2
0 400 800 1200 Q [l/min]
80
n — T
[%] 70 1_1 \ ,/ '/ \\\‘
} ,ér/ N \\
60 1-0 =———~ \\
50
0 400 800 1200 Q [limin]
Rotation speed 2900 min"*
Test standard: ISO 9906:2012 - Grade 3B
379
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



VERTICAL MULTISTAGE PUMPS

50 Hz

0.6

[MPa]

0.4 —

0.2

P2
(kw]

[%]

PERFORMANCE CURVE

EVMG64
0 USgpm 100 200 300 400
| | | | |
I T T T
0 Impg.pm. 100 200 300
60
§ R —~— oy
L I —%,,, f
- T —— | - 160
— _ _ \&/77kw \\
T —— \\ 140
22
40 \/75% N
N NG 120
\\ \\
100
N\
\ NPSH
\1 m] [ff] 80
20 8 —
- 60
P -
- 2
_— - 40
// 4 —
NPSH " 10
// 20
0 0
0 400 800 1200 Q [Vmin]
T T T T T
0 20 40 60 80 Q[mn
12 |
8 2-1 —] — —
‘ \///
2'2 \\/74
. |
0 400 800 1200 Q [Vmin]
80
— \\‘
o o N
60 i —r AN
2‘-0 N
50
0 400 800 1200 Q [Vmin]
Rotation speed =2930 min-!
Test standard: ISO 9906:2012 - Grade 3B
380
A= FRARA piimne Fiirnne

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE

EVMG64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0 Imp.g.pm. 100 200 300
09 4 90
p H - ——__
(MPa] [m] — —— 3- H
—— T — \IO/{QW =250 [
L —— \\3-1{%\‘
— \\39/75/(14, \‘ \\
0.6 60 \ii/’ﬂvv \\\‘ \ - 200
g \\\\\
\\ N\ \\\
\\\\ N\ A - 150
03 30 h NPSH |- 100
[m] [ft
8
— 20 50
/
//
NPSH — 4
)// 10
0- 0 0
0 400 800 1200 Q [Vmin]
T T T T T
0 20 40 60 80 Q[m
18 |
P 30 —
kW] 0 3-1 - __— —
3-2 — ——
6 ‘
0 400 800 1200 Q [Vmin]
80 ‘ ‘
n ' N ~
32 F NN
. 31 Z 72 \‘
50 ‘
0 400 800 1200 Q [Imin]
Rotation speed =2940 min-!
Test standard: ISO 9906:2012 - Grade 3B
381
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

[ft

382

EVMG64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0  Impg.pm. 100 200 300
124 120
P . ——
- T~ . — 350
O I S o s e Y
—— —— 1oy
— ~— 2y
—— ‘:;?&sk\\w\\\‘ 300
~~3s5 0 \\\
0.8 80 SN
NN \ - 250
\\\ - 200
N
NPSH
‘\ m] [t
150
04 40 8 —
// 20 |- 100
NPSH /// 4
" 10 |50
__—
0 0 0
0 400 800 1200 Q [imin]
T T T T T
0 20 40 60 80 Q[m
24 -
0, 40
(kW] 471 //5/7
| —
4'3 —
8 L
0 400 800 1200 Q [imin]
80 ‘
) N 40
[ 70 A N
AN
60 Z N 42
43
. |
0 400 800 1200 Q [imin]
Rotation speed 2940 min
Test standard: ISO 9906:2012 - Grade 3B
I A= FRARA piimne Fiirnne

Agrometer a/s

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 1 EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0 Impg.p.m. 100 200 300
15— 150
P H —— T - 450
MPa] mo DT T % .
—— —_ T —_ T — 5~ ft
— —+— ‘\&;émw\\‘ Lo
&
- 350
10 100 ~ \\\
Q ‘\\\ - 300
\\\\
\\| - 250
\\|
200
NPSH
05— 50 [m] [ft]
— 150
8 —
~ 20 [~ 100
/
//
NPSH _— 4
P 10 |- 50
0 0 0
0 400 800 1200 Q [imin]
T T T T T
0 20 40 60 80 Q[mn]
30 |
P2 5‘-0
- e —
T e——
i
5-3 —
10 ‘
0 400 800 1200 Q [imin]
80 ‘
n !
[%] 70 ‘&‘ >0
R 51
N\ 52
60
53
50 ‘
0 400 800 1200 Q [imin]
Rotation speed 2960 min
Test standard: ISO 9906:2012 - Grade 3B
383
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVM VERTICAL MULTISTAGE PUMPS 50 Hz

PERFORMANCE CURVE

EVMG64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0  Impg.p.m. 100 200 300
20— 200
p H - 600
[MPa] GO H
—_—— T ——_ 6-0/371w [fi
I~ - = 6-1/37 kw
54 150 o —— \:\ﬂ E—— - 500
— \1)\\\\\\ -
TN
SN
6-2/300 7 SN 0
6-3/30 1w NN
10— 100 NN
N
\\| 300
N
NPSH [ 909
ft
05 50 il 1
8
— 20 |- 100
///
NPSH _— 4
L 10
0 0 0
0 400 800 1200 Q [imin]
T T T T T
0 20 40 60 80 Q[mdn]
35 |
P2 60 —
, /
2|
63 ———
15 ‘
0 400 800 1200 Q [imin]
n
6-0
o7 \\\\ 6-1
6-2
60
63
“ |
0 400 800 1200 Q [Imin]
Rotation speed =2960 min-!
Test standard: ISO 9906:2012 - Grade 3B
384
I A= FRARA piimne Fiirnne

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 1 EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG64
0 USgpm. 100 200 300 400
| | | | |
T T T T
0 Imp.g.pm. 100 200 300
20 W=
p H T —— T —— ] — > - 600
e | ) =T, i
T — T~ ft
15- 150 7-2/37 /\\\ - 500
7-3/37«w \\\ N
N\
\\ \\\ - 400
NN\
104 100 N\
\1 — 300
NPSH | 909
i
05 5 [m] [f]
8
_— 20 |- 100
NPSH - 4
e 10
0 0 0
0 400 800 1200 Q [Vmin]
T T T T T
0 20 40 60 80 Qmn]
40 |
P2 7-1 S
- 7\2 _
7-3 — — |
—"
20
0 400 800 1200 Q [imin]
80 p—
n 7~ -
[%] 70 / — 7-1 —
/ 72
60 7-3 —
50
0 400 800 1200 Q [Vmin]
Rotation speed =2960 min-!
Test standard: ISO 9906:2012 - Grade 3B
385
F \ Piimne Fiirane _ ——

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMG64

Dimensional sketch

Round flange (F) - DN100
c 1
B
] i
I I
o %
T QO
E
N
L. N
A -
; 1 G3i8
N
T
N° 8 holes D3
G388
D N \\)
(=] L)
3' NS
N° 4 holes @14 | / [ — D1
| 190 | 266
251
1
365 =
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ Weight
Weight Pump +
kW  Size A H2 D1 D2 D3 H8 Pump Motor
Pmax
Pump Type [MPa] B C H3
EVM(L)64 1-1F5/4.0 1.6 40 | 112M 160 196 155 306 525 | @180 | @220 | @18 20 70.4 93.2
EVM(L)64 1-0F5/5.5 1.6 55| 1328 | 300 | 225 160 328 546 | @180 | @220 | @18 20 77 115.6
EVM(L)64 2-2F5/7.5 1.6 75| 1328 | 300 | 225 160 350 | 618 | @180 | @220 | B18 20 81.4 121.8
EVM(L)64 2-1F5/11 1.6 " 160 M | 350 248 194 476 749 | @180 | @220 | @18 20 93.5 156
EVM(L)64 2-0F5/11 1.6 1" 160M | 350 | 248 194 476 749 | @180 | @220 | @18 20 93.5 156
EVM(L)64 3-3F5/15 1.6 15 | 160M | 350 | 317 238 498 821 | @180 | @220 | @18 20 99 187.9
EVM(L)64 3-2F5/15 1.6 15 | 160 M | 350 317 238 498 821 | @180 | @220 | @18 20 99 187.9
EVM(L)64 3-1F5/15 1.6 15 | 160 M | 350 | 317 238 498 821 | @180 | @220 | @18 20 99 187.9
EVM(L)64 3-0F5/18.5 1.6 18.5| 160L | 350 | 317 238 542 | 821 |@180 | @220 | B18 20 99 203
EVM(L)64 4-3F5/18.5 1.6 18.5| 160 L 350 317 238 542 893 | @180 | @220 | @18 20 108 212
EVM(L)64 4-2F5/18.5 1.6 18.5| 160L | 350 | 317 238 542 | 893 | @180 | @220 | @18 20 108 212
EVM(L)64 4-1F5/22 1.6 22 | 180M | 350 | 360 268 577 | 893 | @180 | @220 | @18 20 116 279
EVM(L)64 4-0F5/22 1.6 22 | 180M | 350 | 360 268 577 | 893 | @180 | @220 | @18 20 116 279
EVM(L)64 5-3F5/30 1.6 30 [ 200L | 400 | 399 300 658 980 | @180 | @220 | @18 20 128 356
EVM(L)64 5-2F5/30 1.6 30 [ 200L | 400 | 399 300 658 980 | @180 | @220 | @18 20 128 356
EVM(L)64 5-1F5/30 1.6 30 [ 200L | 400 | 399 300 658 980 | @180 | @220 | @18 20 128 356
EVM(L)64 5-0F5/30 1.6 30 200L | 400 399 300 658 980 | @180 | @220 | @18 20 128 356
EVM(L)64 6-3F5/30 1.6 30 [ 200L | 400 | 399 300 658 | 1052 | @180 | @220 | @18 20 136 364
EVM(L)64 6-2F5/30 25 30 [ 200L | 400 | 399 300 658 | 1052 | @190 | @235 | @22 26 136 364
EVM(L)64 6-1F5/37 25 37 200L | 400 399 300 658 | 1052 | @190 | @235 | @22 26 136 378
EVM(L)64 6-0F5/37 25 37 | 200L | 400 | 399 300 658 | 1052 | @190 | @235 | @22 26 136 378
EVM(L)64 7-3F5/37 25 37 | 200L | 400 | 399 300 658 | 1124 | @190 | @235 | @22 26 139 381
EVM(L)64 7-2F5/37 25 37 200L | 400 399 300 658 | 1124 | @190 | @235 | @22 26 139 381
EVM(L)64 7-1F5/37 25 37 | 200L | 400 | 399 300 658 | 1124 | @190 | @235 | @22 26 139 381

1.6 MPa=16 bar ; 2.5 MPa=25 bar

386
I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVMG64

245
115-5 , /
128-1 ¢\ 6 111-3
135-1 273
1115 +h 75
1112 S| g O — 212
115-4 kL : : 151
B 7
130-3 \*\ S
] . ——— 54
v \‘1}-\ ---- 111-1
2741 — [T
431

43-6

137-1 —— 1| . T

48 ——

31—
437

751 52-2 —

2731 442 —

212-1 6 —

45 — |

613
\

|
I
—_

Pump without ball bearing

387

F \ Piimne Fiirane _ ——
Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00
; I Agrometer a/s

www.agrometer.dk ¢ agrometer@agrometer.dk




EVM

VERTICAL MULTISTAGE PUMPS

N
~
N
[
|

SECTIONAL VIEW
EVMG64

274-2
150
274-3
56

7
71

1201 — !i!

I

75-1

D
===

=

I

=/H!

i

7

- 51
//P; /[ﬂJ’/ 120-8

120-6
162

1302
w5

111-3
273
75
212
115-1

‘:"
EN

111-1
43-1

(IJ'II\J
N =

136-1
43-8
43-2

-
N

128-2

2731
2121

1
_.—-—-—-—-:}

A

120-2
107
120-9
70-2
137-2

J

add

135-5
120-12

W

Pump with single ball bearing

388

Agrometer a/s

FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk

50Hz



50 Hz

VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW

274-2
150

70-1

(]

120-8 ]
245_\\\\\\\\\\\\\j -
_\\\\\\\\\\\\\\\\\q.

Q 56

.¢
I et S I

-

N

@

o

432 — 0 |
1201 —
436 —— |

1371 ——_|

48 —

/

| ]

31
437
52-2 ——
75-1 442 —
273-1 6 — |
212-1 45—~
613

f'

L
S

389

IR

R
—

Pump with single ball bearing

F \ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVM VERTICAL MULTISTAGE PUMPS 50 Hz

SECTIONAL VIEW
EVMG64

it \ I 70-1
51 —
\T-yj \ | / s
128-3 SR ) i /s
NG i | s
120-8 “\ ! ‘.
\ ] \ )%
245 VY, 7 5
140-2
140-1
131-1 5 16
¢ PN Y —_
130-2 ! [‘+ i ‘
| [sEa 8] s} I 39-1
130-4 T N [ |
‘ T 135-3
I |
! 120-
1114 | * \g I 0-5
q 120-6
130-1 ‘, ~ ;'
1203 ‘. M 120-4
) 'w EETY @ | 273
1113 L =
75
128-1 1 > i
— 2
135-1 o == —T
1155 ‘ 7 ] "
5— | ! — —
CIA e 115-1
s — 1Y N
L 4 P A
1303 — | n T
T it 5-4
47— ! I
——! i 111-1
274-1 S U \ 1o
435 £ A H \\
115-4
483 —0 | I
Y ! 431
51— 1T N
| ! 136-1
44-1 i
L 438
434 —0 T
i~
32— | \
e 21
1201 — i i T
Hiid 81
43-6 — | 53
137-1 11 | I~ —
- 1! | N 21-1
e o= —_— N 5-2
31 — 7 K
1 12
751
273-1
~ | 212-1
|
i
—
1)
[
1
[
( L 1

Pump with double ball bearing
390

I Ty FRARA Piimn< Fiirane

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer al S www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE
EVMG64

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMG
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN-GJL-250-EN 1561
7 Outer casing EN 1.4301 (AISI 304)
" Casing cover Cast Iron EN-GJL-250-EN 1561
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller
- EN 1.4301 (AISI 304)
211 Reduced impeller
31 Shaft EN 1.4401 (AISI 316)
39-1 Key Carbon Steel 12x8x90 UNI 6604
431 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-7 Shaft sleeve (bottom bearing) EN 1.4301 (AISI 304)
43-8 Shaft sleeve (discharge-lower) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing see table page 393
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM
75-1 O-Ring (plug) EPDM
81 Bush PTFE
107 Liner ring PTFE / EN 1.4401 (AISI 316)
1111 Mechanical Seal Silicon carbide / Carbon / FPM
11-2 Mechanical seal cartridge EN 1.4301 (AISI 304)
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder Brass OT 58 UNI 5705
111-5 Adjusting ring EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D.240.66x5.34
115-4 O-Ring (cartridge sleeve) EPDM D.24.99x3.53
115-5 O-Ring (seal cover) EPDM D.44.04x3.53
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1
391

\ Piimne Fiirane

Agrometer a/s

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMG64

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMG
120-2 Tie-rod EN 1.4301 (AISI 304)
120-3 Screw (mechanical seal) A2-70 UNI 7323 M5x10 UNI 5931
120-4 Screw (casing cover) Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739
EVM64 1-1 M8x20 UNI 5931
120-5 Screw for coupling —_—————— Galvanized steel 8.8 strenght class ISO 898/1
EVM®64 2 and higher M10x30 UNI 5739
120-6 Screw for coupling —EVM64 101122 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM®64 2 and higher M12x30 UNI 5931
120-7 Screw Galvanized steel M6x10 UNI 5739
120-8 Screw EVM641-0. 22 Galvanized steel 8.8 strenght class ISO 898/1 MEx10 UNI 5759
M10x30 UNI 5739
120-9 Screw EVML EN 1.4301 (AISI 304) M5x8 UNI 5737
EVM. EVMG M5x8 UNI 5739
120-12 | Screw EN 1.4301 (AISI 304) M6x20 UNI 5931
EVM64 1-1 M8x20 UNI 5739
120-13 | Screw EVMG4 1-0. 2-2 Galvanized steel 8.8 strenght class 1ISO 898/1 M12x30 UNI 5759
EVM64 6 - 7 M16x55 UNI 5737
EVM64 2 -5 M16x65 UNI 5739
128-1 Nut for tie rod Galvanized steel M16 UNI 5588
128-2 Nut (motor) Carbon Steel M5 UNI 5588
128-3 Nut (motor) Galvanized steel M16 UNI 5588
129 Lock nut Carbon Steel
130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
130-3 Set screw EN 1.4301 (AISI 304) M6X6 UNI 5923
130-4 Set screw Galvanized steel M10x10 UNI 5923
131-1 Pin for shaft Carbon Steel
135-1 Washer Galvanized steel 17x30x3 UNI 6592
135-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 1751
135-4 Washer Carbon Steel 6.4 UNI 1751
135-5 Washer EN 1.4301 (AISI 304) D.6
136 Bearing washer Carbon Steel
136-1 Stopper ring EN 1.4301 (AISI 304)
137-1 Impeller spacer EN 1.4301 (AISI 304)
137-2 Shaft spacer EN 1.4301 (AISI 304)
140 Coupling Brass OT 58 UNI 5705
140-1 Coupling (motor side) Carbon Steel
140-2 Coupling (pump side) Carbon Steel
150 Spacer Carbon Steel
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304)
2121 Plug EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
273 Plug Washer EN 1.4301 (AISI 304)
2731 Plug Washer EN 1.4301 (AISI 304)
274-1 C-type snap ring EN 1.4301 (AISI 304) D.26 UNI 7435
EVM64 1-0, 2-2 D.50 UNI 7435
274-2 C-type snap ring EVM®64 2 to 4-3 Carbon Steel TC80 D.65 UNI 7435
EVM64 4-0, 4-1 D.75 UNI 7535
274-3 C-type snap ring Carbon Steel TC80 D.110 UNI 7437
613 Flange Carbon Steel
392
I Ty FRARA Piimn< Fiirane

Agrometer a/s

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL
EVMG64

o
Type §
52| 11| 21 |21-1|39-1|43-2| 433|434 [44-1| 51 |52-1| 53 | 56 |70-1| 81 | 107 |1204|120-5(120-7|120-8(128-3| 129 [135-3|1354| 136 | 140 [140-1|140-2| 150 |274-2|274-3
EVMG64 1-1F5/4.0 1177 |1 ! / / / / / P O A O | 1 / 2 / / / / / / 1 1 / / / / !
EVMG64 1-0F5/5.5 117 (1|7 ! ! / / / 1 P I O B A 1 ! ! / 4 / / / / 1 1 / / 1 1 1
EVMG64 2-2F5/7.5 /25 VA A 2 A A A A A A 2 I I AV 2 2 B / /4| / / / 1 1 / / 1 1 1
EVMG64 2-1F5/11 2(111]1 1 1 / / / 1 I{2(11]12] 2 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVMG642-0F5/11 |2 (1 (2| /|1 (1 [/ |/ |/ |1 |/ |21|(1|2]2 4|43 |4 |4]| /|43 |1/ 1| 1|1 |1 |/
EVMG64 3-3F5/15 31 /]3] 1 2 / / / 1 /{31 |1]3]3 4 4 3 4 4 / 4 3 1 / 1 1 1 1 !
EVMG64 3-2F5/15 3|t r 212/ |31 |1|3|3 4|43 |a|a]| /43|11 |1 |11
EVMG64 3-1F5/15 311211 1 2 / / / 1 /I {3f(1|1]3]3 4 4 3 4 4 / 4 3 1 / 1 1 1 1 !
EVMG64 3-0F5/18.5 313/ |1 2 / / / 1 /{31 |1]3]3 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVMG64 4-3F5/18.5 4111131 2 1 1 1 1 1141113 4 4 4 3 4 4 / 4 3 1 / 1 1 1 1 !
EVMG64 4-2F5/18.5 4111221 2 1 1 1 1 1141113 4 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVMG64 4-1F5/22 40131121111 |1 |[4af1|[1|[3]4 |4 |43 |4|a]| /|43 1]/ 1| 1|1 |1 |/
EVMG64 4-0F5/22 4111471 2 1 1 1 1 1141113 4 4 4 3 4 4 / 4 3 1 / 1 1 1 1 !
EVMG64 5-3F5/30 5(1(2|3]|1 3 1 1 1 1 115|114 5 4 4 3 4 4 1 4 3 2 / 1 1 / ! !
EVMG64 5-2F5/30 5113213 (1|1 |1 |1|[1]|5|1|1|4|5 |44 |3 |4 |41 |43 |2/ |11 |1 |1 |1/
EVMG64 5-1F5/30 S5(1(4|1]1 3 1 1 1 1 115|114 5 4 4 3 4 4 1 4 3 2 / 1 1 / / !
EVMG64 5-0F5/30 515 /|1 3 1 1 1 1 115|114 5 4 4 3 4 4 1 4 3 2 / 1 1 / ! /
EVMG64 6-3F5/30 6|1 3|31 41| 1|11 |1|6|1|1]|5]|6 4|43 |a|a|1 4|32/ |1 |1 |1 |1 |1
EVMG64 6-2F5/30 61421 |41 |1 |1 |1|[1]|6]|1|1|5|6 |44 |3 |4 |41 |43 |2/ |1 |1 |1 |1 |/
EVMG64 6-1F5/37 61|51 1 4 1 1 1 1 116|115 6 4 4 3 4 4 1 4 3 2 / 1 1 / ! !
EVMG64 6-0F5/37 6|16 /|1 |41 ]|1 |11 |1|6]|1|[1]|5]|6 4|4 |3 |4a|a|1 4|3 2|/ |1 |1 ]|/ | 1|1
EVMG64 7-3F5/37 701431 |5 (1|1 |1 |1 |[1|7|1|1|6|7 |44 |3 [a|4|1 |43 |2/ |11 |1 |1 |1/
EVMG64 7-2F5/37 7(15|2]|1 5 1 1 1 1 1171167 4 4 3 4 4 1 4 3 2 / 1 1 / ! !
EVMG64 7-1F5/37 711161 1 5 1 1 1 1 11711167 4 4 3 4 4 1 4 3 2 / 1 1 / / /
BEARING
EVMG64
N°
Pump Type 56
EVMG64 1-1F5/4.0 /
EVMG64 1-0F5/5.5 631022 C3
EVMG64 2-2F5/7.5 63102ZZ C3
EVMG64 2-1F5/11 63132ZC3
EVMG64 2-0F5/11 631322 C3
EVMG64 3-3F5/15 63132ZZC3
EVMG64 3-2F5/15 63132ZC3
EVMG64 3-1F5/15 631322 C3
EVMG64 3-0F5/18.5 63132ZC3
EVMG64 4-3F5/18.5 6313272 C3
EVMG64 4-2F5/18.5 631322 C3
EVMG64 4-1F5/22 631527 C3
EVMG64 4-0F5/22 63152Z C3
EVMG64 5-3F5/30 6315 2ZDT C3 *
EVMG64 5-2F5/30 6315 ZZDT C3 *
EVMG64 5-1F5/30 6315ZZDT C3 *
EVMG64 5-0F5/30 6315 Z2ZDT C3 *
EVMG64 6-3F5/30 6315 2ZDT C3 *
EVMG64 6-2F5/30 6315 ZZDT C3 *
EVMG64 6-1F5/37 6315 Z2ZDT C3 *
EVMG64 6-0F5/37 6315 2ZDT C3 *
EVMG64 7-3F5/37 6315 2ZDT C3*
EVMG64 7-2F5/37 6315ZZDT C3 *
EVMG64 7-1F5/37 6315 2ZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

393

F \ Piimne Fiirane _ ——
Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

EVM VERTICAL MULTISTAGE PUMPS

PACKING DRAWING
EVM(.)32-45-64

— 4 ; TYPE 1

TYPE 2

394

I Ty FRARA Piimn< Fiirane
Ag rometer a/S Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk e agrometer @agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

PACKING DATA
EVM(.)32-45-64

Pumps Pumps with motor ~3
Packin: Weight + Packin Packin Weight + Packin
il Tmm] T Pack fram] Tk Pack

x| v | z l[evmswlewss| P | x | v | z |ewmsw| evmss | PP

EVM(.)32 1-0F5/2.2 400 | 780 | 400 61 56 1 400 | 1047 | 400 79 74 1
EVM(.)32 2-2F5/3.0 400 | 780 | 400 63 58 1 400 1047 | 400 87.5 82.5 1
EVM(.)32 2-0F5/4.0 400 | 780 | 400 63 58 1 400 1047 | 400 95.1 90.1 1
EVM(.)32 3-3F5/5.5 400 | 780 | 400 79 72 1 400 1047 | 400 130.6 123.6 1
EVM(.)32 3-1F5/5.5 400 | 780 | 400 79 72 1 400 1047 | 400 130.6 123.6 1
EVM(.)32 4-3F5/7.5 400 | 780 | 400 82 75 1 400 | 1047 | 400 136.4 129.4 1
EVM(.)32 4-1F5/7.5 400 | 780 | 400 82 75 1 400 1047 | 400 136.4 129.4 1
EVM(.)32 5-3F5/11 1047 | 400 | 400 103 94 1 540 1540 | 500 207.3 198.3 2
EVM(.)32 5-0F5/11 1047 | 400 | 400 103 94 1 540 1540 | 500 207.3 198.3 2
EVM(.)32 6-3F5/11 1047 | 400 | 400 106 97 1 540 | 1540 | 500 210.3 201.3 2
EVM(.)32 6-2F5/11 1047 | 400 | 400 106 97 1 540 | 1540 | 500 210.3 201.3 2
EVM(.)32 7-3F5/15 1047 | 400 | 400 109 100 1 540 | 1540 | 500 220.8 211.8 2
32 EVM(.)32 7-0F5/15 1047 | 400 | 400 109 100 1 540 | 1540 | 500 220.8 211.8 2
EVM(.)32 8-3F5/15 1240 | 400 | 400 115 105 1 540 | 1540 | 500 223.8 213.8 2
EVM(.)32 8-2F5/15 1240 | 400 | 400 115 105 1 540 | 1540 | 500 223.8 213.8 2
EVM(.)32 9-3F5/18.5 1240 | 400 | 400 118 108 1 593 | 1750 | 610 232.5 222.5 2
EVM(.)32 9-0F5/18.5 1240 | 400 | 400 118 108 1 593 | 1750 | 610 232.5 222.5 2
EVM(.)32 10-3F5/18.5 | 1240 | 400 | 400 122 111 1 593 | 1750 | 610 236.5 225.5 2
EVM(.)32 10-2F5/18.5 | 1240 | 400 | 400 122 111 1 593 | 1750 | 610 236.5 225.5 2
EVM(.)32 11-3F5/22 1240 | 400 | 400 126 115 1 593 | 1750 | 610 282 271 2
EVM(.)32 11-0F5/22 1240 | 400 | 400 126 15 1 593 | 1750 | 610 282 271 2
EVM(.)32 12-3F5/22 540 | 1350 | 400 133 122 2 587 | 2130 | 635 346 335 2
EVM(.)32 13-3F5/30 545 | 1350 | 500 143 131 2 587 | 2130 | 635 399 387 2
EVM(.)32 13-0F5/30 545 | 1350 | 500 143 131 2 587 | 2130 | 635 399 387 2
EVM(.)32 14-3F5/30 545 | 1350 | 500 147 134 2 587 | 2130 | 635 403 390 2
EVM(.)32 14-0F5/30 545 | 1350 | 500 147 134 2 587 | 2130 | 635 403 390 2
EVM(.)45 1-1F5/3.0 400 | 780 | 400 76 69 1 400 1047 | 400 100.5 93.5 1
EVM(.)45 1-0F5/4.0 400 | 780 | 400 78 71 1 400 1047 | 400 110.1 106.6 1
EVM(.)45 2-2F5/5.5 400 | 780 | 400 86 79 1 400 1047 | 400 137.6 131.4 1
EVM(.)45 2-0F5/7.5 400 | 780 | 400 86 79 1 400 1047 | 400 140.4 133.4 1
EVM(.)45 3-2F5/11 400 | 1047 | 400 106 97 1 1540 | 540 | 500 210.3 201.3 2
EVM(.)45 3-0F5/11 400 | 1047 | 400 106 97 1 1540 | 540 500 210.3 201.3 2
EVM(.)45 4-2F5/15 400 | 1047 | 400 115 105 1 1540 | 540 500 214.8 204.8 2
EVM(.)45 4-0F5/15 400 | 1047 | 400 115 105 1 1540 | 540 | 500 214.8 204.8 2
EVM(.)45 5-2F5/18.5 400 | 1240 | 400 138 126 1 1750 | 593 610 252.5 240.5 2
A EVM(.)45 5-0F5/18.5 400 | 1240 | 400 138 126 1 1750 | 593 | 610 252.5 240.5 2
9 EVM(.)45 6-2F5/22 400 | 1240 | 400 143 130 1 1750 | 593 610 299 286 2
EVM(.)45 6-0F5/22 400 | 1240 | 400 143 130 1 1750 | 593 610 299 286 2
EVM(.)45 7-2F5/30 480 | 1297 | 480 149 136 1 2130 | 587 635 409 396 2
EVM(.)45 7-0F5/30 480 | 1297 | 480 149 136 1 2130 | 587 635 409 396 2
EVM(.)45 8-2F5/30 1350 | 545 | 500 160 147 2 2130 | 587 | 635 416 403 2
EVM(.)45 8-0F5/30 1350 | 545 | 500 160 147 2 2130 | 587 635 416 403 2
EVM(.)45 9-2F5/30 1350 | 545 | 500 165 151 2 2130 | 587 635 421 407 2
EVM(.)45 9-0F5/37 1750 | 593 | 610 172 158 2 2130 | 587 635 435 421 2
EVM(.)45 10-2F5/37 1750 | 593 | 610 177 162 2 2130 | 587 635 440 425 2
EVM(.)45 10-0F5/37 1750 | 593 | 610 177 162 2 2130 | 587 | 635 440 425 2
EVM(.)64 1-1F5/4.0 400 | 780 | 400 76 69 1 400 1047 | 400 108.1 101.1 1
EVM(.)64 1-0F5/5.5 400 | 780 | 400 82 75 1 400 1047 | 400 133.6 126.6 1
EVM(.)64 2-2F5/7.5 400 | 780 | 400 87 79 1 400 | 1047 | 400 140.4 133.4 1
EVM(.)64 2-1F5/11 400 | 1047 | 400 100 92 1 1350 | 545 500 205.3 196.3 2
EVM(.)64 2-0F5/11 400 | 1047 | 400 100 92 1 1350 | 545 500 205.3 196.3 2
EVM(.)64 3-3F5/15 400 | 1047 | 400 106 97 1 1540 | 540 500 218.8 209.8 2
EVM(.)64 3-2F5/15 400 | 1047 | 400 106 97 1 1540 | 540 500 218.8 209.8 2
EVM(.)64 3-1F5/15 400 | 1047 | 400 106 97 1 1540 | 540 500 218.8 209.8 2
EVM(.)64 3-0F5/18.5 400 | 1047 | 400 106 97 1 1540 | 540 500 217.5 208.5 2
EVM(.)64 4-3F5/18.5 400 | 1047 | 400 115 105 1 1540 | 540 500 226.5 216.5 2
EVM(.)64 4-2F5/18.5 400 | 1047 | 400 115 105 1 1540 | 540 500 226.5 216.5 2
EVM(.)64 4-1F5/22 400 | 1047 | 400 123 112 1 1750 | 593 610 282 271 2
e EVM(.)64 4-0F5/22 400 | 1047 | 400 123 112 1 1750 | 593 | 610 282 271 2
EVM(.)64 5-3F5/30 480 | 1147 | 480 138 126 1 1750 | 593 610 337 325 2
EVM(.)64 5-2F5/30 480 | 1147 | 480 138 126 1 1750 | 593 610 337 325 2
EVM(.)64 5-1F5/30 480 | 1147 | 480 138 126 1 1750 | 593 610 337 325 2
EVM(.)64 5-0F5/30 480 | 1147 | 480 138 126 1 1750 | 593 610 337 325 2
EVM(.)64 6-3F5/30 480 | 1297 | 480 146 134 1 2130 | 587 635 406 394 2
EVM(.)64 6-2F5/30 480 | 1297 | 480 146 134 1 2130 | 587 635 406 394 2
EVM(.)64 6-1F5/37 480 | 1297 | 480 146 134 1 2130 | 587 [ 635 420 408 2
EVM(.)64 6-0F5/37 480 | 1297 | 480 146 134 1 2130 | 587 635 420 408 2
EVM(.)64 7-3F5/37 480 | 1297 | 480 149 136 1 2130 | 587 635 423 410 2
EVM(.)64 7-2F5/37 480 | 1297 | 480 149 136 1 2130 | 587 | 635 423 410 2
EVM(.)64 7-1F5/37 480 | 1297 | 480 149 136 1 2130 | 587 635 423 410 2

395

F \ Piimne Fiirane _ ——
Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS

400

I Ty FRARA Piimn< Fiirane
Ag rometer a/s Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk




50 Hz

VERTICAL MULTISTAGE PUMPS

GENERAL

Various regulatory authorities in many countries have introduced or are planning legislation to encourage the
manufacture and use of higher efficiency motors, as part of a concerted effort worldwide to reduce energy consumption.
Indeed, the International Electrotechnical Commission (IEC) has introduced a new standards relating to energy efficient

motors.

IEC 60034-30 defines new efficiency classes for motors and harmonizes the currently different requirements for induction
motor efficiency levels around the world.
The Commission Regulation (EC) N. 640/2009 implementing EcoDesign Directive 2009/125/EC states that in the

European Community, with the exception of some special applications, motors shall not be less efficient than the IE3
efficiency level as from 1 January 2015.

In detail:
IE3 by January 1, 2015 (for motors = 7.5 to 375 kW).

IE3 for all motors by January 1, 2017 (for motors from 0.75 to 375 kW).

Agrometer a/s

MOTOR EVMS MOTOR EVM
Frequency 50 Hz 50 Hz
Phase Single Phase Three Phase Three Phase
Rotation speed ~ 2900 min = 2900 min~'
RS 0.37 + 2.2 kW 0.37 + 18.5 kW 2.2+ 37 kW
Source | Power rating
0.5+3.0 HP 0.5+ 25 HP 3.0 + 50 HP
230/400 £ 10% V (up to 4 kW) 230/400 £ 10% V  (up to 4 kW)
Voltage 230+ 10% V
400/690 + 10% V (above 5.5 kW) 400/690 + 10% V (above 5.5 kW)
Type Electric - TEFC Electric - TEFC
» - : from 0.37 up to 0.55 kW IE2: from 2.2 kW up to 5.5 kW (IE3 on request)
Efficiency Level from 0.37 up to 2.2 kW
IE3: above 0.75 kW IE3: above 7.5 kW
Type
No° of poles 2 2
Protection degree IP 55 IP 55
Insulation Class F (temperature rise class B) F (temperature rise class B)
Thermal Protection PTC is available for the above 1.5 kW included PTC
Casing Material Aluminium Aluminium
Others
Flange mount IMB14 (up to 4 kW) IMB14 (up to 4 kW)
(IEC motor) IMB5 (above 5.5 kW) IMB5 (above 5.5 kW)
) Power Noise
Motor Size LpA- dB (A)
[kW] [HP]
0.37 0.5
7 <70
0.55 0.75
0.75 1
80 <70
1.1 1.5
1.5 2
90 S <70
0L 2.2
100 L 3.0 4 <70
112 M 4.0 5.5 <70
55 7.5
1328 72
7.5 10
160 M 1" 15 74
15 20
160 L 18.5 25
180 M 22 30 77
30 40
200 L 78
37 50
F \ Piimne Fiirnne _ —— ==

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk ¢ agrometer@agrometer.dk



EVMS

VERTICAL MULTISTAGE PUMPS

Single Phase Motor at 50Hz, 2 poles

TECHNICAL MOTOR DATA
EVMS 1-3-5-10-15-20

Motor Capacitor Load efficency Full load current Locked rotor current
and power-factor [A] [A]
Power n. % COS-¢
Motor Size 230V 230V
[kW] [HP] [WF] W 100% 100%
71 0.37 0.5 16 400 57.6 0.89 3.1 9.6
71 0.55 0.75 16 400 69.0 0.89 3.9 13.6
80 0.75 1 25 400 65.0 0.95 53 28.1
80 1.1 15 36 400 74.0 0.97 6.5 26.0
90S ¢ 1.5 2 35 400 79.0 0.97 8.8 46.0
ML 22 3 40 400 78.0 0.97 12.9 61.0
4 Single phase motors manufactured by EBARA
Three Phase Motor at 50Hz, 2 poles
Motor Load efficency Full load current Locked rotor current
and power-factor (400 V) [A] [A]
. Power Efficiency n. % Cos-¢
Motor Size 230V 400 V 690 V 230V 400 V 690 V
kW] | [HP] 50% 75% 100% 100%
71 0.37 0.5 - 58.0 64.0 70.0 0.78 1.7 1 - 8.1 4.7 -
055 | 0.75 - 57.0 64.0 71.0 0.77 26 1.5 - 12.5 72 -
0.75 1 IE3 77.8 81.2 82.0 0.78 29 1.7 - 26.1 15.1 -
80 1.1 1.5 IE3 78.7 81.7 82.7 0.76 4.2 24 - 38.7 223 -
90 S 1.5 2 IE3 83.2 84.8 84.2 0.85 5.2 3.0 - 43.6 25.2 -
0L 22 3 IE3 85.0 86.2 86.5 0.82 8.0 4.6 - 733 423 -
100 L 3.0 4 IE3 82.3 85.8 87.1 0.89 9.7 5.6 - 85.4 493 -
112M 4.0 55 IE3 86.8 87.8 88.1 0.93 121 7.0 - 116.4 67.2 -
1325 55 7.5 IE3 88.0 88.5 89.2 0.90 - 10.0 5.8 - 89.0 514
7.5 10 IE3 88.6 89.2 90.1 0.92 - 13.1 7.6 - 116.6 67.3
11 15 IE3 87.4 89.8 91.2 0.89 - 19.7 11.4 - 179.3 103.5
1e0M 15 20 IE3 91.0 91.3 91.9 0.89 - 26.7 15.4 - 259 149.5
160 L 18.5 25 IE3 91.6 92.8 92.4 0.88 - 33.0 19.1 - 353.1 203.9
402
I Ty FRARA Piimn< Fiirane

Agrometer a/s

50 Hz

Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00
www.agrometer.dk ¢ agrometer@agrometer.dk



50 Hz

VERTICAL MULTISTAGE PUMPS EVM

TECHNICAL MOTOR DATA
EVM 32-45-64

IE2 Three Phase Motor at 50Hz. 2 poles

Motor Load efficency Full load current Locked rotor current
and power-factor (400 V) [A] [A]
Efficiency
Power n. % COS-¢
Motor Size 230V | 400V | 690V | 230V | 400V | 690V
kW] | [HP] 50% | 75% | 100% | 100%
9L 22 3 IE2 82.5 84.0 84.0 0.85 7.6 4.4 - 64.8 37.4 -
100 L 3.0 4 IE2 84.1 85.8 855 0.84 10.2 59 - 81.8 47.2 -
112 M 4.0 55 IE2 85.2 86.4 86.1 0.86 135 7.8 - 110.9 64.0 -
1328 55 7.5 IE2 85.8 87.4 87.3 0.88 - 104 6.0 - 83.2 48.0
IE3 Three Phase Motor at 50Hz. 2 poles
Motor Load efficency Full load current Locked rotor current
and power-factor (400 V) [A] [A]
Power Efficiency n % cos-@
Motor Size 230V | 400V | 690V | 230V | 400V | 690V
kW] | [HP] 50% | 75% | 100% | 100%
1328 7.5 10 IE3 88.6 89.2 90.1 0.92 - 131 7.6 - 116.6 67.3
160 M 1" 15 IE3 87.4 89.8 91.2 0.89 - 19.7 1.4 - 179.3 103.5
160 M 15 20 IE3 91.0 91.3 91.9 0.89 - 26.7 15.4 - 259.0 149.5
160 L 18.5 25 IE3 91.6 92.8 924 0.88 - 33.0 19.1 - 353.1 203.9
180 M 22 30 IE3 92.3 92.9 92.9 0.90 - 38.0 22.0 - 361.0 | 209.0
200 L 30 40 IE3 92.8 93.9 94.0 0.89 - 51.8 30.0 - 459.0 270.0
200 L 37 50 IE3 93.0 93.9 93.8 0.90 - 62.5 36.0 - 496.0 288.0

403

F \ Piimne Fiirane _ ——
Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

Ag rometer a/ S www.agrometer.dk ¢ agrometer@agrometer.dk



EVMS NOTES 90 1

I Ty FRARA Piimn< Fiirane
Ag rometer a/S Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

www.agrometer.dk e agrometer @agrometer.dk



90 NOTES EVM

F \ Piimne Fiirane - ——
Fzelledvej 10 « DK-7200 Grindsted * Tel. +45 76 72 13 00

Ag rometer al S www.agrometer.dk ¢ agrometer@agrometer.dk






ESARA

EBARA Pumps Europe S.p.A.

Via Pacinotti, 32
36040 Brendola (Vicenza), Italy
Phone +39 0444 706811
Fax +39 0444 405811
ebara_pumps@ebaraeurope.com
www.ebaraeurope.com

EBARA Pumps Europe S.p.A. se réserve le droit d’apporter des modifications sans préavis ; toutes les caractéristiques techniques peuvent faire I'objet de changements

EBARA Corporation
11-1, Haneda Asahi-cho, Ohta-ku,
Tokyo 144-8510

07/16

Faelledvej 10 e DK-7200 Grindsted ¢ Tel. +45 76 72 13 00

Ag rometer al S www.agrometer.dk ¢ agrometer@agrometer.dk




